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<NLS>JINLDEL.NLS;158, 2=JAN=T72 23343 WSD ;
FILE Jnldel % L10 <rel=NLS>jnldel %
%Declarations %
REF tda;
(hcdex) PROCEDURE;
LOCAL distcount, collcount, niccount, char, collections,
distribution, nic;
LOCAL STRING passw{5], Jjnum/5], tempsr(5];
%Hard copy distribution execute®
%Parse start=up command%
%Password%
#passw# ¢ NULL;
echoff();
crlifl)s
prompt(8"password:");
UNTIL passw.L = 3 DO
IF (char ¢ inpecuc()) = CD THEN
GOTO STATE
ELSE #passw# & #pasgw#, char;
IF #passw* # "JPD" THEN
BEGIN
tgmarks();
GOTO STATE;
END;
% Get operators ident. %
erifilg
prompt (&"QOperator: ");
#opstr# ¢« NULL:
rdident (8opstr,0):
IF curchr # CA THEN getcte():
%#Initialise Parameters?®
%Global stids and file variables%
docjin ¢ hdrjfn « docstrt ¢ lastfnum « lptused ¢ lptjfn «
idfile ¢ prntfg « 0;
%Control paameterss
distribution ¢ collections « TRUE;
nic « FALSE}
%set up subsystem name for statistics%
rl ¢ getsbn{$"HCJDEL");
lJSYS setnm;
%“Now see which outpu processor and printer file we are to use%
IF jdebug THEN
BEGIN
#Depugging==use normal output processor andg print file Xlpt%
#ptestr# « "XLPT.TXT";
#0procnk* €« *opname;
END
ELSE
BEGIN % real system..normal output processor and 1lpt%
¥ptstr# « "LPT:";
#OProgn#* « ¥Opname;
END;
%Type a warning message if this is the experimental system%
IF jdepug THEN
BEGIN
erlfl);
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typeas(8$"Experimental Journal System");

END;:
%#Now update hcdistfile from distfile%
IF updhcdist() = O THEN
BEGIN
dismes(l, &"Distripution File Empty"):;
Jdquit();
END;

%Now parse control%

STATE ¢ jdlstate, spec;

thearald('8);

IF tnumber(&jnum) > O 'THEN
BEGIN
IF curchr # CA THEN error();
erlf(l);
printnum($jnum, distribution, collections, niec); %
numper==output specific document%

END ;
ELSE CASE IF curchr IN ['a, 'z] THEN curchr=40B ELSE curchr OF
sV'A3
BEGIN
echo($"All");
getete () ;
collections ¢« distribution « nic ¢« TRUE;
END;
='C: %Collection Copies%
BEGIN

echo(§"Collection Copies ")
collections « answer():;
END;
=!'D: %Distripution%
BEGIN
echo(&"Distribution Copies ");
distribution e answer():;
END:
='G: %Go%
BEGIN
echo(3d"Go");
getctc();
erlti);
IF NOT (distribution OR collections OR nic) THEN err(3"jo
Parameters Set"):
rubabt ¢ 1;
printall(distribution, collections, nic);
END};
='N: %Nic%
BEGIN
echo($"NIC Copies ");
nic ¢ answer();
END3
='0: %0Output Processor Version%
BEGIN
echo(8"0utput Processor Version ");
CASE inpcuc() OF
='E, ='X:
BEGIN
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echo($"Experimental");
getctel();
koprocns* « #xopname#;
END
2 IN:
BEGIN
echo(8"Normal");
getcte();
¥Oprocn#* ¢« #opname;
END
=121
help(&"EXperimental",
s"Normal",
0);
ENDCASE tamarks();
END;
=tp:

BEGIN

echo(s"Printer File Name ");

#1lit# ¢ NULL;

tXvlit(81ie) s

#pLetr¥ ¢ #1its;

END3

=IQ=

BEGIN

echo(a"Quit ");

getete();

jaquit();

END3;

='R: %reset parms%

BEGIN

echo(8"Reset Parameters");

getctel();

distribution « collections « nic ¢ FALSE;

END3

='38:

BEGIN

echo(&#"Status");

getete();

efXLll;

distcount ¢ hestatus(:collcount, niccount);

type out distribution count%
erleil)}
typeas (8"Distribution:s ");
#tempsr# « STRING(distcount);
typeas (8tempsr);

%»Type out Collection counti
erlf();
typeas(8"Collection: ")}
#tempsr# « STRING(collcount);
typeas(stemnpsr);

%Type out Nic count%
ar1fdi);
typeas($"Niec: ");

#tempsr# ¢ STRING(niccount);
typeas ($tenpsr);

3
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%type out total%h
erlftl);
typeas($3"Total ");
stempsr+ ¢« STRING(distcount+collecount+niccount);
ty¥peas ($tempsr);

END3:

s17:

help($"Document Number",
$NA11|I'
3"Collection Copies ",
E"Distribuiton Copies ",
8"go",
8"NIC Copies ",
$"0output Processor Version ",
B2"Printer File Napme ",
S"QUit",
&"Reset Parameters',
$"Status",
0);

ENDCASE tamarks():
GOTO STATE;
END,

(printall) PROC (distribution, collections, nic);
%#This procedure prints all of the indicated coOpies of all documents
in the hecdistfile%

LOCAL hedstid, stidq;
hedstid « 0;
ON SIGNAL ELSE
BEGIN
sigclose (hcdstid.stfile := 0)}
lptclose();
END;
nedstid « openlock(0, Jjflname(&"hcdistfile"));
pfilnum e 1;
stid ¢« getsub(hcdstid);
WHILE stid # hcdstid DO
BEGIN
printdoc(stid;= getsuc(stid), distripution, collections, nic);
BUMP pfilnum;

END;
close(hcdstid.stfile := 0);
lptclose();

RETURN;
ENDa

(printnum) PROC (numstr, distribution, collections, nic)3;
%Print the document indicated by numstr if there is an entry for it
in the hecdistfile%
LOCAL hedstid, stid;
LOCAL STRING tempsr(1l0J;
REF numstr;
hedstid ¢ 03
ON SIGNAL ELSE sigclese(hcdstid.stfile := Q);
#*tLempsr¥ ¢ 'J, #nunstrx;
hedstid « openlock(0, Jjflname(&"hcdistfile"));
IF (stid ¢ namelook(hedstid, Stempsr))= endfil THEN err(&"No Such
document in distfile");
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pfilnum « 1;

printdoc(stid, distribution, collections, nic);
lptclose();

close(hcdstid.stfile := 0);

RETURN;

END,

(printdoc) PROC (hedstid, distribution, collections, nic);
%Print out the various flavors of the document identified by distfile
entry hecdstid.

Flags indicate which copies to print%
LOCAL dwstid, stid;
LOCAL TEXT POINTEER 2zl, z2;
LOCAL STRING Jjnum/5];
dwstid ¢ 0O;
prntfg ¢« TRUE;
ON SIGNAL ELSE
BEGIN
close(dwstid.stfile := 0);
IF sysgnl # =l THEN %Not called to rubout%
BEGIN
dismes(l, sysmsg);
RETURN;
END;
END;
%get document number into jnum, and type it tO the operator%
FIND SF{hcdstid) tzl;
#jnum* ¢ #fgetinm(szl)/)#*;
erlf()}
typeas(s"Document #");
typeas(#inum) ;
erlf();
%set up document for printing%
%Get author names and addresses for address page%
getdauth(hcdstid, $1it2);
%Set up te dwork file%
dwstid ¢ getdwork(hcdstid, &1it2);
%Do distripution copies first%
IF distribution THEN
BEGIN
stid ¢ getsuo(hedstid);
WHILE stid # hecdstid DO
pdistcopy(dwstid, stid := getsuc(stid), #&#jnum);
END;
%Do collection copies%
IF collections AND NOT FIND SF(hcdstid) (EOL "Secondary
Distribution Copy"/ THEN
BEGIN
collcopy(dwsvid, hcdstid, $"Master", &jnum);
collcopy(dwstid, hedstid, 8"Access", Hjnum)};
collcopy(dwstid, hecdstid, &"Engelbart", $jnum);
END;
%Do NIC copies%
IF nic AND FIND SF(hedstia) ("Sub=Collections: "] tzl [(';] Tz2
BETWEEN =zl z2(/"NIC"J) THEN
BEGIN
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collcopy(dwstid, hedstid, S"NIC", &Jjnum);
nicsitecopies(dwstid, nhcdstid):;
END;

close(dwstid.stfile := 0Q);

RETURN;

END,

(getdauth) PROC(stid, authsr);
%8et up astr authsr to have the list of authors of document indicated
oy distfile entry stid. Append address of first author to end of
string#
LOCAL idfno;
LOCAL STRING tempsr(30], tempadsr(l50J;
LOCAL TEXT POINTER 7l, 72;
REF authsr;
idfno « 0;
ON SIGNAL ELSE
BEGIN
sigelose(idfno = 0);
IF sysgnl # =L THEN SIGNAL(1);
END;
IF NOT FIND SF(stid) ("Authori(s): "J ['/] 121 ('&/'*?/) tz2 THEN
SIGNAL(1, $"Bad Distfile Entry");
#authsr# ¢ NULL;
idfno « open(0, Jjflname(s"identfile"));
%Get the names of the authorsh
intids(0);
WHILE getids($zl, &authsr, 1, idfno) DO
#authsr# ¢« #authsr#, EOL;
%Now get the addresss of the frst autnor%
IF (authsr.L = Q) OR NOT FIND z2 L &LD t2z1l THEN err(s"Illegal
Author Field");:
xtempsr* « 22 zl;
IF NOT ckident (&tempsr, &xlit, idfno) THEN err($"Illegal Author");
close(idfno = Q);
%Now extract address and put it all together%
laddress($x1lit, 3tempadsr, 0, 0);
#aUuthsr¥ « #authar#*, #tempadsri;
RETURN;
END.

(getdwork) PROC (hedstid, authsr);

%0pen and set up dwork file for printing.
Return stid of dwork file if ok, zero if not,
%

REF authsr;

LOCAL dwstid, docstid;

LOCAL TEXT POINTER zl, z2, %3;

dwstid « docstid « 0;

ON SIGNAL ELSE
BEGIN
close(awstid.stfile ¢=
close(docstid.stfile :=
END3

%0pen dwork, and set up the origin statement%
dwstid ¢ openlock(0, jflname(d"distwork"));

8]
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enablaccess(dwstid.stfile, jrnlaccess);
cer (dwstid.stfile);
FIND SF(hcdstida) [')] 121 ( $NP '( [')] 7/ ) tz2 ((["Master Copy
pPrinted"/
"Access Copy Printed"/
"Engelbart copy Printed"J) < [EOLJ > /
SE(zl) > ) *z3;
ST dwstid ¢ #authsr#, ".LMS=20;
«GCR=3; To: .LMS=2L;

«PEL}:
«LMS = 03", SF(ncdstid) zl, zZ2 z3;
#»Now set up the rest of the file?%
IF docstid ¢ jdelloaddoc(hcdstid) THEN
BEGIN
cep(dwstid, getsub(docstid), suecdir);
close(doestid.stfile := 0);
END:
RETURN (dwstid) ;
END,

(jdelloaddoc)PROC (stid);
%assume that stid points vo a distfile entry, and get the branch
containing the coresponding document, returning stid of document or
zero if it is hard copy%
LOCAL docstid;
LOCAL TEXT POINTER zl; ‘
LOCAL STRING user/20], filename[50/], statnanmne(30J), vsplls];
docstid « 0;
ON SIGNAL ELSE

BEGIN

close(docstid.stfile := 0);
SIGNAL(L);

END;

IF FIND SF(stid) (')] tzl ["Hard Copy=-=-Location"] THEN RETURN(O);
%Now parse link===zl points to spaces before it%
lnkspec(l, 8zl, $user, sfilename, Sstatname, {vsp);
#filename#* ¢« #filename#%, ",NLS";
%#Now open file and f£ind proper branch%
docstid.stpsid « origing
docstid.stfile « open(0, sfilename);
IF #statname#/[1l/ IN ['0, '9] THEN RETURN(docstld); %a terrible way
of checking if it is a document or message==-=change after backlog
is gone %
makeptr(docstia, #zl);
specreg (&statnamne, name, 5zl);
IF zl = endfile THEN
BEGIN
#lit* « #filename%, " Branch ", #statname#, " Not Found";
err(8lit);
END;
RETURN (zl)
END.

(pdistcopy) PROC (dwstid, adrstid, jnumber);
%Print a copy of the documen indicated by dwstid for the peson
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addressed by adrstid if it should be done, and mark entry adrstid as
naving been printed%
LOCAL STRING adrstr/[200];
LOCAL TEXT POINTER 2zl, %2, 23, 74;
REF Jjnumber;
CCPOS SF(adrstid);
Xtrnam(®adrstr, 3swork, '(, ') )3
ckident (8adrstr, &1it2, 0);
IF phcopy(adrstid, $1it2, 0) THEN %A copy should be printed for this
user®
BEGIN
#%Get. his name and address?
getinam(slit2, 0, $zl, %z2);
laddress($1it2, $adrstr, 0, 0);
#adrstr* ¢ zl zZ2, EOL, #adrstr#*, ".LMS=60;.GCR=5;", #jnumbers,
"oLM5=0j3.GCR;";
%#Now look for possible comments%
IF FIND SF(adrstid) (["Note: "] tzl ["3;;"] 122 %New format%
/{".GCR=5;.GCR=5;"] tzl1 [EOL EOLJ 1%Z2) 222 %01d Format%
THEN #adrstr% ¢ s#adrstr#, ".GOR=);.GCR=5;", 2zl 72, EOL:
%Now print it%
printit(dwstid, $adrstr, pfilnum);
%Now tag statement as having been printed%
tagjdel (adrstid, $"Hard copy");
END;
RETURN;
END,
(tagjdel)PROC(stid, astr);
REF astr;
%Tag the statement stid with string + "Printed By " OPERATOR"%
ST stid « S8F(stid) SE(stid), EOL, #astr%, " Printed by ", %opstrx;
RETURN;
END.
(collcopy) PROC (dwstid, hecdstid, astr, Jjnum);
%Print a 'Collection Copy' For collection identified by astr if it
has not already been done, Tag statement hcdstid accordingly%
LOCAL STRING tempsr({l00];
REF Jnum, astr;
#»tempsr# ¢ #astrs, " Copy Printed";
IF NOT FIND SF(hcdstid) [#tempsr#*] THEN %It has not been printed®
BEGIN
#tempsr* ¢ #astr¥, " Copy.LMS=60;.GCR=5;", #jnum#*, ",LMS8=0;.GCR:";
printit(dwstid, Stempsr, pfilnum);
#tempsr# ¢ #astir%, " Copy";
tagjdel (hcdstia, $tempsr);
END;
RETURN;
END,

(lptclose) PROGC;
%Close out all of the 1lpt machiner
IF lptjfn THEN sysclose(lptjfn :=
IF docjfn THEN sysclose(docjfn :=
IF hdrjfn THEN sysclose(hdrdifn :
%Global stids and file variables?%
docstrt « lastfnum ¢ lptused « idfile ¢ O;
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RETURN
END.,
(nicsitecopies)PROC (gwstid, hedstid);
RETURN;
END.

(updhecdist) PROCS
%Update DISTFILE from TDISTFILE, and return TRUE if there is anythine
in the disvribution file%
LOCAL ldiststid, hedstid, retval, stid, stidd;
LOCAL STRING adsr{u5/;
%Initialise LOCALS%
hecdstid « O;
hedstid.stpsid « origin;
ldiststid ¢« hcdstid;
%s5et Signal to close files%
ON SIGNAL
ELSE
BEGIN
sigeclose(hecdstid.stfile);
sigelose(ldiststid.stfile);
END 3
ldiststid « openlock(0, jflname(&"distfile"));
IF (getsup(ldiststid)).stpsid = origin THEN
BEGIN
close(ldistfile.stiile);
RETURN(TRUE) ; %Assume that there will always be something in the
dist file%
END;
nedstid ¢ openlock(0,jflname($"ncdistfile"));
enablaccess(hcdstid.stfile, Jjrnlaccess);
enablaccess(ldiststid.stfile, jrnlaccess);};
emp (stidegetail (getsub(hecdstid)), getsup(ldiststid), sucdir);
closeu(ldiststid.stfile := 0);
#auxlit# e NULL;
UNTIL (stid « getsuc(stid)).stpsid = origin DO BEGIN
stidd « getsub (stid);
UNTIL stidd = stid DO BEGIN
CCPOS SF(stidd);
Xtrnam ($adsr, &swork, =1);
IF adsr.L = O OR FIND SF(#auxlit*) [xadsrx)
THEN cdb (stidd:= getsuc (stidd))
ELSE BEGIN
stidd ¢ getsuc(stidd);
#auxlit* e wauxlit*, SP, *adsr#;
END;
END;
END;
retval « (getsublhcdstid)).stpsid # origin;
closeulhcdstid.stfile := 0); %update file%
RETURN (retval);
END,
(ncstatus) PROC;
LOCAL hedstid, stidl, stid2, distcount, colleount, niccount, count,
idjfn;
LOCAL TEXT POINTER zl, %2;
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%return numbet of expedited printouts to he done, no. of normal docs%
hedstid ¢ 0;
ON SIGNAL ELSE
BEGIN
sigeclose(hcdstid.stfile := 0);
sigclose(idjfn := 0);
END;
hedstid.stpsid « origin;
hecdstid.stiile « open(0, jflname($"hcdistfile"));
idjfn ¢« open(0, jflname($"ldentfile"));
stidl « getsub(hcdstid);
distcount ¢ collcount ¢ niccount « Q;
WHILE stidl # hedstid Do
BEGIN
stid2 ¢« vgetsub(stidl);
WHILE stid2 # stidl DO
BEGIN
distcount « distecount + phcopy(stid2, 0, idjfn);
stid2 ¢ getsuc(stid2);
END;
collcount ¢ collcount +
(NOT FIND SF(stidl) ["Master Copy Printed"]) +
(NOT FIND SF(stidl) ["Access Copy Printed"]) +
(NOT FIND SF(stidl) ["Engelbart Copy Printed"]);
niccount ¢ niccount + ((FIND SF(stidl) ("Sub=Collections: "/ tul
['3) 122 BETWEEN 2l z2(["NIC"])) AND NOT FIND SF(stidl) ["NIC Copy
Printed"]);
stidl ¢ getsuc(stidl);
END;
close(idjfn := 0);
close(hcdstid.stfile iz 0);
RETURN{distcount, collcount, niccount);
END,

(jdquit) PROCEDURE;
%Print out hedistfile if printing has been done, and garbage collect
distribution file%
LOCAL hcdstid;
hedstid « 03
ON SIGNAL ELSE gigclose(ncdstid.stfile := 0);
IF prntfg THEN
BEGIN
prntfg ¢ FALSE;
% print out distfile?
outptr(IF jaebug THEN $"<Duvalld>ncdistflile" ELSE
$"<Journal>Hcdistfile");
%garbage collect hcdistiile%®
hedstid ¢ openlock (0, Jjflname($"hcdistfile"));
gdistf (hedstid := 0);
END;
%Set subsystem name back t0 regular nls%
rl « nlsson;
1JSYS setnm;
reset();
END,
(printit) PROCEDURE (stid, astr, fnum);
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LOCAL cntr, newdoc;

LOCAL TEXT POINTER %l, 72, %3;

REF astr;

%Replace current name statement if astr # 0%

IF &astr # O THEN
BEGIN
CCPOS SF(stid);
IF NOT FIND [".LMS=2U4;
"] tzl ["
+PEL3;"] [(EOL] * z3 < [EOL] [EOLJ tz2 > THEN
SIGNAL(2, $"Illegal Header in Printit");

8T stid « SF(stid) zl,#astr#,z2 23, ",PSW=03.HLT;", 23

SE(stid);
erlieil):
typeas(&astr); %let operator see what iS happenning%
END
ELSE

BEGIN %Garden variety document%
lastfnum « O;

poutput(stid, #$docjfin, &docwfn);
opnlpt();

copylpt (TRUE, docjfn, O, =1);
elslpt();

RETURN

END;

%0utput header%®
poutput(stid, shdrjfn, $hdrwfn);
%If new file, get rest of documentp
IF (lastfnum := f£fnum) # fnum THEN
BEGIN %New document%
IF NOT FIND SF(stid) [".PSW=0;.HLT;"] 122 ¢ ["P,"] 1zl >
SIGNAL(2, &"Bad print file");
ST zl z2 ¢ NULL; %delete IRS and HALT%
houtput entire filek
poutput(stid, #docjfn, 2docwfn);
%Now get start of document from header file%
rl « hdrjfn; .
IF NOT SKIP lJSYS sizef THEN
err($"Print File Error");
docstrt « ra2=1;

END;
%Now copy to 1lpt:%
opnlpt();

copylpt (TRUE, hdrjfn, ©, =1)3 %header%
cOpylpt (FALSE, docjfn, doecstrt, =1); %document%
clslpt();

RETURN:

END,

(poutout)PROC(stid, Jfn, Jjfnnam);

LOCAL opJjfng

REF Jifn, jfnnam;

%Close file if it is open%
IF jin # O THEN sysclose(Jjfn := 0);

%now call processor®
tda.dacsp « stid;

11

THEN
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cod (jflname(&Jjfnnam), &tda, opprdv);
%“Now re=open file¥%
jin « sgtijin(getgtjfle (write, 0, oldvrsn), Jflname(&jfnnam),
$1itv);
IF NOT sysopen(jfn, readwrite, chrtyp, $1it) THEN
BEGIN
%ZMay have failed for timing reasons%
rl « 1000; :
|JSYS disms;
IF NOT sysopen(jfn, readwrite, chrtyp, %1lit) THEN
err(8lit);
END;
RETURN END,

(copylpt)PROC(resflg, Jjfn, startb, stopb);
LOCAL count;
%First set file pointer toc starti%
rl « jiny r2 « startb; IF NOT SKIP lJS¥S sfptr THEN err($"I/0 JSYS
a&ryor"}:
%Now set eof%
IF stopb = =1 THEN
BEGIN
%get size of file%
rl « Jjfn; IF NOT SKIP |JSYS sizef THEN err(s"I/0 JSYS
error");
stopb « ra;
END
ELSE
BEGIN
%set size of file%
rlerh ¢« jfn; rl.lh ¢ 12B; r2 ¢« =1; r3 ¢ stopb;
{J8YS chidb;
END3
%5end out restore if necessary%
%output processor paginates for us now®
%Get count and output%
count ¢« stopb = starib;
WHILE count > O DO
BEGIN
%get string from inputb
count « count = 2560;
r3 « =(IF count < O THEN 2560+count ELSE 2560);
rl ¢ jfn; r2 « chbptr(0)+%rsvn9;
1J8Y¥S8 sin; %read string from input file%
%copy to 1lpt%
rl « lptjfn: r2 « chbptr(0) + Brsvbg;
r3 ¢« =(IF count < O THEN 2560+count ELSE 2560);
1J3Y¥s sout;
END;
RETURN
END,

(opnlpt) PROC;
LOCAL ecntr;
IF lptjfn # O THEN BEGIN
BUMP lptused;
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RETURN;
END:
lptjfn « lptused « 0;
IF (1lptjfn ¢ sgtjfn(getgtifleg(write, O, 0), $Ptstr, 31lit)) = O THEN
err($litv);
FOR cntr « 0 UP 1 UNTIL » S0 DO
IF sysopen(lptjin, write, lpttype, $1lit) THEN RETURN
ELSE pause (20000);
lptjfn « 0;
err($"pPrinter busy too long");
END.

(cls1pt) PROC;
IF lptused < 10 THEN RETURN;
lptused « O;
sysclose(lptjfn 3= 0);
RETURN END.
(oldist)PROC;
%Does the on=line distripution of Journal Documents%
LOCAL fileno, £fl, dirnm, stid, stidl, tstid, idstid, pcap, wnesfg,
adrstid, hedstid;
LOCAL TEXT POINTER 2zl , 22, z3;
LOCAL STRING fnsr/{45], tinit[l1l5]), tempsr[50/, filenm/50/, stat(30/J,
spevw/[1l5/;
REF £1;
%8et up subsy name%
rl ¢ getsbn($"OLJDEL");
lJSYS setnm;
%Enable access to Journal Files%
enablaccess (0, Jjrnlaccess);
%8et. up signal and iniialise parms?
diststid « hcdstid ¢ ctlstid ¢ wmesfg « O
ON SIGNAL ELSE
BEGIN

sigclose(diststid.stfile := 0);
sigclose (hcdstid.stfile 1= 0);
sigclose(idstid.stfile := 0)3;
close(jrnlstid.stfile := 0);
closeu(ctlstid.stfile := 0);

END;
%Update distribution file%
IF updhedist() = O THEN
BEGIN
%Distripution file empty%
rl « nlsson;
1J8YS setnm;
RETURN;
END3
%Now open distribution file%
hedstid ¢« gelsub(openlock(0, jflname(®"nNcdistfile")));
%Initialise the done string (auxlit)®
#auxlit* ¢ NULL;
%0pen id f£ile%
idstid « orgstid:
idstid.stfile « open(0, Jjflname(gs"identfile"));
%Now look for people to send it to%
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LOOP
BEGIN
IF hcdstid.stpsid = origin THEN EXIT;
ON SIGNAL ELSE
BEGIN
ncdstid ¢ getsuc(hcdstid);
cloge(Jrnlstid.stfile :=
closeu(ctlstid,stfile :=
REPEAT LOOP;
END;
adrstid « getsub(hcdstid);
LOOP
BEGIN
IF aarstid = hedstid THEN EXIT;
CCPOS SF(adrstid);
IF NOT FIND ["author Copy") THEN
BEGIN %Try to distribute it%
#fnsr¥* « NULL;
xtrnam($fnsr, &swork, =1);
IF fnsr.L = O
OR (FIND SF(#auxlit®) [#fnsr%])
OR NOT ckident(3fnsr, $&xXlit, idstid.stfile)
OR NOT donline(adrstid, &xlit, idstid.stfile) THEN

GOTO nodo;
#auxlit# ¢ #auxlit#, SP, %fnsr#; %mark him as being
tried%

#¥Linit* ¢ #fnsr#; %save off initials%
%Now see if we can open his control file%
luser(&xlit, stempsr, 0, 0);
IF NOT (etlstid ¢« opnectfile(&$fnsr, stempsr)) THEN GOTO
nodo;
%By here, ctl file is open%
%Check for Journal Branch%
IF (tstid ¢ namelook(ctlstid, &"Journal"))= endfil
THEN
BEGIN %No Journal branche...make one%
#tempsr#* « "(Journal) Journal Documents (most
recent first)";
ctlstid ¢ cis(ctlstid, $tempsr, down);
END
ELSE ctlstid ¢ tstid;
%“Now start to give him the docunents%
stid ¢ adrstid;
LOOP
BEGIN
stidl « getupl(stid); % head of pbranch%
%Set up link/location pointers%
CCPOS SF(stidl):;
IF FIND ("Hard Copy==Location: "] tzl [';] t22
THEN GOTO uselnk
ELSE FIND (')} ['(]J t=l *«z2l [')] t22; %Pointers
to link%
IF FIND BETWEEN zZl z2(/"JRNL"J) THEN %message®
BEGIN
lnkspec(l, #2zl, $tempsr, ®filenm, s$stat,
$spevv) ;
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#filenm# ¢« #*filenm#*, ".NLS";
jrnlstid « openlock (0, #filenm);
FIND SF(Jjrnlstid) *tz3;
specreg ($stat, name, 3z3);
IF 23 = endfil THEN
BEGIN %sumpin slipped%
close(jrnlstid.stfile t= 0);
GOTO uselnk:
END;
tstid ¢ cecs(ctlstid, %3, down):; %Copy over
headers
zl ¢ getsub(z3);
FIND SF(zl) tzl SK(zl) tz2; %message%
olhed (TRUE, tstid, &zl, 8%2); %format
statenent%
close(jrnistid.stfile ;= 0);
END
ELSE
BEGIN %Put a 1link into his file%
(uselnk):
t8tid ¢ cecs(etlstid, %1, down);
olhed (FALSE, tsuvid, $%1, $z2);
END;
#Now fiX up hedistfile %
ST stid ¢« SF(stid) SE(stid), " Distributed
On=Line ":
%Now proceed to next documenté
LOOF
BEGIN
Zd ¢ Btid;
lookup(®$zl, $tinit, seqname);
IF 2l = endfil THEN EXIT 2; %done%
stid « zl;
CCPOS SF(zl):
IF donline(stid, ®x1it, idstid.stfile) THEN
EXIT; %Do this one%
END; %of search loop%
END; %of main dstribution 100p%
%Now close his control file%
pcap « enablw():
closeu(ctlstid.stfile := 0);
IF pcap # =1 THEN disablw(pcap);
END; %of this guy®
(nodo): adrstid ¢ getsuc(adrstid);
END; %0f this document%
hedstid « getsuc(hcdstid);
END;

%Now wWrap it up%
close(hcdstid.stfile 3=
close(idstid.stfile :=
close(jrnlstid.stfil
closeu(ctlstid.stfile
rl ¢« nlssbn;
|JSYS setnm;

RETURN

END.
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(enablw) PROC;
LOCAL pcap;
rl « UB5;
lJSYS rpcap;
pcap ¢ r3;
r3 e r2;

IF NOT r2 .A 6B5 THEN RETURN(=1);
rl « 4B5:

1JSYS epcap;

RETURN (pcap)

END.

(disablw)PROC (pcap);
%Disable wheel status, and restore status to Pcap?
ri « LB5;
lJSYS rpcap;
r3 « pcap;
rl ¢ LB5;
lJSYS epcap;
RETURN (pcap)
END,

(olhed)PROC (mflag, stid, 11, 12);
%Format stid to onmline delivery header formatl%
%11, 12 delimit location of document or message if mflag is truey
LOCAL TEXT POINTER zl;
REF 11, 12;
CCPOS SF(stid);
FIND tzl;
#1it* e % [hjournal(%zl)]#*,
EOL, #[Jjtitle(%zl)]*,
EOL, #[hcopyl(®zl)]+*,
#[olloc(mflag, &l1, &Ll2))%*;
ST zl « #1it#;
RETURN
END,

(hjournal ) PROC(zl);
LOCAL TEXT POINTER 22 , 23, zlL, 25;

REF zl;
CCPOS z1;
IF FIND [",HJOURNAL="] ['"] tz2 ['"] 123 €23 THEN
BEGIN
IF FIND BETWEEN 22 z3(["«SPLIT3"] 124 < ('] 125 >) THEN
#1lit2% € zh 23, " (", z2 25, ')
ELSE *1it2+# « 22 z3
END

ELSE #lit2% & NULL;
RETURN (§1it2)
END,

(jtitle) PROC(Z1);
LOCAL TEXT POINTER 22 , 23;
REF zl:;
CCPOS zZ1l:
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IF FIND ["Title:s "] ['"] 122 ['"] 123 «z3 THEN
#1it2% e z2 z3

ELSE
#1it2#% « NULL;:

RETURN (81it2)

END,

(hcopyl) PROC(zl);

REF 2z1;

CCPOS z1:;

IF FIND ["Hard Copyw=Location: "] THEN
#1lit2% ¢ "Hard Copy Only=="

ELSE
#1it2% ¢ NULL;

RETURN (81it2)

END.
(oclloc)PROC(mflag, zl, 2z2):
REF zl, z2;

IF mflag THEN

#lit2% ¢ "Message: "
ELSE

#1lit2# ¢ "Location: ";
#¥1it2% ¢ *1lit2%, 2zl 2z2;
RETURN (81it2)
END.

(gdistf) PROC (hedstid) ;
%Garbage collect hard copy distribution file%
LOCAL stid, stidl, idjfn;
LOCAL TEXT POINTER Zzl,%Z2;
LOCAL STRING tempsr([50J;
%“Set up subsy name%
rl ¢ getsbn(s$"GCOLDF"); lJSYS setnm;
idjfn « 0;
ON SIGNAL ELSE
BEGIN
sigclose(iajfn 1= 0);
sigclose(hcdstid.stfile := 0);
END;
%open hecdist file%
IF NOT hedstide.stfile THEN hedstid ¢ openlock (O,
Jflname (8"hcdistfile"));
idjfn « open(0, jflname(&"identfile"));
%loop through file looking for stuff to delete®
stid ¢ getsub(hcdstid);
WHILE stid # hecdstid DO
BEGIN
stidl ¢« getsub(stid);
WHILE stidl # stid DO
BEGIN
CCPOS SF(stidl);
Xtrnam(stempsr, #swork, =1);
ckident (stempsr, $xlit, idjfn);
IF NOT (phcopy(stidl, 8xlit, idjfn) OR donline(stidl, $xlit,
idjfn)) THEN
cds(stidl := getsuc(stidl))
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ELSE stidl « getsuc(stidl);
END3
I¥ getsub(stid) = stid THEN
BEGIN %#all copies printed%
CCPOS SF(stid);
IF (FIND Tzl ["Master Copy Printed"))
AND (FIND 2zl ["Access Copy Printea"))
AND (FIND 2zl [("NIC Copy Printed"j)
AND (FIND zl /["Engelbart Copy Printed"])
THEN cds(stia := getsuc(stid))
ELSE stid ¢« getsuc(stid);
END
ELSE stid « getsuc(stid);
END;
%Update and eXit%
closeu(hecdstid.stfile 3= 0);
close(idjfn);
rl ¢« getusbn($"HCJDEL");
1USYS setnm;
RETURN
END.

(phcopy) PROC (stid, namstr, idjfn);
%Return true if hard copy needs to be printed for statement
identified by stid.
namstr contains 0 or id record for user, idjfn is 0 or ident file
numbere
LOCAL TEXT POINTER zl, z2;
LOCAL STRING idntsr/[l15);
REF namstr;
IF FIND SF(stid) ("Hard Copy Printed"]) THEN RETURN(FALSE); %Already
done?%
IF FIND SF(stid) ("Author Copy"] THEN RETURN(TRUE); %All author
copies go out hard copy%
IF &namstr = O THEN
BEGIN
CCPOS SF(stid);
xtrnam($idntsr, $swork, =1);
ckident ($idntsr, 81lit2, idjfn);
&namstr « $1LitZ;
END;
RETURN( (ldelivery(asrref(&namstr))).delhe);
END,

(donline) PROC(gtid, namstr, idjfn);
%Return true if on line distripbution should be done for statement
identified by stid.
namstr contains 0 or id record for user, idjfn is 0 or ident file
numbers
LOCAL TEXT POINTER zl, z2;
LOCAL STRING idntsr(l5/;
REF namstr;
IF FIND SF(stid) ["Author Copy"/"Distributed On=Line"] THEN
RETURN(FALSE) ;
IF &namstr = 0 THEN
BEGIN
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CCPOS SF(stid);

xtrnam(didntsr, &swork, =1);

ckident (8idntsr, $lit2, idjfn);

&namstr ¢« $1it2;

END;
RETURN( (ldelivery(asrref(&namstr))).delol);
END.

FINISH Jnldel
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{NLS»JQCTL.NLS;5L, 1l=NOV=71l 12:50 JDH ; ["INPUT"J;

FILE Jjoctl % L10 to <rel=nls>joctl %
%Declarations%
DECLARE 1litv = 5, filev = 6, ncopyv = 7, Jjmaxsmtu = 10000,
name = 1, contnt = 3:
(jeontrol) PROC;
2This procedure is the main control section of the Journal Submode?
LOCAL interflag, mesflg, stid, char, sabtfg, link{flg;
LOCAL TEXT POINTER t2, linkpl;
LOCAL STRING 1linkdirf20], Jjnumber(5/, tempsr({s/, templsr/50J;
jntrint();
sabtfg « Jjsavaccess ¢ rfcflg ¢ linkflg ¢ FALSE;
rubabt « TRUE;
STATE ¢« fjstate, spec;
IF sabtfe THEN jreset()
ELSE BUMNP sabtfg; %Trap Command Deletes%
ON SIGNAL
ELSE Jjclosfll();
Jetleint();
interflag « 0O;
mesflg ¢ xsubmit(djnumber); %parse SUBMIT command%
STATE ¢ Jstate, spec;
ON SIGNAL
%de=activate previous signal%
=2: jerror(sysmsg); %openlock fail==fatal error#
==): GOTO STATE:
ELSE;
jolock(); %lMake sure everything is ok?%
thearald('&); todco('&);
CASE IF interflag THEN interflag := interflag=-l ELSE inpcuc() OF
=CD: GOTO STATE;
=TA:
BEGIN
porecho(interflag,&"Authori(s): ");
identlist (Sidentstr);
setjauthor (gidentstir);
END;
='C:
BEGIN
todco('C);
CASE inpcuc() OF
slL:
BEGIN
porecho(interflag,&"lerk: ");
#identstr# « NULL;
echon();
tirdid($identstr, 0, 0);
IF curchr # CA THEN %Identlist notl terminated by CA%
err($"clerk may be only one person");
setjelerk(sidentstir);
END3:
=10t
BEGIN
porecho(interflag,3"omments: ");
#1lit® « NULL;

1
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txtlit (%1it);
setjcomment (31it)
END;

<NLS>JOCTL.NLS;51

ENDCASE twohelp(&"Clerk", $"Comments", 0);

END;
='D’ ==23
BEGIN

porecho(interflag,8"Distribution: ");

identlist(sidentstr);
setjdist(sidentstr);
END;

s'E: %No EXpedie for now
BEGIN

porecho(interflag, $"Expedite ")

setjexpedite (answer())
END;
%

='G, ==
BEGIN
porecho(interflag,3"Go? ");
interflag « O3

IF NOT answer() THEN GOTO STATE;

eylel)s

typeas($"Journal system In Progress");
$1linkpl,$linkdir) ;

Jjouex (& jnumper,mesflg,linkfleg,
END;

=11
BEGIN

porecho(interflag,$"Interrogate");

getete();
interflag « =1;
END;
=K
BEGIN
porecho(interflag,s"Keywords:
#1lit* ¢« NULL;
tXt1lit (81it);
setjkeyword (s1litv) ;
END;
s'0:
BEGIN
porecho(interflag,$"Obsoletes
#templsr# ¢ NULL;
WHILE tnumber ($tempsr) > 0 DO
BEGIN
#Lenplsr* ¢ #templsr#, SP,
IF curchr = CA THEN EXIT
ELSE ty¥ypech(SP);
END;
IF curchr # CA THEN error();
setjobsoletes (Stemplsr);
END;
='pP:
BEGIN

ﬂ);

Document (

xtempsr;

8): ");

porecho(interflag,s"Place link (if successful) ?7");

linkfleg « setlinkloc(answer(),

$linkpl,

$linkddir);

2
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END;
='Q:
BEGIN
porecho(interflag,$"qQuit");
getctc();
jreset();
END}:
=|S, ==731
BEGIN
porecho (interflag,$"s");
CASE IF intverflag THEN interflag ELSE
=17, ==}:
BEGIN
porecho(interflag,s"tatus");
getete ()

SNLS2JOCTL.NLS5;51

(Char ¢ inpcuc()) OF

jstatus(jworkstid, linkflg, $linkpl, 8linkdir);

END;
=10
BEGIN

porecho(interflag,8"ubcollection(s): ");

rdsubcoll ($1lit);

IF 1lit.L # O THEN setjsubcol(8lit, Jwpl);

END;

ENDCASE twohelp(s"Status", ®"Subcollection(s):", 0);

END;
='T’ ':"'13
BEGIN
porecho(interflag,$"Title: ");
#¥1it* ¢ NULL;
txtlit ($14i4);
setjtitle(slit);
END;
g'l:
BEGIN

porecho (interflag, $"Updates Document(s): ");

#templsr# « NULL;
WHILE tnumber($tempsr) > 0 DO
BEGIN

#lemplsr# ¢« #templsr#, SP, #lLempsr#;

IF curchy = CA THEN EXIT
ELSE typech(SP)
END;
IF curehr # CA THEN error();
setjupdates($tenplsr);
END;
s 17:
BEGIN
interflag « 0O;
help(#"Author(s): ",
$"Clerk",
g"Comments",
g"Disvributions ",
% S"EXpedite ", %
o"Go? ",
g"Interrogate',
"kKeywords: ",

3
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s"0bsoletes Document(s): ",
$"Place link (if successful) ?",
s'Quit",
$"Status",
8"8upbcollection(s): ",
$"ritle: ",
$"updates Document(s): ",
0);
END;
ENDCASE
BEGIN
interflag « O;
error()
END;
GOTO STATE;
END.

(djcontrol) PROC;
%This procedure is the main control section of the Journal Submode%
LOCAL interflag, mesflg, stid, char, sabtfg, litfe, next, linkflg:
LOCAL TEXT POINTER t2, linkpl;
LOCAL TEXT POINTER sl, s2;
LOCAL STRING ricstr/l00/;
LOCAL STRING Jnum/5];
LOCAL STRING linkdir/[20/;
IF jdebug THEN dismes (2, #"Experimental Journdale== Do Not Use")
ELSE
IF jolock() THEN
err(&"Journal system not available=-=try again in 10 min,");
%set up subsystem name for statistics%
IF NOT jnlson THEN Jnlsbn ¢ <AUXCOD, getsbnh>(Hjnlnam);
rl « jnlsbn;
1JSYS setnm;
Sabtfg ¢ Jsavaccess « rfcflg ¢« linkflg ¢ FALSE;
STATE « djstate, spec;
IF sabtfg THEN jreset()
ELSE BUMP sabtfg; %Trap Command Deletes%
ON SIGNAL
ELSE jclosfli();
Jetlecint();
interflag « 03
mesflg ¢ dsubmit()3 %parse SUBMIT command%
STATE ¢« dstave, spec;
dismes (0);
dn(g"");
DSP(€ "Journal Command Sub=mode:")3s
ON SIGNAL
%de=activate previous signal?
ELSE:
jolock(); %Make sure everything is ok%
CASE IF interflag THEN interflag := interflag=-l1l ELSE inpecuc() OF
=1A, ==1:
BEGIN
DSP(«< "Author(s):" );
didentlist (didentstr, B"Authori(s):");
setjauthor(éidentstr);
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rstlit();
END;
=10, ==5:
BEGIN
DSP(«< "Comments:");
#1lit#* « NULL;
litfg « FALSE; .
INPUT (SP BUG sl BUG s2 CA litfg « TRUE; / TEXT 1it CA);
IF 1litfg THEN
BEGIN
tdr ($sl,8s82,8s1,¥s2);
#lit+* ¢ sl 82;
END;
setjcomment ($1it);
ratliv();
END;
ElD’ =-3=
BEGIN
DSP(¢< "Distribution:");
didentlist (s1dentstr, $"Distribution:");
setjdist(sidentstr);
rstlit();
END;
s'E?
BEGIN
DSP(«< "EXpedite?");
setjexpedite (danswer())
END;
='G, ==8:
BEGLIN
DSP(«< Go )3
interflag « 0j;
IF input()#CA THEN GOTO STATE;
dismes(l,8"Journal System in Progress");
jouex ($jnumper,mesflg,linkflg, $linkpl,slinkdir) ;
END;
=!It
BEGIN
DSP(«<{ "Interrogate");
IF input()#CA THEN GOTO STATE;
interflag ¢« =1;
END;
='K, ==L
BEGIN
DSP(+< "Keywords");
#1lit® « NULL;
litfg ¢ FALSE:
INPUT (8P BUG sl BUG s2 CA litfeg « TRUE; / TEXT 1lit CA);
IF 1itfe THEN
BEGIN
tar (Bsl,$s2,681,882);
#1litw « 51 8523
END3
setjkeyvword(3lit);
rstlit();
END;
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linkfleg « setlinkloc(danswer(), slinkpl,3linkdir);

CASE IF interflag THEN interflag ELSE (Char « inpcuc())

b=JdAN=f2 10:22
=101
BEGIN
DS8P(«< "Qperator:");
#jdentstr* ¢ NULL;
drdident (8identstr,0);
gsetjclerk(sidentstr);
END;
s!P, ==61
BEGIN
DSP(«< "Place 1link
END;
=1Q:
BEGIN
DSP(e«< "Quit");
IF input()#CA THEN GOTO STATE;
jreset();
END;
=13, =='{3
BEGIN
DSP(+<S);
=T, ==83
BEGIN

DSP(70FF «<
IF input ()#CA THEN GOTO STATE;

"Status");

jstatus (jworkstid, linkfleg, $iinkpl, &linkair);
UNTIL input()=CA DO NULL;
jolock();
rstlit();

END;
=10
BEGIN

DSP(20FF «<

#litw
CASE

¢ NULL;

(char « dinpcuc()) OF
=1A:

BEGIN
DSP(TQFF) ;
#lit* & #1lit#*,
litdpy (#1lit);
REPEAT;

END;

=IN3

=CA:

BEGIN
DSP(T0FF);
#1it# e #Litw,
litdpy (81iv);
REPEAT;

END;

NULL;

=CD: GOTO STATE;
sSP,=',:

BEGIN
DSP(10FF) ;
REPEAT;

] ARG

"NIC

e
2

"Suhcollection membership");

oF

&
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END;
NOT IN ['A, 'Z]:
BEGIN
DESP(TQFF);
#1it € *1igw,"27";
litdpy (81it);
FIND SE(®1lit®) (SP/',] 1Tt2;
#1lit* & SF(#*1its) t2;
litdpy (G1lit);
REPEAT;
LEND:
ENDCASE
BEGIN
DSP(TQFF) ;3
Do
BEGIN
#lit* ¢ *1it%*, char;
litdpy(81it);
END

CNLS>JOCTL.NLS5351

UNTIL (char « inpcue()) NOT IN ['A,'Z];

#1lite ¢« *1it*, SP;
litdpy ($1it);
REPEAT (char);
END3;

IF lit.L # O THEN setjsubcol(blit,

rstiit();

END;

ENDCASE

BEGIN

am();

REPEAT (inpcuc());

END;

END;

T,

==23

BEGIN

DSP(¢< "Title:");

#lit%* ¢ NULL;

litfg « FALSE;

INPUT (SP BUG sl BUG s2 CA litfeg ¢ TRUE;
IF litfg THEN

BEGIN

tdr (8sl,8s2,%s81,882);
#lit® ¢ sl s2;

END;

setjtitle(slit);
ratliv();

END;

ENDCASE

BEGIN

interflag ¢ 0;
am();

END;

GOTO STATE;

(xsubmit)PROC (number) ;

Jwpl);

/ TEXT 1lit CA);

7
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%Parse and execute the submit command==Return Journal number in
numbr
LOCAL stype, mesflg, rnumstid, cnumstid, useflg, char;
LOCAL TEXT POINTER 21, z2;
LOCAL STRING tempsr/l00], authstr(50/;
REF number;
rnumstid ¢ chumstid ¢ useilg « 0;
ON SIGNAL ELSE
BEGIN
sigeclose (rnumstidq.stfile = 0);
sigeclose(cnunstid.stfile 1= 0);
END;
stype ¢ getjdocunent(:mesflg); %eget id of Journal dicument..returns
tyype and stid's in spec stack, and lit with literal if stype = 11lit%
crlf();
prompt (8"Number: ")
echoff();
IF tnumber (&numbey) > O THEN
BEGIN %Pre=gssigned nunber%
cnumstid ¢ openlock(0, jfiname(8"tcnumbers"));
IF NOT rdcknum(l, &number, &authstr, cnumstid :cnumstid) THEN
BEGIN
unlktst();
useflg « 1;
END;
echoff();
CCP0OS 8F(cnumstid);
IF FIND [" NWG/RFC "] THEN rfcflg « 2;
close(cnumstid.stfile i= 0);
IF rfeflg THEN
BEGIN %fixX up rfc file%
rnumstid e openlock(0, Jjflname(&"rfcnumbers"));
#tempsr# « '§, #numberi;
makeptr(rnumstid, #zl);
lookup(bzl, dtempsr, contnt):
IF z1 = endfil THEN
err ($"RFC Number Error=-Call NIC");
CCPOS sSF(zl);
IF (FIND ["INUSE"]) AND NOT useflg THEN unlktst()
ELSE ST %l ¢ SF(zl) SE(zl), " INUSE ";
CCPOS S8F(zl):;
IF NOT FIND ['C/ 1zl 18D tz2 &NP ') THEN err(%"RFC Number
Error==-Call NIC"); '
#rfenumns ¢ zl 723
close(rnumstid.stfile := 0);
erlf();
typeas (3"RFC #");
typeas (brfcnum);

END;
END
ELSE CASE (char € curchr) OF
=CA:
BEGIN
typech(char);
echoni);

getcnum(@inivsr, &number, #" JOURNAL ", 0, 0);
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typeas (&number) ;
#authstr# e #initsr+; %ident of author%
END
='r, ='K: %RFC Number%
BEGIN
echo (8"RFC Number: ");
IF tnumber(&rfcnumber) » O THEN
BEGIN %pre=assigned%
typech(curchr);
echon();
raoumstid ¢ openlock(0, Jjflname($"rfcnumbers"));
IF NOT rdcknum(l, Srfenum, Sauthstr, rnumstid irnumstid)
THEN
BEGIN
unlktst();
useflg « 1;
END;
echoff();
CCPOS SF(rnumstid);
IF NOT FIND ['#] t2l L&D 122 THEN err(s"RFC Number
Error==0all NIC");
#¥numnber# ¢ zZl z2;
close(rnumstid.stfile := 0);
%Now check and mark tecnumber file%
cnumstid « openlock(0, jflname($"tcnumbers"));
I¥ NOT numtype(cnumstid,&number, $"PREASSIGNED"
:enumstid) THEN err(8"RFC Number Error=--call NIC");
IF FIND SFlenumstid) ["INUSE"] THEN
BEGIN
IF NOT useflg THEN
unlktst();
END
ELSE ST SF(enumstid) « SF(cnumstid) SE(cnumstid), " INUSE
il e
2
close(cnumstid.stfile := 0);
rifcilg e 2}
erlfl);
typeas(8"Catalog #");
typeas (&number) ;

END
ELSE CASE (ehar « ecurchr) OF
=CA: BEGIN

%get rfc number%

rnumstid « openlock(0, jflname($"rfcnumbers"));
ranumstid ¢ getecnum($initsr, Srfenum, &" NWG/RFC ", O,
ronumstid) ;

getenum({8initsr, &numper, " NWG/RFC ", 0, 0);

8T SF(rnumstid) ¢ SF(rnumstid) SE(rnumstid), EOL, '#,
#number;

close(rnumstid.stfile 1= 0);

BUMP rfecfle:

typeas(srfcenum);

arlfl);

typeas(8"Catalog #");

typeas (&number);

BND;
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ENDCASE error();

END;
- SR
help(&"Pre~assigned CATNUM",
$"CA",
$"RFC Number ",
0);

ENDCASE errori{);
%By here, number = number, authstr = author,
bl,b2,1it contain parms depending on typeb

KNLSPJOCTL.NLS;51

Stype = type, and

%Now open work file and set up header statement%

setjwork(stype, &numper, sauthstr);
IF rfcfleg THEN
BEGIN

10

%21f pre~assigned RFC, set up pre=entered fields of distripution

and title%
IF rfcflg = 2 THEN
BEGIN

rnunstid « openlock (0, Jjflname(&"rfcnumbers"));

#tempsr#® « 'C, #rfcnum#;

IF (21 « namelook(rnumstid, stempsr))= endfil THEN
err($"RFC Number Error==-Call NIC");

rnunstid « zl;
rfctitle(FALSE, %lit, rnumstid);
IF 1it.L # O THEN

BEGIN

CCPOS #1it#;

IF FIND ['s] CH tzl (["INUSE"] < [NP]>/ ) ftu2

BEGIN
#1lit# ¢ 7l z2;
setjtitle(8lit);
END;
END;
rfcdist (FALSE, &lit, rnumstid);
ITF lit.L # O THEN
BEGI1N
CCPOS #1it#}

IF FIND (':] CH tzl [EOL] < OH tz2 > THEN

BEGIN
#lit# ¢ 2zl 22:
setjdist (81iv);
END;
END;
close(rnumstid.stfile := 0Q);
END;

setjrfel(drfcnum); %set up RFC Numper Field%

END;
RETURN (mesflg) END.

(dsubmit) PROC (nunber) ;
LOCAL stype, mesflg;
LOCAL STRING authstr/50/;
REF number;

THEN

stype ¢ detjdocument(:mesflg); %get id of Journal dicument..returns
type and stid's in spec stack, and 1lit with literal if stype = 1lit%

rstlit ()
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D8P («< "Number:");
IF lookec() = CA THEN
BEGIN
input(); %read past CA%
DSP(10FF) ;
getcnun($initsr, &number, $" JOURNAL ", O, 0);
dn(&numober) ;
#authstr# ¢ #initsr+*; %ident of author%
END
ELSE
IF NOT deckenum(l, &number, Sauthstr, O) THEN
err(s"Number In Use==unlock to use");
%By here, number = number, authstr = author, sStype = type, and
bl,b2,1it contain parms depending on type%
%Now open work file and setl up header statement%
setjwork(stype, &number, sauthstr);
RETURN (mesflg) END.

(getjdocument)PROC;
%Get type and address of document for journal entry...
Returrn type, and parms in bl, b2, 1lit depending on type?%
LOCAL stype, mesflg;
mesfleg « 0O;
CASE inpcuc() OF
s='7;:
BEGIN
#1lit* ¢ EOL,
"File ", EOL,
"Message ", EOL,
"Statement ", EOL,
"Plex ", EOL,
"Branch ", EQL,
"Group ", EOL,
"Hardé Copy";
typeas(31it);
GOTO STATE;
END;
=3P
BEGIN
erlfl)s
stype « 1litv;
BUMP mesflg
END;
=/gB:
BEGIN
echo(&"Branch ");
stype ¢« brnechv
END:
CR
BEGIN
echo(&"File ")}
stype « filev
END;
=I1G:
BEGIN
echo(&"Group ");

1l
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stype « Eroupv
END;
='H:
BEGIN
echo(n"Hard Copy==Location: ")3;
stype « hcopyvs;
mesflg ¢« hcopyv;
END;
=1M:
BEGIN
echo(&"Message ");
erls();
stype ¢ 1litv ;
BUMP mesfleg
END;
=!P:
BEGIN
echo(b"Plex ")
stype ¢ pleXxv;
END;
=181
BEGIN
echo(&"Statement ");
stype ¢ stmtv;
BUMP mesflg
END;
ENDCASE error();
IF (stype = 1itv) OR (stype = hcopyv) THEN
BEGIN %read literal%
#X1lit# « NULL;
tXtlit (x1it);
END
ELSE
BEGIN
tbug (3jbl) ;
IF stype = groupv THEN tbug($jo2)
ELSE
1F stype = filev THEN jbl.stpsid ¢ origin;
END;
RETURN (stype, mesflg) END.

(det.jdocument) PROC;
%Get type and address of document for journal entr'¥Ya...
Return type, and parms in bl, b2, 1lit depending on type%
LOCAL stype, mesflg, litfg, oldfile;
LOCAL STRING flnam/[200];
nmesflg « 0O;
DSP( Submit Tt Message);
CASE inpcuc() OF
=CA:
BEGIN
DSP( TOFF);
stype ¢ litv;
BUMP mesflg
END;
=!'M,=SP; REPEAT(CA);
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1F

='H;:
BEGIN
DSP( «..e Branch):
stype ¢« brnchv
END;
s!F:
BEGIN
DSP( nae FilE);
stype ¢« filev
END;
=1G:!
BEGIN
DSP( eee Group);
stype ¢« groupv
END;
a'H:
BEGIN
DSP( ».s "Hard Copy==Location:");
stype ¢ hcopyv;
mesflg ¢ hcopyv;
END;
R
BEGIN
DSP{ eee Plex);
stype « plexv;
END;
=182
BEGIN
DSP( eee Statement);
stype ¢ stmtv;
BUMP mesflg;
END;
ENDCASE
BEGIN
am();
GOTO STATE
END;
(stype = litv) OR (stype = hecopyv) THEN %read literal%
BEGIN
#X1it+* « NULL;
litfg ¢ FALSE;
INPUT (SP BUG bl BUG b2 CA 1litfg « TRUE; / TEXT x1it CA);
IF litfg THEN
BEGIN
tdr (5bl,8b2,8bl,5b2) ;
#X1lit* e bl D2;
END;
rstlit();
END

ELSE

IF stype = filev THEN
BEGIN
DSP (soe File T )3
oldfile ¢ (lda()].dacsp.stfile;
#+filnam# ¢ NULL;
filnam (oldfile, #flnamn);

13
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INPUT VISIBLE flnam CA;
jbl.stfile « clf ($flnam);
jol.stpsid « origin;
END
ELSE

BEGIN
INPUT STID jbl;
IF stype = groupv THEN INPUT STID jb2;
END;

RETURN (stype, mesflg);

END,

(jdistd) PROC;
%This procedure intractively handles the secondary distribution of
Journal documents?
%1t assumes that the user is prepared to type in a Journal number at
the time of the call%
LOCAL STRING Jnumber/[5/;
IF tnumber (&3inumber) < O OR curchr # CA THEN SIGNAL(l, $"Illegal
Number");
erlg();
typeas (&"T0: ");
identlist ($x1it);
#x1it® & #xlit#, '3; %terminator for getiash
erle();
secdist (3jnumber, &x1lit);
RETURN END.

(ddistd) PROC;
%This procedure intractively handles the secondary distribution of
Journal documentsb
%It assumes that the user is prepared to type in a Journal number at
the time of the call%
LOCAL char;
LOCAL STRING Jnumber(5];
#jnumber+ ¢ NULL;
WHILE (char ¢ input()) IN ('O, '9] DO
BEGIN
#jnumber* « %jnumber#, char;
an(8$jnunber);
END;
IF char # CA THEN SIGNAL(l,$"Illegal Numper");
DsP(< "TOs:");
didentlist($xlit, &"T0:");
#xlit® e #xlit*, '; ; %terminator for getids%
secdist (8jnumber, $x1it);
RETURN END,

FINISH






XXX I=JAN=(Z2 i¥Y330 SNLSPJOBXNLS:H2 L

CNLS>JOEX.NLS;52, 1l5=0CT=71 1ll:46 WSD ;
FILE Jjoex % 110 to <rel=nls>joex %
%Entry to Journal System%
(setjwork)PROC(stype, number, authstr);
%This procedure opens and initialises the Journal working file,
and copies over the document so a8 to be te subplex of the
initialised Journal Header Statement%
LOCAL Dbyt:
LOCAL TEXT POINTER 2zl, z2;
LOCAL STRING tempsr/50/;
REF number, authstir;
%ton 12%
1U8YS gjinf;
gdname(rl, 8tempsr);
*tempsr* « '<, #tempsr#, '>, "JWORK", #initsr#;
jworkstid « openwk(0, &tempsr);
%5et up default Sub=collection%
ckident (&authstr, $auxlit, 0); %Get id record for this user%
lgetsubcoll(pauxlit, $tempsr, 0, 0);
makeptr(jworkstid, &jwpl);
ST Jjwple "(J", s#number#%, %number%
") 3 Author(s): /", %authstr#, %Author%
"s Sup=Collections: ", #tempsr*, %Su~Collections%
"3 Clerk: ", #initsr#, %Clerk (operator)%
"; .IGD=0; ,SNF=72; .MCH=65; .TABSTOPS=8,16,24,32,40,h8,56,6L;
+ PGN==1; .SCR=2; .PES;", EOL, EOL; %Journal Formatting
Directives%
%Copy over the docummnt%
CASE stype OF
=litv: cis(jworkstid, #xlit, down);
=stmtv: ces(jworkstid, Jjol, down);
=prnchv: ccb(jworkstid, Jol, down);
=groupv: ccg(jworkstid, jbl, Jb2, down)};
=plexv: ccp(jworkstid, Jjpl, down);
=filev: BEGIN
FIND jwpl [EQL EOL] 72zl ¢zl «Zl;
8T jwpl ¢« SF(jwpl) zl, EOL, "Oragin: ", SF(jbl) SE(jbl),
zl SE(zl)3;
IF getsub(jbl) # jbl THEN ccp(jworkstid, getsub(ibl),
down) ;
END;
=hcopyv: BEGIN
FIND jwpl [')] tzl:
ST 2zl 21 « " Hard Copy==~Leccation: ", #xlit*, ';3;
END;
ENDCASE err(8"System Error (Illegal Type)");
%voff 12%
RETURN END,

%Parameter specification for Journal%
(setjauthor)PROC (astr);
LOCAL TEXT POINTER zl, %2;
LOCAL STRING tempsr/[l00/:
LOCAL STRING oldaut/LoO/;
REF astr;
astruc(&astr); %sSet it upper case?
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COPOS jwpls
FIND ["Author(s):"] {'/] tzl ['3] %22 ez2;
#oldaut* ¢ zl 223
ST jwpl ¢ SF(jwpl) 2zl, #astr#*, z2 SE(jwpl);
IF #astr+ # #oldaut¥ THEN
BEGIN %FiX up subcollection stuff#
FIND SF(#astr#*) BNP ('?/'&/) t2z1 ([ '( / NP] Tz2 «z2 / §PT
tz2);
#astrs ¢ gzl z2;
IF NOT ckident(&asir, $Sauxlit, 0O) THEN
BEGIN
setjeuthor(8oldaut); %error==-restore author field to initsr%
err(#"Illegal Author");
END3
lgetsubcoll(3auxlit, Stempsr, 0, 0);
setjsubcol ($tempsr, Jjwpl)}
END;
RETURN;
END.

(setjdist)PROC (astr);
REF astr;
LOCAL TEXT POINTER 2zl,z2;
FIND Jjwpl (["Distrioution: "] < CH [8P] tzl > ['};] t22 /
{"Author(s): "J [';] 1zl 122);
ST 21 %2 « " Distribution: /", *astrw, ';;
RETURN ENDe.

(setJcomment) PROC (astr) ;
REF astr;
LOCAL TEXT POINTER 21,72;
FIND Jwpl ("Clerk: "] ["

"l twl;}
ST Jwpl ¢ SF(jwpl) zl, ".PEL} +PGNsPGN=l; .GCR;", #astr¥;
RETURN END.

(setjclerk)PROC (astr);
REF astr;
LOCAL TEXT POINTER 21,22}
FIND Jwpl ("Clerk: "] tzl [';] 122 «z2;
8T jwpl ¢« SF(Jjwpl) zl, #astr#*, z2 SE(jwpl);
RETURN END.

(setjexpedite)PROC(onoff);
LOCAL TEXT POINTER zl,%2;
FIND jwpl ([" (Expedite) "] tz2 < CH [8P] > Tzl/
(frTivles ") < ['7) 7 ["Author(s)s: "] < ['Al) > tzl 1%2);
IF onoff THEN 81 2zl z2¢ " (ExXpedite) "
ELSE ST 2zl Z2 « NULL;
RETURN END.

(setjkeyword) PROC(astr);
REF asur;
LOCAL TEXT POINTER 2zl,%2;
FIND Jwpl (["Keywords:"] < [SP] tzl > [';] tze /
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(["Distribution: "J/["Author(s): "J)
ST zl z2 « " Keywords: ", #astr#, ';;
RETURN END.

(setjrfc)PROC (astr);
REF astr;
LOCAL TEXT POINTER 21,%2;

SNLS2JOLRA.NLSS =4

{'3] tzl t22);

FIND Jwpl (["RFC# "] < CH [SP] tzl > ['3] Tz2 /

(["Sub=Collections: "] / ["Keywords:
["Auther(s): "J]) ['3] tzl t22);

ST 21 2 « " RFC# ", xastr#, ';;

RETURN END.

(setjsubcol) PROC (astr,stid);
LOCAL STRING tempsr[l50/;
REF astr;

LOCAL TEXT POINTER 21,72;
#tempsr# e *astr%;

") / ("Distribution:

astruc (dtempsr); %Make sure that it is uppeér case?%

FIND SF(stid) (/"Sub=Collections: "J < CH [(S8SP] 21 > [
( ["Keywords: "] / ["Distripution: "] / ["Author(s)

Tzl trz2);

an -
e

ST zl %2 « " Sub-Collections: ", #tempsar#, ';:

RETURN END,

(setjobsoletes)PROC(astr);
LOCAL TEXT POINTER 21, 42;
REF astr;

3] 1%
)

3

wy o/

FIND jwpl ([("Opbsoletes Document(s): "] < [('0QJ CH 1zl > [';] tz2/
(["RFO# "] / ["Sub=Collections: ") / ["Keywords: "] /

["Distribution: "] / ["Author(s): "])

£'3] *zl tz2);

ST zl z2 « " Qbscletes Document(s): ", #astrs, '; ;

RETURN;
END.

(setjupdates)PRCC (astr);
LOCAL TEXT POINTER zl, z2;
REF astr;

FIND Jjwpl (["Updates Document(s): "] < ('U/ CH T2l > ['3;] tz2/
(["Obsoletes Document(s): "] / ["RFC# "/ / [("Sub=Collections:
"] / ("Author(s): "J)

"] ¢ ["Keywords: "] / ("Distribution:
['3] T2l 122);

ST zl 22 « " Updates Document(s): ", #astr¥*, '; ;

RETURN;
END.

(setjtitle) PROC(astr);
REF astr;
LOCAL TEXT POINTER zl,%2;

2

FIND Jjwpl (/" Tivle:  HED="] < [SP] (SP] Tzl > ['3] tz2/

["Author(sg):"]< [SP] 1zl 122>);
ST zl 22 « " Title: .HED=", '", s#astrs,
RETURN END.

%Statush

"
Wy Y35

(jstatus)PROC(stid, linkflg, linkptr, linkdir);



XK A=JAN®[Z L1Y: 3V NNLDAUUEX.NLD; b L

LOCAL TEXT POINTER zl;

REF linKptr, linkdir;

#Tvpe out status to user%

makeptr(stid, $2zl1);

*#X1lit¥* ¢ "Catalog Number: ", =
#[getinm(8zl) ]+,
#[addeocl (getjhcloc ($zl)) /%,
#[addeol (get jauthor(szl)) ]+,
#[addeol (getjtitle(szl)) /%,
#faddeol (getJdist (8zl) ) ] *,
#[addeol (getjexp(szl) ) ]*,
#[faddeol (getjkeyw(szl))]*,
#[addeol (getjsubcol(3zl) ) j*,
#[addeol (getjrfc(8zl))j#*,
#[addeol (getjobsoletes ($zl)) ] *,
#[addeol (getjupdates (3zl) ) ]*,
#*[addeol (getjclerk($zl)) ) *,
#faddeol (plinkst (1linkflg, &linkptr, &linkdir)))#,
#(addeol (EetJjcomment (82l)) ] %}

IF nimode = fulldisplay THEN
BEGIN
#XL1itw « O

1] ’ *xlit'*, [[]

To Continue==- Type CA";
supda(0);
litdpy (8x1it);
END
ELSE
BEGIN
dismes (2, 3x1lit);
END;
RETURN END,

(addeol)PROC (asty);
%Accepts a string as an argument, an moves it into auxlit preceded
by an EOL if it is not empty. Returns address of auxlit or null
string#
REF astr;
IF astr,L > O THEN
BEGIN
#lit2% & EOL, %astr#¥;
RETURN (81i12);
END;
RETUERN (&"") ;
END.,

(getJnm) PROC (PLr);
REF ptr;
IF NOT FIND ptr &NP '( ('J/'3) tpl Ls5 D tp2 THEN err(s"Bad
Journal Header");
#aUuxlit* ¢ pl p2;
RETURN ($auxlit);
END.,
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(getjhcloc)PROCEDURE (ptr);

REF ptr;

IF FIND ptr [("Hard Copy==Locaticn: "] tpl (';] tp2 THEN
BEGIN
#auxlit# ¢ "Hard Copy==-Location: ",pl p2;
RETURN (Rauxlit);
END

ELSE RETURN(&"");

END.

(Eetjauthor)PROCEDURE (ptr) ;
REF ptr;
FIND ptr ["Author(s):"] ['/] tpl [';] tp2 ¢p2;
#auxlit* « "Author(s): ",pl p2;
RETURN ($auxlit);

END.
(getJtitle) PROCEDURE (ptr);
REF ptr;
IF FIND ptr ["Title: "] (V"] ='" tpl «pl ['"] *tp2 ¢p2 THEN
BEGIN

#auxlit#® « "Title: ",pl p2;
RETURN (Bauxlit):

END :
ELSE RETURN(3&""):
END.
(getJjdist) PROCEDURE (ptr) s
REF ptr;
IF FIND ptr ["Distribution: "J [('/] tpl ('] 1p2 «p2 THEN
BEGIN

#auxlit#* « "Distribution: ",pl p2;
RETURN ($auxlit);
END

ELSE RETURN(&"");

END.

(Eetjexp) PROCEDURE (ptr) ;
REF ptr;
IF FIND ptr ["(Expedite)"] THEN RETURN($"EXpedited")
ELSE RETURN(&"")3;
END,

(get jkeyw) PROCEDURE (ptr) ;

REF ptr;

IF FIND ptr [("Keywords: "J tpl ['3i] tp2 ¢«p2 THEN
BEGIN
#auxlitv* ¢« "Keywords: ",pl p2;
RETURN ($auxlit)
END

ELSE RETURN (&""):

END.

(getjsubcol) PROCEDURE (pty) ;

»
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LOCAL TEXT POINTER zl, 22, z3;

LOCAL STRING tempsr(l50]), templsr/(30];
REF ptr;

#auxlit® ¢ NULL;

it

IF
IF

IF

(FIND ptr ["Sub=Collections: "] tpl [';] tp2 ep2 ) THEN
#aguxlit* « pl p2;
rfcflg THEN #auxlit* ¢ "NWG ", #auxlit#*;
rfcflg AND NOT FIND BETWEEN pl p2(/"NIC"]) THEN
#auxlit¥# ¢ "NIC ", #aguxlit#;
FIND ptr ("Distribution: "J ('/] tzl THEN
BEGIN ;
#Lempsr# ¢ NULL;
getgpids(8zl, dtempsr, 0); %ExXtract all group references
from ident 1list%
%Now £iX up Sub=collection Field to reflect pistribution
Groups%
FIND SF(#tempsr#) t2l;
WHILE (FIND zl SNP t22 18PT t21) DO
BEGIN
#templsr# « +22 zl;
IF NOT FIND SF(#auxlit#) [*templsr¥/ THEN
#auxlit¥ & s*auxlit#*, SP, #templsers#;
END;
END;

IF auxlit.L > O THEN #auxlit® ¢« "Subcollections: ",%auxlit*;
RETURN ($auxlit);
END.

(gevjrfc) PROCEDURE (ptr) ;
REF ptr;
IF FIND ptr ["RFC# "]  1pl ('3;] tp2 «p2 THEN

BEGIN

#auxlit* « "RFC Numper = ",pl p2;
RETURN (Sauxlit) ;

END

ELSE RETURN(&"");
END.

(getJjclerk) PROCEDURE (ptr);
REF ptr;
FIND ptr ("Clerk: "] tpl ['.] Tp2 €p2;
#auxlit# « "Clerk: ",pl p2;
RETURN (Bauxlit);
END.

(plinkst) PROC(1linkflg, linkptr, linkdir);
LOCAL STRING tempsr(30/;
REF linkptr, linkdir;
IF NOT 1linkflg THEN RETURN(8"");
#tempsr+ « NULL3
tshptr(linkptr, linkptr/l], Stempsr);
#auxlit# ¢ "Place Link at ", *tempsr#, SP, #linkdir#;
RETURN (Bauxlit) ;
END.

(getjcomment, ) PROCEDURE (pur') 3
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REF ptr;
IF FIND ptr [V

"] ["«GCR:"] tpl THEN IF POS pl # SE(pl) THEN
BEGIN
#auxlit# « "Comments: ",pl SE(pl);
RETURN (8auxlit);
END;
RETURN (&"") ;
END,

(getjobsoletes) PROC (ptLr);
LOCAL TEXT POINTER 2l, z2;
REF ptr;

IF FIND ptr ["Obsoletes Document(s): "J < ['Q] > 1zl ['3;] tz2 ¢z2
THEN
BEGIN
#auxlit* e zl z2;
RETURN (Bauxlit);
END;
RETURN (3"")
END.

(gevjupdates) PROC (ptr) ;
LOCAL TEXT POINTER 2zl, z2;
REF ptr;
IF FIND ptr ["Updates Document(s): "J < ('U) >tzl [1;] tz2 €22
THEN
BEGIN
#auxlit¥ ¢« zl z23;
RETURN (Bauxlit) ;
END;
RETURN (g"1) ;3
END.

#Journal Entry Execution%
(joueX) PROC (number,mesflg,linkfle, linkpl,linkdir);
%Tnis procedure does the actual Jjournalising of the documents,
It does not return, but rather calls reset to return control to
TODAS/NLS when done%
LOCAL usednum, rnumstid, Jjcstid, Jnlstid, tstid;
LOCAL STRING mfname/[50/, tempsr/l0/, modstr/[l00/; %message file
name?%
REF number;
%ton 13%
%eet stid's to nulls
Jnlstid ¢ Jjcstid ¢ rnumstid ¢« orgstid;
Jolock(); %Check to make sure it will work%
ON SIGNAL
ELSE
BEGIN
sigelose(rnumstid.stvfile :=
sigclose(Jjcstid.stfile := 0)
closeu(jnlstide.stfile := 0);
jerror(sysmsg);
END;
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IF NOT mesflg OR (mesflg = hcopyv) THEN jouext(&number,mesfleg,
linkflg, linkpl,linkdir); %Until we get files straightened outb
setjheader (&number, S$modstr); %fill out journal header statement%
IF NOT (jsavaccess « access .A accmask/Jjrnlaccess]/) THEN
enaplaccess (0, jrnlaccess);
jeatid ¢ openlock(0, jflname(8"tjcat"));
jnlstid ¢ findactive (20, Jcstid: usednun); %number should be
numper of statements in prospective Jjournal document%
entrjdoc(jnlstid, &number);
closeu(jnlstid.stfile:=0);
updjeat (&number, usednum, $mfname, Jjestid); %update jeat file%
*tempsr¥ « 'J, *number;
jeatentry(IF jdebug THEN $"DUVALL" ELSE &"JOURNAL", &mfnanme,
%file name% $tempsr, FALSE, Jecstid); %bbranch name%
%Now insert cCatalog Modification Commands as necessary%
IF modstr.L > O THEN

BEGIN

IF (tstid « namelook(Jjecstid, 8&"Catmods")) = endfil THEN
BEGIN
IF (tstid ¢ namelook(Jjcstid, $"Jjcatalog")) = endfil THEN

badfil(Jjcstid.stfile);
tstid ¢ cis(tstid, &"(catmods) COatalog Modifiction
commands", sucdir);
END;
cis(tstid, 8Smodstr, down);
END3
close(jestid.stfile = 0);
distdoc (¥mfname, &number, TRUE); %distribute it%
IF rfcfleg THEN
BEGIN %release RFC number%
usedcnunm(sricnum, rnumstid < openlock (0,
jflname (8"Rfcnumbers")));
close(rnumstid.stfile := 0);
END;
usedenum(&numper, 0); %release used Jjournal numper?
%now type out the link to the user%
linkout (linkflg,linkpl,linkdir,8mfnane);
jreset();
END.

(jouext)PROC (number,hecflag,linkflg,linkpl,linkdir);
%This procedure does the actual Journalising of the documents,
It does not return, but rather calls reset to return control to
TODAS/NLS when done%
LOCAL usednum, rnumstid, Jjestid, Jjdocstid, tstid;
LOCAL STRING dfname[50], nodstr/[1l00]; %Document file namey
REF number;
%Set up SIGNAL statement%
ronumstid ¢ Jjestid ¢ Jjdocstid ¢ orgstid;
ON SIGNAL ELSE
BEGIN
sigelose(rnumstid.stfile = 0);
sigelose(jestid.stfile := 0);
close(Jjdocstid.stfile := 0);
END:
setjheazder (&number, $modstr); %fill out Journagl header statement%



anag ATNODNT | & e WA N WY VRN ATy A

IF NOT (Jsavaccess ¢ access .A accmask/jrnlaccess/) THEN
enablaccess (0, Jjrnlaccess);
%Now open a work file with number as name%
IF NOT hcflag THEN
BEGIN
jdoestid ¢« openwk (0, jflname (&number));
%ton 5%
setaccess(jdocstid.stfile, Jjrnlaccess);
%Now fix up header in Journal file%
ST Jjdocstid « ",;
", SF(Jjworkstid) SE(Jjweorkstid);
ccp(jdoecstid, getsub(jworkstid), down); %copy over plex of
documnenth
%toff 5% o
%ton 6% P
updtfl(jdoestid.stfile, 0); %update file%
%toff 6%
close(jdocstid.stfile := Q)3 %close and lock it%
END:
#Now update control file%
jestid ¢ openlock(0, jflname(&"tjcat"));
Jeatentry (IF Jjdebug THEN $"DUVALL" BELSE $"JOURNAL", &number,
$"0", hcflag, Jcstid);
#Now insert Catalog Modification Commands as necessary%
IF modstr.L > O THEN

BEGIN

IF (tstid ¢ namelook(Jjcstid, &"Catmods")) = endfil THEN
BEGIN
IF (tstid « namelook(jestid, $"Jjcatalog")) = endfil

THEN badfil(Jjcstid.stfile);
tstid ¢ cis(tstid, $"(catmods) Catalog Modifiction
Commands", sucdir);
END;
cis(tstid, Smedstir, down);
END;
close(jcstids.stfile = 0);
sdfname* « #numbers;
distdoc (Hdfname, &number, hcflag); %distribute it%
IF rfcflg THEN
BEGIN
usedcnum(érfcnum, rnumstid ¢ openlock(0,
Jflname (8"Rfcnumbers")));
close(rnumstid.stfile := 0Q);
END;
usedcnum(&number, 0); %release used Jjournal number%
%now type out the linnk to the user%
linkout(linkflg,linkpl,linkdir, $dfnamel;
Jreset();
END.

(linkout) PROC(1linkfle,linkpl,linkdir, linkstrl;
%Insert link if so directed, and type it out to user%
REF linkstr;
IF nlmode = fulldisplay THEN
#linkatr# e #linkstr#, "==CA to continue';
dismes(l,&linkstr);
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IF nlmode = fulldisplay THEN

BEGIN

UNTIL input() = CA DO NULL;

dismes(0);

recred();

END;
IF 1inkflg THEN xis(linkpl,&linkstr,linkdir);
RETURN END.

(setlinkloc)PROCEDURE (onoff, linKpl,linkdir):;
REF linkpl,linkair;
IF onoff THEN
IF nlmode = typewriter THEN
BEGIN
erls(l);
echon();
typeas($"After location: ");
toug (&linkpl) 3
levadj(linkpl,&linkdir);
END
ELSE
BEGIN
DSP(< "After location:" t1);
INPUT STID linkpl LEVADJ linkdir CA;
END;
RETURN (onoff) END.

%Catalog sub=collections%
(rdsubcolli)PROC (astr);

LU

%This procedure accepts an identlist from the input terminal, and

subsequently checks that eahc each IDENT is that of a group.

Assuming that all of this is legal, it returns the identlist in

astrneg®
LOCAL idfile, idstid;
LOCAL STRING tempsr/30/, idinfo[500], modstir[1l00];
REF astr;
%Set up signal to close idfile%
idfile ¢ 0;
ON SIGNAL ELSE sigclose(idfile := 0);
#astrs ¢ NULL;
echon ()
idfile « open(0, Jjflname(s"identfilev));
idstid « 03
idstid,stpsid ¢ origin;
idstid,stfile ¢ idfile;
Do
BEGIN
#tempsr# ¢ NULL;
rdident (stempsr, idstid);
ckident (s$tempsr, sidinfo, idfile);
IF NOT afgptst($idinfo, 0) THEN

BEGIN

erlf();

typeas(&"Individuals may not pbe used as Sup=Collection
Names");

erlf();
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IF astr.L = O THEN typeas($"Next id:")
REPEAT LOOP;
END;
#astr#* ¢ ¥agir*, #tempsr*, SP;
END UNTIL curchr = CAj;
IF astr.L > O THEN astr.L ¢ astr.L = 1;
close(idfile :s 0);
RETURN;
END.
FINISH

ELSE typeas(&astir);
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{NLS>JOLIBE.NLS;69, 2u4=NOV=71 13357 JDH }
FILE jolibe % 1L1lO to <REL=nls>jolibe %
%Declarations%

DECLARE Jmaxsmt = 10000;
%Entry support%

(setjheader)PROC (number, modstr);

LOCAL TEXT POINTER idptr, zl, %2;
LOCAL idfile, stid;
LOCAL STRING adsubcols(l1l00/, oldsubcols/[300), tempsr/(30];
REF number, modstr;
%#Number is Journal Number, modstr will be used for returning any
catalog manipulation commands for other entries%
%This routine fills out the Journal header%
%ton 3%
idfile « 0;
ON SIGNAL ELSE sigeclose(idfile := 0);
%first £il11l in time and date fields%
#datesr# « NULL;
IJ8YS gtad;
dtfrmt(rl, #datesr);
CCPOS iwpl;
IF NOT FIND (/"3 3"/ '3;] tpl) «pl ["Author(s):"] ('/] *p3 [';
tplk epl THEN err(8"Journal Header Error'");
IF rfcflg THEN
8T jwpl ¢ SF(pl) pl, SP, w#datesr#*, "; HJOURNAL=", '",
"NWG/RFC# ", #rfcnums, ".SPLIT;", p3 plL, SP, *datesrx, "
", #number#, '", pl SE(pl)

ELSE
ST jwpl ¢ SF(pl) pl, SP, #datesr#, "; HJOURNAL=", 1", p3
p4, SP, #datesrx, " ', snumober#, '", pl SE(pl);

%Now £ill out name fields%
%author field%
#1lit* « NULL;
%ton 0%
idfile «open(0,jflname(&"identfile"));
%Loff 0%
FIND Jwpd ["Author(s): "] ['/] ?tidptr;
intids(0);
LooP
BEGIN

IF NOT getids(éidptr, #1lit, 1, idfile) THEN EXIT; %reads

idents from Jjwpl (up to ';) and puts info into &%1lit
(appended) ., .returns FALSE if no ildents lefi%
#lit# exlits,", ";
END;
IF 1it.L > O THEN 1lit.L ¢ lit.L~-2; %ignore last comma%
CCPOS SF(Jjwpl):
FIND ["Author(s): "] tjwpl;
ST Jjwpl « SF(jwpl) Jjwpl, #lit#, Jjwpl SE(Jwpl);
%Now do distriputiion field%
#lit#* « NULL;
IF FIND Jwpl ["Distribution: "J ['/] tidptr THEN
BEGIN
intids(0);
LOOP
BEGIN

" 8

'
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IF NOT getids(sidptr, 8lit, 1, idfile) THEN EXIT;
%reads idents from jwpl (up to ':) and puts info into
$lit (appended)...returns FALSE if no idents left%
#1lit# exlit#,", ";
END;
IF 1litelL > O THEN 1lit.L ¢« lit.L=2;
CCPOS SF(Jjwpl);
FIND ("Distribution: "] t3jwpl;
ST Jwpl ¢« SF(Jwpl) Jwpl, #1lit#, Jwpl SE(Jjwpl):
END;
close(idfile := 0);
%Now fix up Sub=collection Field to reflecl RFC, Distripution
Groups%
IF FIND SF(Jjwpl) 1jwpl SF(#*/getjsubcol(®jwpl) %) [NP]J tzl THEN
BEGIN
#0ldsubcola* ¢ zl SE(zl);
setjsubcol (8oldsubcols, Jwpl);
END3
%#Now build any catalog modification commands dictated by parameter
fields in the header%
IF gamodstr THEN
BEGIN
%0bsoletesh
#modstr# ¢ %#[getjobsoletes (S jwpl)/%*;
»Updates%
#¥modstl'# ¢« #modstr#, EOL, */getjupdates(sjwpl)/#;
%Check to see i1f entries are NULL%
IF modstr.L = 1 THEN #modstr#% ¢ NULL
FELSE #modstr# ¢ #number#, SP, *modstr#;
END;
%toff 3%
RETURN ENDs

%#Jcat manipulation%
BJ=catalog entries%

(updjcat) PROC (number, numused, linkstr, Jjestid);
%This routine updates the Jjcat file, where numused is the total
number of statements used in the active file, It is expected
that numper contains tte Jjournal numpber of the document jusv
entered, and auxlit is used by his routine%
hjestid is assumed to be the stid of the active file statement%
LOCAL STRING tempsr(l0];
LOCAL TEXT POINTER 2zl, %Z2;
REF number, linkstr;
Zton 7%
IF (jestid « namelook(Jjecstid, S"ACTIVE")) = endfil THEN
err(3"Bad Jecat File");
IF NOT FIND SF(Jjestid) ["Used = "] &SNP tzl 18D 122 THEN

err($"Bad Jcat File");

#tempsr# ¢« STRING(numused); %Get around L10 Compiler glitch%

ST 2l « SF(zl) zl, #tempsr¥*, z2 SE(Z2), " ", #number#;
%“Now save off name for distribution%
IF NOT FIND SF(Jjestid) [") ("] tzl [')] *22 ez2 THEN

err(%"Bad Jcat File");
#linkestr# « zl z2;
%toff 7%
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RETURN;
END,

(Jcatentry) PROC (astrl, astr2, astr3, hcflag, jestid);

LOCAL dir, stid, xstid;

#make an entry in the catalog part of the jeat file,
astrl is user name, astr2 is file nane for file, and astr3
is branch nane%

LOCAL TEXT FOINTER %l, 72;

REF astrl, astr2, astr3;

%ton 6%

stid ¢ Jestid;

IF (xstid « namelookK(stid, $"JCATALOG"))= endfil THEN err(#"Bad

Jeat File");

IF (xstid := getsub(xstid)) = Xstid THEN dir « down

ELSE
BEGIN
dir ¢ sucdir:
xstid ¢« getail(xstid)

END:

Xstid ¢ ccs(xstid, Jjworkstid, d4ir);

stid ¢ xstia;

X8tid ¢ cis(xstid, &astrl, down);

IF hcflag THEN
BEGIN
CCPOS SF(stid);

FIND ["Location: "] 4 2l ['3] tz2;

ST xstid ¢« "Location of Document: ", 2zl z2;
%toff 8%

END

ELSE
ST xstid ¢« "Link to document: (", #asStrl%, ', , #astr2%, !,
s ®astr3%, "igw) ";

%toff 8%

RETURN END,

%Katalog Klean=up%
(updtjo) PROC;
%This procedure updates the pemanent copies of the Journal
files JCAT an CNUMBERS from the temporary copies TCNUMBERS,
TJOATS
LOCAL Jcstid, tJjestid, cstid, tecstid, errfle;
errflg « Jecstid « tjecstid ¢ cstid « tecstlid ¢« 03
Jjsavaccess « access;
conjdir (TRUE) ;
rlegetsbn(S$"JUPDCH") ;
lJ8YS setnm;
STATE ¢ Jcopst, spec;
IF errflg THEN nlsrsti()
ELSE BUMP errfle:
ON SIGNAL ELSE
BEGIN
undo (jestid := O
undo(tjcstid :
undo(ecstid @
undo (testid

;
)3

= 3
0

)

0
|

= 0);
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access « Jjsavaccess;
conjdir (FALSE) ;
rienlssbon;
1J8YS setnnm;
END:

enablaccess(0, jrnlaccess);

%First do the JCAT file%
jestid « openlock (0, Jjflname ($"JCAT"));
tjestid ¢ openlock (0, jfiname(&"TJOAT"));
updtpx(jestid, tjcstid, $"Jcatalog", TRUE, FALSE);
updtpx(jestid, tjcstid, &"Jcatalog", TRUE, FALSE);
updtpx(Jjecstid, tjestid, $"catmods", TRUE, FALSE);
closeu((jcstid:s0).stfile);
closeu((tjestia:=0).stfile);

%Now do cnumbers%
cstid « openlock(0, jflname(3"CNUMBERS"));
tecstid « openlock(0O, jflname($"TCNUMBERS"));
updtpx{cstid, tecstid, S"FREE", FALSE, FALSE):
updtpx(cstid, tcstid, $"USED", FALSE, FALSE);
updtpx(cstid, tcstid, $"INUSE", FALSE, FALSE);
updtpx(ecstid, tcstid, $"PREASSIGNEQD", FALSE, TKHUE);:
closeu((cstids=0).8tfile);
closeu((tcstid 1= 0),stfile);

access « Jsavaccegs; %restore access?

rlenlssbn;

|JSYS setnm;

nlsrst();

END.

(updtpx) PROC(stidl, stid2, namest, tailf, replfg):;
LOCAL dir, tstidl, tstid2;
REF namest;
IF (tstidl ¢ namelock(stidl, &namest))
badfil(stidl.stfile);
IF (tstid2 ¢ nameloock(stid2, &namest))
badfil (stidz.stfile);
IF (stid2 « getsub(tstid2)) # tstid2 THEN
BEGIN %there is something to copy%
IF NOT (tailf OR replfg) THEN
BEGIN
stidl e tstidl;
dir « down
END
ELSE
IF ((stidl ¢ getsub(tstidl)) = tstidl) THEN %nothing
under bracnh ... Move to stidl in down dir% 4ir ¢ down
ELSE
BEGIN
stidl ¢« getail(stidl);
dir ¢ sucdir

endfil THEN

endfil THEN

END;
IF replfg AND (stidl # tstidl) THEN erp(TRUE, stidl, stid2,
0, 0)
ELSE cmp(stidl, stid2, dir);
END

ELSE
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IF (stidl ¢ getsub(tstidl)) = tstidl THEN
%replace% crs(TRUE, stidl, stid2, 0, 0);
RETURN END.

(undo) PROC (stid) ;
kun=lock and close file%
LOCAL fileno;
IF (fileno ¢ stid,stfile) = O THEN RETURN;
IF NOT writeout(fileno, $sar) OR NOT delpc(fileno, &sar) THEN
err(8$sar);
close(fileno);
RETURN ENDe.

%#Distribution stuff®
(distdoc)PROC(astr, number, mesflg);
kdistripbute document identified by Jworkstid#
LOCAL stid, idfile, dstid;
LOCAL TEXT POINTER zl, %2, z3;
LOCAL STRING linkuser(l5/;
REF astr, number;
%astr contains file name upon call, Return link to document in
astr
%ton 9%
dstid « O;
ON SIGNAL ELSE
BEGIN
sigeclose(dstid.stfile iz 0);
sigeclose(idfile := 0);
END;
dstid ¢ ccs(getail(getsub(openlock (0, Jjflname(3"distfile")))),
jworkstid, sucdir);
IF jdebug THEN #linkuser# ¢ "Duvall, " ELSE #linkusers# ¢ "Journal,
l!;
CASE mesflg OF
=0: #astr* ¢ '(, #linkuser%, *astr#*, ", liw)";
=l: #astr* ¢ '(, ¥linkuser#, +#astr#*, %journal file name%
", J", ¥number#, ":gw) ";
=hcopyv: +#astr# ¢ "(Hard Copy=-=", #linkuser#, #astr#, ", )";
ENDCASE err(8"Illegal Message Type");
IF mesflg # hcopyv THEN
BEGIN
FIND SF(dstid) [')] 1tzl;
ST 2zl zl « " ", wastr#; %Insert link into header for
distribution%
END;
%now insert individuals on distribution list%
%ton O%
idfile « open{0, jflname(ad"identiile"));
%Zvoff 0%
IF FIND SF(astid) ["pistribution: "J ['// * 2zl THEN
distdl(detid, 8zl, idfile, IF mesflg = hcopyv THEN #"Hard
copy Document" ELSE Q)3
%now send author copies%
IF FIND SF(dstid) ["Author(s):") ('/] t zl THEN
distdl (dstid, $zl, idfile, &"Author Copy")
ELSE err(8"system Error (No Author Field)");
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Loff 9%
close(dstid.stfile := Q);
close(idfile := 0);
RETURN END.

(secdist) PROCEDURE (nunber, identlist);
%Accepts a string containing a catalog number, and a string
containing an identlist.
Distriputes the indicated Journal document to te persons on the
list%
LOCAL char, dstid, Jjecstid, dirfleg;
LOCAL TEXT POINTER 2zl, %2, 23;
LOCAL STRING tempsr/l1l0/;
REF numpber, identlist;
Jestid e dstia ¢ orgstid;
dirflg « FALSE;
ON SIGNAL ELSE
BEGILN
close(jestidestfile := Q)3
close(dstid.stfile 315 0);
IF dirflg THEN conjdir(FALSE); %Return him to directory%
END;
jestid.stfile « open(0, Jjflname(3"jcat"));
#tempsr¥ ¢ 'J, #number#;
IF (22 ¢ namelook(jcstid, stempsr))= endfile THEN
err( 3"No Such Docunent"):
makKeptr(asrref(&identlist), &zl);
conjdir (TRUE); %Connect to Journal Directory%
dirfleg « TRUE;
dstid ¢ ccs(getail(getsub(dstid ¢« openlock(O,
jflname(3"oistfile")))), z2, sucdir);
z2 ¢ getsub(z2);
IF FIND S8F(z2) [("Link"] ['(] 122 ¢z2 THEN
BEGIN
FIND SF(astid)(')] tz3;
ST 23 z3 ¢ SP, z2 SE(z2); %link%
END;
close(Jjcstid.stfile 1= 0);
FIND SE(dstid) > 1z3;
ST z3 23 « EQL, "Secondary Distribution Copy";
CCPOS SF(dstid);
IF FIND ["(Expedite)"] t23 < ['(] tz2 > THEN ST 22 23 ¢ NULL:
distdl (dstid, $zl, 0, 8" (Secondary Distripution Copy)"):
close(dstid.stfile 1= 0);
conjdir (FALSE);
RETURN END.

(distdl)PROC(dstid, ptr, idfile, note);

%This procedure does the actual manipulation of the distribution

file to put entries in for the individual reciepients,
dstid is te stid of the branch head in the distripution fule
ptr is a pointer to the distripution list
idfile is the identification file numper (if non=Zero)
note is optionally a sString which will be appended to the entry
in the comments/notes field (in addition to any comments which
may be in the distribution list).
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%
LOCAL idfnum, stid;
LOCAL TEXT POINTER 2zl, z2, 23}
REF ptr, note;
IF idfile = O THEN
BEGIN
idfnum « 0;
ON SIGNAL ELSE gigclose(idfnum := 0);
idfnum ¢ open(0, Jjflname(g"identfile"));
END
ELSE idfnum « idfile;
intids(0);
LOOP
BEGIN
#lit* ¢ NULL;
IF NOT getids(&ptr, $lit, O, idfnum) THEN EXIT;
getiid(slit, O, 8zl, 8z2);
#1lit¥* e '(, 21 22, '); %Ident%
IF FIND ptr < CH » ') THENWN
BEGIN
iF
NOT FIND < CH tz2 ['(J > CH tzl THEN
err(%"System Error (Bad distribution List)");
IF &note THEN
#lit# ¢ #1lit%, EQL, "Note: ", zl %2, EOL, #notex, ";;"
ELSE
#1lit* ¢ #1lit#, EQL, "Note: ", zl %2;
END
ELSE
IF &note THEN #*1lit# ¢ #1it#, EOL, "Note: ", #notex, ";;";
cis(dstid, wlit, down);
END;
IF NOT idfile THEN close(idfnum);
RETURN END.

%Message files%
(entrjdoc)PROC (stid, number);
%Enter journal docummnt into active file a8 identified by stid%
REF number;
%ton 5%
%first copy over document#%
stid « getail(getsup(stid));
ceb(stid, Jjworkstid, sucdir);
stid.stpsid « origin;
8T §F(stid) ¢ SF(stid) SE(stid), " ", *number#; %update headers
%htoff 5%
RETURN END,

(findactive)PROC (numsnmt, Jjecstid):
%Find the actve journal file, given the required number of
statements in numsnt, and Jjestid is the stid of the origin
statement of the journal control file,
If there is no active Jjournal file, or there is not enough room in
the active Jjournal file, then close it, and create a new active %
LOCAL usedsnt, stid;
LOCAL TEXT POINTER zl, 22}
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LOCAL STRING tempsr/15/;
2ton L%
%First look for active%
IF (stid ¢« namelook(jcstid,3"ACTIVE"))= endfil THEN
RETURN (newactive (jcstid), numsmt) ;%get new active file% %need
new active file%
%now check room here%
#first get current number of statements in file%
FIND SF(stid) ["Used = "] NP Tzl @D t22;
®¥vempsr¥* « 2zl z2; %number of used slatements%
usedsmt ¢ VALUE (&tempsr);
%now check to see if room%
IF usedsmt+numsmt > jmaxsmt THEN
BEGIN %no more room in this active%
relactive(stid, Jjcstid); %release it%
RETURN (newactive(Jjestid), numsmt) ;
END
ELSE RETURN (openactive(stid, FALSE), usedsmi+numsmt);
END,

(newactive)PROC (Jjecstid);
%This sets up a new active file, and opens it, returning the stid
of the origin statements
LOCAL STRING tempsr/35];
IF (Jjestid := getail(getsub(Jjecstid))) = Jestid THEN
#tempsr#% ¢« " (ACTIVE) (JRNL1l) Used = Q"
ELSE
BEGIN
CCPOS SF(Jjestid);
IF NOT FIND #NP "(JRNL" tpl 18D Tp2 THEN
SIGNAL(=5, 8"Bad Entry in Jcat File"); %Make it look like a
pad file%
stempsr# ¢« pl p2:;
bumpstr (8tenpsr) ;
#tempsr# « "(ACTIVE) (JRNL", %tempsr¥, ") Used = QO";
END;
Jjestid « ecis(Jjestid, stempsr, suecdir);
RETURN (openactive(Jjecstid, TRUE));
END.,

(openactive) PROC(stid, newfile);
%This routine fetches the active name from the statement
identified by stid, and opens the file, returning the stid of the
origin statement%
%Note that lock is not a concern because JCAT MUST BE OPEN which
is locked%
LOCAL STRING tempsr/[l5/;
COPOS SF(stid);
IF NOT FIND 8NP "(ACTIVE) (" tpl [')/ Tp2 €p2 THEN
err(é"Jjectl Error");
#tempsr* ¢ pl p2;
IF newfile THEN
BEGIN
stid ¢« openwk(0, jfilname(Stempsr));
setaccess(stid.stfile, Jjrnlaccess);
closeu(stid.stfile);



XXX, 3=JAN=72 19:29 CNLS>JOLIBE.NLS;69 9

END;
stid « O;
stid ¢ openlock(0, jflname(stempsr));
BLOLfEf L%
RETURN (stid) ;
END.

(relactive)PROC (stid);
%This procedure releases the active identified in the Jjcat by
stid%
CCPOS SF(stid);
FIND ["(ACTIVE) "] tplj;
ST pl « pl SE(pl);
RETURN END.

%Error handling Routines%
(jerror)PROC(errval);

LOCAL count;

jelosfl():

IF errval < O THEN
BEGIN
rl « chbptr(empty) + 8auxlit;
r2 « =errval .V L4B11l;
r3 ¢« 0;
{JSYS erstr;
GOTO baderr;
GOTO baderr:
count « O3
(paderr): dismes(2,&"System Error");

END
ELSE dismes(2,errval);
nlsrsti():
END,

%Routines for wrapping up Journal and returning to NLS%
(jreset) PROC;
jelosfl():
%toff 13%
IF jtimfe THEN Jtime();
nlsrst();
END.

(joetle)PROC
%Come here on a control c#%
1J8YS 1ulB; %cis==clear intterupt system (can't us set because of
duplicate symbol)%
jelosfl();
rl « =1; %exech
re « 2Bll; %TC channel?%
lJSYS iic; %cause interrupt%
rl « 2000; (JSYS disms; %for TENEX timing Problem%
dismes(2,8"Journal Process Aborted by tC");
nlsrst();
END.

%Routines dealing with files, directories, etc%
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(jelos£fl) PROC;
%Close any Jjournal files which may be open%
IF jworkstid.stfile THEN close(jworkstid.stfil
IF jeatstid.stfile THEN close(jcatstid.stfile =
IF jrnlstid.stfile THEN closeu(jrnlstid.stfile :
IF diststid.stfile THEN close(diststid.stfile 1=
IF numstid.stfile THEN close(numstid.stfile := O
IF NOT jsavaccess THEN disabaccess (0, Jjrnlaccess
%connect back to original directory%
conjdir (FALSE) ;
%3et subsystemn name back to regular nls%
rl « nlssbn;
lJSYS setnm;
%De=activate ¢ channel%®
rl « ULB5;
|J8YS remj %read channel mask==134%
IF rl ,A 1Bil THEN
BEGIN %de=activate it%
rl ¢ LBS5;
re « 1Bll;
|J8YS dic;
rl ¢ 33
1J8YS dti;
END;
RETURN END,

== P

(jJ£lname) PROC (astr);
%This preocedure accepts the name part of a Journal file name as
parameter, and constructs a full name from it,

10

a

The extenxion is always .NLS, and the user under whom it is stored

is Journal if iv is running as the real system, ana duvall
otherwise (i,e, if jdebug is true)%

%The file name is built up in the string 'Jnamstir', whose address

is returned%

REF astr;

IF Jjdebug THEN #Jjnamstr+ ¢ "<DUVALL>"
ELSE #jnamstr# ¢ "SJOURNAL>";
#Jnamstr# e s#jnamstr#, %astr#, ".NLS";
RETURN($Jjnamstr) ;

END,

(conjdir)PROC(cflag);
%2IF cflag true, connect to Journal Directory, saving info for
curren one, Flag false means connect bacK%
LOCAL byt; :
IF cflag THEN
BEGIN
r3 ¢ pyt « choptr(0)+3jpassw;
1JSYS gtpsw; %read the password for connected directory®
jpassw.lL ¢ slngth(byt, r3);
1J8YS gjinf;
jdirn « r2; %conncted directory number%
rl « 1;
r2 ¢ chbptr(0) + (IF Jdebug THEN S"DUVALL" ELSE 3"JOURNAL");
1JSY¥S stdir;
GOTO derr;
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GOTO derr;
rl.lh « 0O;
r2 ¢ chbptr(0) + (IF jdebug THEN $"WSD" ELSE $jnlpsw);
IF NOT SKIP 1JSYS c¢cndir THEN
(derr): err(s"Directory Connect Failed");
END
ELSE
BEGIN
IF (rl ¢ jdirn) = O THEN RETURN;
r2z ¢ chbptr(0) + 8jpassw;
IF NOT SKIP |JSYS cndir THEN
BEGIN
lJSYS gJjing;
re « 0;
IF NOT SKIP |JS8YS cndir THEN
err($"Connect return failed=~left in Journal");
err($"connect return failed==returned to Login Directory");
END;
END;
RETURN
END.

%Procedures concerned with locking/unlocking Journal?%
(jolock)PROC;
%This procedure checks the global flags which tell the current
status of te Journal:
Flag O: (Password jlock): If on Return True, Otherwise False.
This flag is used 1o prevent new users fromm entering the
Journal, but does not stop persons who are already in the
process of using it.
Flag 1l: (password Jjbfil): If on, a file error has been notea in
one of the Journal files, Discontinnue the current Journal
Process immediately with s werr.
%
IF jdebug THEN RETURN(FALSE);
IF flagut(l, #tstfg) THEN
%Some one has found a bad file somewhere%
Jerror(8"Journal File System Error==Ccall NIC Center"):
RETURN(£1lagut (0, 3ststfg));
END.,

(lockjo) PROC (type) ;
%Type = 1 for bad file lock (flag 1), and 0 for jlock (flag 0):
%
IF type > 1 THEN err($"Illegal Flag Number");
flagut(type, Esetfg):
gpecttyout (0, $"Journal Locked");
specttyout (30B, &"Journal Locked");
RETURN;
END,
funlkjo) PROC (type) ;
#Type indates flag to be unlocked... =1 means all%
IF type NOT IN (=1, 1] THEN err(&"Illegal Flag Number");
IF type # 1 THEN flagut(O, 8rstvig);
IF type # O THEN flagut(l,$rstfg);
RETURN;
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END.
%Procedures for initialising Journal Entry Mode%
(jntrint) PROCEDURE;
%This procedure checks the journal flags and sets the system name
upon entrance to the journal.?%
jdirn « 0:
IF jdebug THEN
BEGIN
erieil;
typeas(b"Experimental Journal System==DO not use'");
erlf();
END
ELSE
IF jolock() THEN
err(%"Journal system temporarily not available");
%8et up subsystem name for statistics%
IF NOT Jnlsbn THEN Jjnlsbn ¢ {AUXCOD, getsbn)($jnlnam);
rl « jnlsbn;:
lJSYS setnm;
RETURN;
END.

(jctlcint) PROCEDURE;
%This procedure performs the initialization required to service
control ©¢ in the program.%
rl ¢ }4B5;
|JSYS rpcap;
r3 ¢ rgz;
IJSYS epcap; %Permits process to assign 1TC for pseudo interrupi%
rl.lh « 3;
I‘l-!"h Lo 2:
|JSYS ati;
rl ¢ LB5;
r2 « 1Bll;
|JSYS aic; %Activate tC interrupt channel = 2%
conjdir (TRUE) ;
Jt0 & Jtl ¢ jt2 ¢ Jt3 ¢ Jth ¢ jt5 ¢ jté « Jt7 ¢ 18 ¢ jL9 ¢ jrlo
Jtl ¢ jtl2 e jtli3 € jtly « jrls « 0;
RETURN;
END,

%Timing Procedures%
(jtime) PROC;

%Type out Jjthe jtimes of jthe run, and wait for a command accept
pefore proceeding%
jtimout (8"Open File", Jjt0);
jrimout (&"open lock", Jjtl);
Jjtimout ("Open Work", jt2);
jtimout (#"Set J Header", jt3);
Jtimout (3"Find Active", Jti);
Jtimout (8"enter J doc", Jjts5);
jtimout ($"Update & delfn", jté);
jtimout (#"Update JCAT", Jt7);
Jtimout (&"Jcat Entry", Jjt8);
jtimout (8"Dist Doc", jt9);
Jtimout ($"check Ident", Jtll);
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jtimout (#"Set J Work", jtlz);
jtimout ($"Get Number", jtlo);
jtimout (&"Used Numbers", Jjtlh);
jtimout (&é"Check Number", Jjtlhs);
jtimout (&"Summed Total ",
JLO+Jtl+Jt2+Jt3+th+Jto+Jt6+ LT+ 18+ 319+ 010+ Jt1l1l+jtl2+J0lh+jtl5);
jtimout ($"Elapsed Total", Jjtl3);
erlf();

typeas(&" (Type CA)"):

WHILE input() # CA DO NULL;
RETURN END.

(jtimout) PROC (astr, value);
REF astr;
LOCAL STRING st{20/:
erlrd)s
typeas (&astr);
typeas (" = ");
#st# « STRING(value):
typeas($st);
RETURN END.

FINISH
%Programs for including-=-removing timing code%
%This program will turn all coded timing statemnts into real ones
whieh get compiled?%
PROGRAM D
DECLARE STRING sl1/[10/, 82(10J;
DECLARE TEXT POINTER 21, %2, z3, 2L}
(p) PROC;
LOCAL offlg;
IF NOT FIND f("ton"/"toff"] THEN RETURN(flag ¢ FALSLE);
FIND NP %zl SLD 1223
of£1lg ¢ FIND SF(zl) ["toff"];
#8l% ¢ 'j, 1zl z2;
IF offlg THEN
BEGIN
ST zl ¢ "%Time off % IF Jtimfg THEN";
zl ¢ cis(zl, 8"BEGIN", down);
zl ¢ cis(zl, $"}JSYS Jobtm;", sucdir);
zl « cis(zl, 8" ", sucdir);
ST zl « #8l#, " ¢ ", %gl*x, "
=jt0=jtl=Jt2=dt3=jth=Jt5=3t6=Jt7=Jt6=3t9=3tL0=Jt1l=jt1l2~ 3t
13=3tlh=jtlB5+rl;";
els(zl, 8"END;", sucdir);
END
ELSE
BEGIN
ST zl ¢ "%Time on % IF jtimfg THEN";
zl ¢ cis(zl, ®"BEGIN", down);
7zl ¢ cis(zl, $"IlJSYS Jjobtm;", sucdir);
zl « cis(zl, $" ", sucdir);
ST Zl € %gl%, " ¢ ", %#gl%, "
+ L0+ JLL+ JL2+ L3+ JLh+ Lo+ JLo+ JU T+ I8+ L9+ Jt10+JL1L+ 112+ it
13+ JLlh+jtls=rl;";
cis(zl, $"END;", suecdir);
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END;

ZNow get rid of extra sl% .
FIND SF(zl) ([#sl%] [#sl%] [%gl*] T22 < [('+/'=)] > t3l}
ST 2l z2 ¢« NULL;

flag « TRUE:

RETURN:

END,

FINISH

%This program will turn real timing statments which get compiled back
into coded ones which do not%
PROGRAM ro

DECLARE STRING sl1/10/, s2(10];
DECLARE TEXT POINTER 21, 22, Z3, ZlL;
(rp) PROC; .

IF NOT FIND [("%Time on %"/ "%Time off %"] 1zl THEN RETURN
(flag « FALSE);

IF FIND SF(zl) ["off"] THEN #sl% ¢ "htoff " ELSE #sl¥* ¢
"%ton "

22 « getsuc(getsuc(getsub(zl)));

CCPOS SF(z2);

IF NOT FIND 8NP "jt" 1z2 18D t2z3 THEN RETURN(FALSE);

ST 2zl « #%*sl%*, 22 z3, '%;

cdp(z2);

RETURN(flag « TRUE);

END.

FINISH
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{NLS>JUMP,NLS;96, Z=MAR=T72 15:23 BLP ; ["gettgt"];
FILE Jjump % L10 to <REL~-NLS>JUMP %
Fervevendeclarationfee e e

% variable declarations %

DECLARE EXTERNAL

dshdrl = L, %length jump stack header%
jsentl = kL, %length jump stack entry%
jsmxnt = 5, %maximum number of entries in jump stack%

jsnbr = 5; %maximum number of jump stacks%

DECLARE FXTERNAL
1sentl = 3, %length link stack entry%
lsmxnt = 5, %maximum number of link stack entries%
lsasm¥ = 11; %#mz¥ nbr words for string containg file
name%

DECLARE Jjagemax = 63, lagemax = 63;

DECLARE gtjoif = 10LO2Bl;

DECLARE next = TRUEK:

DECLARE reset = FALSE, clear = TRUE;
DECLARE new = 0, none = 03
DECLARE return = TRUE, ahead = FALSE;

frassaescOmmand svecificatioNecssses?

(newjmp)
%This routine determines the jump command specified and
transfers to the appropriate routine.%
o e e
PROCEDURE;
LOCAL char:
zap();
arm();
LOOP
BEGIN
CASE (char ¢ lookel()) OF
=8P, =CA, =D: NULL;
ENDCASE input():
CASE char OF
='a: qgja();
Ib: qgJewrl(char):
le: qJjstr(contnt);
'd: qJlJetrl(char);
te: qle();
Ifs QJf(ls
'h¢ qJetrl(char):
'i4, =CA, =8P, =D: aqjetrl('i);
1d: qdetrl('i);
1y qdl()s
'n: ‘aqjstr(seaname);
'o: qJjetrl(char);
'p:  ajetrl(char):
'r: qir();
'8: ¢Jjetrl(char);

LU [t [ T T I T [ I (T 1 T { |
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='t: aqJjetrl(char);
s'u: qdjetrl(char);
='w: qjstriword);
=CD: GOTO STATE;
ENDCASE gnm()
END;
END.,

Feeenecintrafile jumlp control.ice,ss?

(ajctrl) % control for most Jjump commands %

#This routine handles the jump commands that include
structure specification in the command ===~ like down, up,
ete, It exvects a charcter that specifies the command,
finds the jump target, and recreates the disvlay. Control
remains in the command until a new command is entered.%
e e b e L L L L)
FROCEDURE (char) ;
LOCAL tgtdpa, stid, srcdpag
REF tgtdpa;
ate()s
LOOP

BEGIN

CASE char OF

='b: DSP(< Jump to Back) ;
=ta: DSP(< Jump to Down) ;
='h: DSP(£ Jump to Head) ;
='1i: DSP(< Jump to Item);
='0: DSP(< Jump to Origin):

=tp: DSP(< Jump to
='s: DSP(< Jump Lo
='t: DSP(¢ Jump to
='u: DSP(K Junp to
ENDCASE
BEGIN
char « 'i:;
REPEAT:
END3 .
IF char # 'o THEN &tgtdpa ¢ spcitm( :stid)
ELSE
LOCP
BEGIN
stid € origin;
IF lookc() # CA THEN newimp();
srcdpa ¢ dsparea(lcda(input()));
stid.stfile « /[srecdpa/.dacsp.stfile;
disarm();
IF &tgtdpa « gettgt(srcdpa, stid) THEN EXIT LOOP:
END;
CASE char OF
='b: tgtdpa.dacsp ¢« getbck(tEtdpa,.dacsn);
=1d: tgtdpa.dacsp ¢ getsub(stia);
='h: tgtdpa.dacsp « gethed(stid);
='i, ='o, = CA: tgtdpa.dacsp ¢ stid;
='p: tegtdpa.dacsp ¢ getprd(stid);
='8: tgtdpa.dacsp «

Predecessor);
Successor);
Tail):

Up)i

B (P N G G e ¥
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IF getftl(stid) THEN stid ELSE rgetsuc(stid);

='t: tgtdpa.dacsp ¢ getail(stid);

=lu: tgtdpa.dacsp ¢ getup(stid):

ENDCASE NULL;
jmpdpy (&tgtdpa) ;
IF char = 'o THEN char « 'i; %J origin becomes J item%
END;

END,

(qjstr) % Jjump content/name/word % )
%This routine processes the jump name first and next, word first
and next, and content first and next commands. It eXpects an
argument that indicates which flavor of jump it's processing: 1
is name, 2 is word, and 3 is content.%

A teded bt L LR A DAL LA L 4
PROCEDURE (type) :
LOCAL tgtdpa, stid, char;
REF tgtdpas
atg();
CASE type OF
=seqname, =name: DSP(< Jump to Name 1 First);
=word: DSP(< Jump to Word T First);
scontnt: DSP(K Jump to content * First)
ENDCASE NULL;
CASE (chear ¢ lookc()) OF
z=tn, ='f, =8BC: input();
ENDCASE;
CASE char OF
='f, =SP, =BUG:
BEGIN
ave();
CASE type OF
=se(gname, =name: DSP(L Jump to t Name First);
=word: DSP(<{ Jump to 1T Word First):
=gcontnt: DSP(< Jump to T Content First)
ENDCASE NULL;
IF NOT &tgtdpa ¢ spcent(type, origin :stid) THEN
REPEAT('f) 3
tEtdpa.dacsp « stid;
jmpdpy (&tgtdpa)
REPEAT('n);
END;
z='n:
BEGIN
atg();
CASE type OF
=seqname, =name: DSP(< Jump to ¢ Name Next)}:
=word: DSF(< Jump to * Word Next):
=contnt: DSP(L Jump to t Content Next)
ENDCASE NULL: _
IF NOT &tgtdpa « spcentl{type, next :stid) THEN
REPEAT('n);
tgtdpa.dacsp ¢ stid;
jmpdpy (&tetdpa) s
REPEAT('n) ;
END;
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zBC: qjetrl(ii);
ENDCASE newimp ()
END.

(aja) % Jump ahezd %
%This is the JUMP AHEAD command. The next entry is removed
from the stack and that view is created by SPCDPY. Control
returns to the JUMP AHEAD command,%
om0 )
PROCEDURE ;
LOCAL dpa;
LOOP
BEGIN
atg();
DSP(.s. Ahead);
IF Jjwait() THEN
BEGIN
dpa ¢« dsparez(lcdal()):
bumpjs(dpa)l;
jmpdpy (dpa) ;
zap();
END
ELSE newimp():
END3:
END.

(qijr) % Jjump return %
%This is the JUMP RETURN command. The current view is
pushed on the jump stack. Then the previous view is popped
coff of the stack, and that view i1s created. Control remains
in the JUMP RETURN command,%
G om o o o e
PEOCEDURE;
LOCAL dpa;
LOOP
BEGIN
atg ()3
DSP(...Return);
IF jwait() THEN
BEGIN
dpa ¢ dsparea(lcda());
IF rezdjs(dpa) # [dpa).dacsp THEN pushjs(dpa);
popis(dpa);
jnpdpy (dpa);
END
ELSE newimp();
END;
END.

(gje) % Jump end %
%This procedure handles all of the Jump to End of ,..
commands. If the item specified has an end that is not
itvselt, control passes to Jump Iten; otherwise, the display
is recreated using the specified target, but control remains
in the Jump End command.%

%-- ----- —ﬂ-----ﬂ--ﬂtdﬂ%
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PROCEDUKE;
LOCAL stid, dpa, c¢char;
REF dpa;
ate();
DSP(<Jump to End of 1 Item);
LOOP
BEGIN
CASE (char ¢ input()) OF
=les
BEGIN
DSP(... Content);
édpa ¢ spcent(contnt, origin istid);
END;
='d:
BEGIN
D3P(... Down);
&dpa ¢ speitm( :stid);
stid ¢ getsub(stid);
END;
=1h;
BEGIN
UD8P(seo Head);
&dpa ¢ speitm( :stid);
stid ¢ gethed(stid):

BEGIN
DSP(+as Item);
&dpa « speitm( :stid);
END;
='n;
BEGIN
DSEP(eea Nﬂ.mﬂ’; E
&dpa ¢« spcent(name, origin :stid);
END:
='c:
BEGIN
DSP(ees Origin) H
&dpa ¢« speitm( :stid);
stid.stpsid ¢ origin;
END;:

BEGIN
DEP(... Predecessor);
&dpa « spcitm( istid);
stid ¢ getprd(stid);
END:
='g:
BEGIN
DSP(... Successor);
&dpa « speitm( :stid);
stid « IF getftl({stid) THEN stid ELSE getsuc(stid);
IF stid.stpsid = prigin THEN stid ¢« getsup(stid):
END;
=Mt
BEGIN

5
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DSP(ess Tall):
&dpa « Speitm( :stid);
stid « getail(stid);

BEGIN
DSP(... Up);
&dpa ¢ speitm( :stid);
stid ¢« getup(stid):;
END;
=ly:
BEGIN
DSP(... Word):; ,
&dpa ¢ spcent(word, origin :stid);
END;
=BC: newimp();
=CD: GOTO STATE;
=CA: REPEAT ('i);
ENDCASE
BEGIN
{NCTRL, caqm>();
REPEAT;
END3
dpa.dacsp ¢« getvnd(stid, dpa.davspec.vslev);
jmpdpy (&dpa) ;
IF dpea.dacsp # stid THEN EXIT;
END; -
gietri('i);
END.

%eesassinteriile jump Controlessese®

(ajl)
%This statement is cslled by the JUMP LINK command., When
control returns to this routine, 2 new command has been
specified.%
Gy o v 1 g e
PROCEDURE;
DSP(ssalink);
qjlex();
newijmp():
END,

(qjf)
%This is the JUMP FILE command dispatch routine,

JUMP FILE LINK operates essentially the same way as JUMP LINK,
JUMP FILE RETURN pops one file element from the file jump
stack and offers it in the name area, A command accept
results in jumping to that file, with the view set as it was.
Any other character (exXcept CD) results in the next element
peing popred from the file Jjump stack and offered in the name
area.
JUMP FILE AKEAD ie similar to RETURN except that the file jump
stack is read in the opposite direction.%

Tommmm e e

PROGEDURE;
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LOCAL char,dpa;
REF dpa;

atg();

LOCP

BEGIN

DSP(<Jump File 1 Link);

dn(g"");

CASE char ¢ input() OF
=CA: REPEAT ('l)
=CD: GOTO STATE
=BC: newimp();
='):

BEGIN
DSP( aae
ajlex():
END;
='r:
BEGIN
DSP( ..s Return);
CASE char ¢ input() OF
=CA:
BEGIN
&dpa ¢ dsparea(lcda());
&dpa « gqjfra(&dpa, return);
Jmpdpy (&dpa) ;
END;
=CD: GOTO STATE;
ENDCASE REPEAT 2(char);
END;
=1a:
BEGIN
DSP( ..« Ahead):;
CASE char « input() OF
=CA:
BEGIN
&dpa « dsparea(lcda());
&dpa ¢ qjfra(&dpa, ahead);
Jmpdpy (&dpa) ;
END;
=CD: GOTO STATE;:
ENDCASE REPEAT 2(char):

Link);

END;
ENDCASE qjetrl(char);
END;
END.
(gjlex)

%This routine is used by the JUMP LINK and JUMP FILE LINK
routines to get the link specification, This routine calls
LINKEX to perse the 1link and verform the necessary I0. control
remains in this routine until the user enters something other
than a bug or space as the first character of a link
specification.%

fomm -

PROCEDURE;

LOCAL TEXT POINTEER ptr;
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LOCAL olddpa, newdpa;
REF newdpa;
LOQP
BEGIN
CASE lookc() OF
=CA: INPUT BUG ptr;
=CD:
BEGIN
input();
GOTO STATE;
END;
=3P
BEGIN
af();
input();
#1lit# « NULL;
IF lookec() # '( THEN #*1lit* « ' (3
INPUT TEXT 1lit;
IF #lit#[1lit.L] # ') THEN %*1lits e #1it%, ');
ptr.stfile « 0:
ptr.stastr « TRUE;
ptr.stadr « $lit;
pUril] « 13
END;
ENDCASE newjmpl();
olddpa « dsparea(lcda());
lnkspec(l, &ptr, #stno, $stn2, #stn, &nun);
IF stn2.L # empty THEN
BEGIN
dnl(éstn2):
wait();
END
ELSE
BEGIN
#stng+* ¢ *[[[olddpal).dalink/.lfilnm)#}
IF stn.lL # empty THEN
BEGIN
dn(&stn);
wait();
END;
END;
&newdpa ¢« dsparea(leda()):
IF NOT <IOCTL, compas> ($stn2, [newdpa.dalink/.lfilnm)
THEN linkex(&newdpa, $stn2, $stn, &num)
ELSE
BEGIN
gjil(&newapa, Sstn, &$num);
IF <PRMSEPC, invspc> (&newdpa) THEN
{PRMSP(C, putvspc> (&newdpa);
END;
#8tn* ¢ NULL:
dn(gstn);
jmpdpy (&newdpa) ;
END;
END,
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(Lnkepec)
Zupdate comments%

%#This routine is used by both the TODAS and NLS link
delimiter routines; it expects the most current position
on the spec stack to contain a T=pointer that specifies
where the search for a link should begin., It eXpects a
pargmeter that tells which 1link after the T=-pointer should
be useéed.
This routne ecalls QIFL to recreate the display if the
link points to the file that the link apbpPears in.
Othervise it pushes the current display start and vspecs
onte the Jump stack for the current file; opens the new
file, pushes the file onto the link stack, and then
pushes the neW display start and vspecs onto the jump
stack for the new file.
It expects a second parameter that tells which display
area the link appears in.%
pELELLE LB ELELEL EETT
PROCEDUREF (1lnknum, tptadr, usrstg, fnmstg, stnstg, vspste):
REF usrsteg, fnmstg, stnstg, VsSpstuig;
<TXTEDT,lparsed (tptadr, 8pl, $p2, 8p3, $pk, $p5, &pé,
$p7, Spb, lnknum):
¥usrstg* ¢« pl n2; % user %
astruc (&usrstg);
*fnmstg#* « p3 phi % file name %
astruc (&fnmstg) ;
¥stnstg* « pb pé; % statement name, number, or marker %
IF stnstg.lL > empty AND #stnstg#*[l] NOT= '# THEN
astruc (&stnsteg)
#*vspsteg#* « p7 p8; % view %
IF usrstg.lL # empty AND fnmste.L # empty THEN
#fnmstg# ¢ '¢, #usrstg*, '>, *fnmstgx
ELSE IF NOT [tptadr/.stastr AND fnmstg.L # empty THEN
BEGIN
<NLS, IOEXEC, gdftdir>( [tptadr]/.stfile, &usrstg);
#fnmstg* & '¢, *usrstg¥*, '>, #fnnstgw;
END;
IF stnstg.l = empty THEN #stnstg# « '0;
RETURN;
END.

(1linkex)

PROCEDURE (dpa, fnmsing, stnstg, Vspstg):

LOCAL stid, fno:

stid ¢ nfstid(fnnstneg, stnstg):

uplkda(dpa, fnmstneg, vspste, stid):

IF [(flntadr(fno ¢ stid.stfile)/.fllock THEN lockmes(fno):
%Type out file locked mnessage? )
%It is not clear that this is the proper place %00 type out
this message, but it currenty seems to be the most central
without beine a core routine, and it aslready fiddles with
display areas%

RETURN ;

END.
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(nfstig)
PROCEDURE (fnmstng, stnstg);
%Given two strings, the first containing z file name, the second
a Statement name, statement number, or marker, thies routine will
open the file, and return the corresponding stid.%
frmmmmemmnma==G
LOCAL fno;
LOCAL TEXT POINTER tptr;
LOCAL STRING 1lkmkst(15];
REF dpa, stnstg:
tptr « origin;
tptr.stfile ¢ fno ¢« jmpopn(fnmsing);
IF stnstg.l > empty AND #stnstgx#(1l] = '# THEN %marker%
BEGIN
#lkmkst* ¢ wstnstg#(2 T0 stnstg.L];
totr ¢ <INPFBK, lkmkr>($lkmkst, fno : tptr/[l/);
IF tptr = endfil THEN err($"No such marker"):
END
ELSE %staztement name or number%
BEGIN
specreg (&stnstg, name, #tptr);
IF tptr = endfil THEN err($"No such name"):
END:
RETURN (tptr) ;
END.

(ofstid) )
%Given the display area address in order to get the file numper
and a string containing a statement name, statement number, or
marker, this routine will open the file, and return the
corresponding stid.%
1 o e e i ot
PROCEDURE (dpa, stnste):
LOCAL TEXT PQINTER stptr;
LOCAL STRING lxkmkst/5]:
REF dpa, stnste;
stptr ¢ origing;
stptr.stfile ¢ dpa.dacsp.stfile;
IF stnstg.L > empty AND *stnsteg#(1l) = '# THEN %marker%
BEGIN
#LKmKkst# ¢ #stnstex/2 T0 stnstg.l);
stptr « <INPFBK, 1lkmkr>(3lkmkst, stptr.stfile : stptrflJ);
IF stptr = endfil THEN err(3"No such marker");
END
ELSE %statement name or number%
HEGIN
specreg (&stnstg, name, &stptirl;
IF stptr = endfil THEN err(&"No such name");
END;
RETURN (stptr);
END,

(uplkda)
PROCEDURE (dpa, fnmstng, vspsteg, stid);
%@iven the address of a display area, a string containing the
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name of the file, one containing a string of viewspecs, and an
stid, this routine will update the display area's viewspecs,
dacsp, and link stack to contain the current information.%

0 om0 v

REF dpsa;

IF stid.stpsid = endfil THEN abort(l):;

pushjs (&dpa);

pushls (&dpa, fnmstng);

dpa.dacsp « stid:

dpa.daccnt « empty;

dpa,daenpty ¢« FALSKE;

IF vspstg THEN feedlt(&dpa, vspstg);

freflnt();

RETURN;

END,

(qjil)

%This routine is used durine the JUMP LINK command for an

intra=file 1link in a single display area. Given the address

of a display area, this routine pushes the current view

on the Jjump sStack, and regenerates the display in accord

with tne link.
This routine expects the name and nunp registers to bpe
initialized as in LINKEX, (i.e., %*stn# should contain
the name cf the destination, #num¥% an A=string containine
the viewspecs). If there is no name specified, then
the current display start is used.?%

Tom o = e 0

PROCEDURE (dpa, stnstg, vspsteg);

LOCAL stid;

LOCAL STRING lkmkst/[5];

REF dpa;

stid ¢« ofstid(&dpa,stnstg);

pushjs(&dpa);

feedalt (&dpa, Vvspstg):

dpa,dacsp ¢ stid;

RETURN;

END,

(qjfra)

%This procedure is used during JUMP FILE RETURN and AHEAD.
Given the address of a display window record, this routine
will pop or bump the link stack until a command accept is
encountered, If the second argument is TRUE (s return),
then the link stack is popped; otherwise it is bumpned,
It then senses the area in which the display is to be
recreated, uses SETLS to update the target area's stacks,
and then returns the address of the target display area.%
G om0
PROCEDURE (srcdpa ,direction):
LOCAL fileno, linkp, Jjumpp, tgtdpa;
REF linkp, jumpp;
IF NOT &linkp ¢ [srcdpa].dalink THEN abort (17):
LOoQp

BEGIN

&linkp « IF direction = return THEN linkp,lsprev
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ELSE linkp.lsnext;
dn(linkp.i1filnm);
CASE input() OF
=CA: EXIT;
=CD: GOTO STATE:
ENDCASE NULL;
END:
tgtdpa ¢ dspareal(lcda()):
pushjs (tetdpal;
fileno ¢ jmpopn(linkp.lfilnm)
restjs(&linkp, fileno):
IF srcdpa # tgtdpa THEN
pushls(tgtdpa, linkp.lfilnm)
ELSE [tetdpal).dalink e &linkp;
setdpa(tetdpa, [tgtdpa/.dalink);
freflnt();
RETURN (tgtdpa) 3
END,

%---.--target SPECifiC&tiDn--.--.%

(spcent)
%This procedure is used during Jjump name, word, and content
processing.
It offers the contents of CONREG in the statement name
register, and permits the user to modify this string or choose
4 new one,
It treats the strineg as a name if passed a 1 as the first
argument, a a word, if passed a 2, and as content if passed a
3. SPCENT uses SPCREG to find the appropriate statement and
put it on the speec stack.
If the second argument is FALSE (= origin), the search for the
target stid hegins at the origin of the f£ile indicated in the
SRCDPA; otherwise it begins at SRCDPA,DACSP.
It saves the Strineg in COWREG and clears the name register, The
user is given the chance to change viewspecs; the current view is
pushed on the jump stack, and the new vspecs are sSaved in the
target display area. The address of the tareet display area and
the target stid are returned,?%
=
PROCEDURE (type, start):
LOCAL TEXT POINTER stptr;
LOCAL tgtdpa, srcdpa}
REF srecdpa;
LOOP
BEGIN
CASE type OF
=segname, =name: *¥gLni#k « #namreg#:;
=contnt, =word: ¥Stn# ¢ *conregs;
ENDCASE NULL:
dn(gstn);
CASE lookc() OF
='a: %accepi/edit proffered name%
BEGIN
input():
CASE type OF
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=seqname, =name: INPUT NAME stn CA;
=word: INPUT WORD stn CAj;
=contnt: INPUT STRING sin CA:
ENDCASE NULL:
END
=CA: ‘%bug text?
BEGIN
#8tn¥e NULL:
CASE type OF
=seqname, =name: INPUT NAME stn CA;
=word: INPUT WORD stn CA;
=contnt: INPUT STRING stn CA;
ENDCASE NULL;
END;
=8P: %Llype in text®
BEGIN
input();
af();
¥stn* « NULL3:
dan(8stn);
CASE type OF
=seqname, =name: INPUT NAME stn CA:
=word: INPUT WORD stn CA;
scontnt: INPUT STRING stn CA;
ENDCASE NULL;
END3
=D: %statement number%
BEGIN
af();
#8tn* « NULIL;
dn($stn);
INPUT NAME stno CA:
END;
ENDCASE
BEGIN
#Stn® ¢ NULL:S
dn($stn);
newjmp();
END3
&srcdpa ¢ dsparea(lcdal());
stptr « grcdpa.dacsng
stptrfl/ ¢ 1:
IF start = origin THEN stptr.stpsid e origin
ELSE IF type # seqname THEN stptir « getnxt(stptr);
specreg ($§stn, type, &stptr);
IF stptr = endfil THEN
CASE type OF
=seqname, =name: abort(l);
=word: abort(ls);
=contnt: abort(ls);
ENDCASE abort(0);
IF tgtdpa ¢ gettgt(&srcdpa, stptr) THEN
BEGIN
CASE type OF
=segname, =name: #namreg# ¢ *stn*;
=contnt, =word:

13
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BEGIN
srchtype & type;
#conreg® & #gstn*;
END;
ENDCASE NULL3:
#s5tn# ¢ NULL:
an{sstn) ;
RETURN (tgtdpa, stpir);
END
ELSE bmcff():
END;
END,

(spcitm) )
%This routine is used for iten recognition while processing jump
commands, A bug mark identifies the target statement; 1f the
user enters a digit, the feollowineg string is interpreted as a
statement number; if a space, a statement name, Any other
character is interpreted as a new Jjump command,
The user is given the chance to change viewspecs; the current
view is pushed on the jump stack, and the new vspegs are saved in
the target display area., The address of the target display area
and the target stid are returned.%
Gy o e e e
PROCEDURE;
LOCAL srcdpa, tgtdpa;
LOCAL TEXT POINTER stptr;
REF srcdpa;
LOCGP
BEGIN
CASE lookc () OF
sCA:
BEGIN
INPUT STID stptr:
&sycdpa ¢ dsparea(lcda());
END;
=SP: %statement name%
BEGIN
#stn#* « NULL;
input():
INPUT NAME stn CAg
&srcdpa ¢ dsparea(lcda());
stptr ¢ srcdpa.dacsp;
stptr.stpsid « origin;
specreg ($stn, name, $stptr);
IF stptr = endfil THEN abort(l):;
*3tn#* ¢« NULL;
dn(%stn);
END;
=D: %statement number%
BEGIN
#stno% « NULL:
INPUT NAME stno CAj;
&8rcdpa ¢ dsparea(lcda());
stptr « sredpa.dacsp:
stptr,.stpsid e origin;
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specreg (&stno, name, &stptr);
IF stptr = endfil THEN abort(l):
#gtno%* « NULL;
dan(%stno) :
END;
ENDCASE newimp();

disarm();

IF tetdpa ¢ gettgt(&srcdpa, stptr) THEN RETURN (tetdpa, stptr)

ELSE bmoff():

END;

END.

(gettegt) . )
%Given a2 source displasy area and new stid, this routine will
permit the user to change the viewspecs, I! then pushes the
current view on the source jump stacK, updates the target display
area vievwspecs, If the user aborts the view specification, the
routine returns FALSE; otherwise, it returns the address of the
target display area.%

Gpom o e e G
PROCEDURE (srcdpa, stid);
LOCAL tgtdpas;
LOCAL STRING fname[l00];
REF srcdpa, tgtdpa;
IF &tgtdpa ¢ invspc(&srcdpa) THEN
BEGIN
#fnames* ¢« NULL:
filnam(stid.stfile, %$fname);
IF #[([tegtdpa,dalink/.1filnm/% = *fnames THEN pushjs(&srcdpa)
ELSE
BEGIN
pushjs(&srcdpa);
pushls(&tgtdpa, $fname);
END:
putvspec (&tgtdpa);
ENDg
RETURN (&tgtdpa) ;
END.

%-n-.--find dump tarﬁet-.-...%

(namelocok)PROC(stid, astr):
%Tnis routine accepts an stid and astring, an finds the named
statemet in the file indicated by the stid, retruning the stid
oof the statemet or endfil. Uses non=sequential looKup. Copies
name astring into local string S0 a literal may be used in the
call?
LOCAL TEXT POINTER zl;
LOCAL STRING namest/hOJ;
REF astr;
FIND SF(stid) tzl;
#NAmest¥ & HaSLr;
lookup (&zl, $namest, name);
RETURN(21);
END.

(lookup) PROCEDURE (ptr, astrng, type);
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%THis routine accepts a pointer, string, and type, and does a
search throuegh the file indicated by the pointer for the statemnt
indicated by the string and type as follows:
t¥pe = namne )
searches the file for the first statement found with the
indicated name,
Does a non-sequential search,
The string is modified,
returns the stid of the statement as a result and in the
pointer, or endfil on failure.
t¥ype = nxtnane
Same a& name, but starts from the place in the ring
indicated by the stid in ptr.
Note that this also is a non~sequential search
type = Sedname: _
poes a Sequential seagreh of the file for the next statemet
(peginning with the one following the one indicated by ptr)
with the indicated nane.
Returns stid in ptr, or endfil in ptr.
type = contnt _ )
Does a sequential search of the file fo a statement with
the content in string. _
Search starts with the character following the one
indicated hy ptr
Returns samne as Seqnamne.
t¥ype = contls
Same a& content, but looks conly in the current statement
t¥pe = wWord
Searches for word in strineg in a manner equivalent to
conternt.
Returns same as content.
type = sid
&astrng is assumed to be an sid, and te file is searched
for a statement with a matching =id,

Returns same as nane,
%
I ———————-———————
LOCAL nhash, count, sidval, plscn, p2scn, stid;
REF astrng, ptir;
IF ptr = endfil THEN RETUKN (endfil);
CASE type OF
= name, =nxtname:
BEGIN
astruc (&astrng)
nhash ¢ hash(&astrng);
stid ¢« IF type = nXtname THEN ptr ELSE 0j
WHILE (stid ¢ lkupfast(ptr, stid, nhash, rnameh)) # endfil
Do
BEGIN
CCPOS SF(stid);
Xtrnam(&$lkuoreg, $swork, =1);
IF #lKupreg# = #astrng:# THEN
RETURN (ptr e stid);
END3;
RETURN (ptr ¢ endfil):
END:
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seghame:
BEGIN
astruc(&astrne);
nhash ¢ hash(&astrng);
ptr/l) « 1;
ptr & getnxt(ptr);
END;
sid:
RETURN (ptr « lkupfast(ptr, 0, &astrng, rsid));
Wword, = contnt, = contls:
% bump the pointer along one character %
IF ptr/l] = empty THEN ptr/l] « 1
ELSE FIND ptr > CH tptr;
ENDCASE:
UNTIL ptr = endfil DO
BEGIN
IF inptrf THEN %have a rupbout%
BEGIN
pLr ¢« endfil;
RETURN;
END:
CASE type OF
=seqname:
IF getnam(ptr) = nhash THEN
BEGIN
CCPOS S8SF(ptr);
CUTILTY, Xtrnam>(8lkupreg, $swork, =1);
IF ¢UTILTY, compas)($lkupreg, &astrng) THEN
RETURN;
END;
=contnt:
IF FIND ptr > [#agtrng#] tptr eptr THEN RETURN;
=contls: %search is limited to a single statement%

BEGIN
IF NOT FIND ptr > [#astrneg#] fptr eptr THEN ptr
endfil;
PETURN;
END;
=word:
BEGIN
CCPOS ptr;
LOOP
IF FIND [#astrng#] tptr ¢ptr < THEN
BEGIN
count € astrng.Ll;
UNTIL (count ¢« count=1l) < empty DO FIND CH:
IF FIND tplscn =LD AND ptr > CH =LD THEN RETURN:
I¥ NOT FIND > plscn CH THEN EXIT;
% this can EXIT if astrng is empty and
have reached end of statement %
END
ELSE EXIT;
END;

ENDCASE err($"NLS system error");
pir e getnxt(ptr);
ptr/l}] e 1;

17
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END3;
RETURN END.

(lkupfast)PROC(stid, start, value, field);
LOCAL rnb, rnptr, rnt, pgindx, rngbkend, rngbkptr, fileno:
REF rnptr, rngbkptr;
fileno « stid.stfile; )
rnt ¢ (rnpc « filehead/fileno]+srngst=%filhed) + rngm;
&rnptr « rnb+start,stblk=1:
IF start THEN
EEGIN
IF (start ¢ start,stwc + ringl) >= blksiZz THEN %Gone over to
€ next block%
BEGIN
BUMP &rnptr;
start ¢« 0O;
END
ELSE start ¢ start = f£bhdl;
END;
WHILE (&rnptr ¢ &rnptr+l) < rnt DO
IF rnptr.rfexis THEN
BEGIN
IF (pgindx € rnptr.rfcore) = 0 THEN
pgindx ¢ lodrfb(&rnptr=rnb+rngbas, rngtyp, fileno);
rngbkend « (&rngbkplr ¢« crpgad/pgindx] + £fbhdl) + blksiz;
IF start THEN &rngbkptir ¢ &rngbkptr + start := 0; %add in
displacement if it's there%
WHILE &rngbkoptr < rnebkend DO
IF rngokptr,field = value THEN
BEGIN
Stid.5tblk ¢ &rnptr=rnb;
stid.stwWwe ¢ &rnegbKptr-crpgad/ogindx):;
RETURN (=tid) ;
END _
ELSE &rngbKptr ¢ &rngbkKptr + ringl:
END;
RETURN (end£il);
END,

(getvnd) %£find end of branch%
% This procedure finds the "end" of the branch begun by
the stid passed it; it expects, as a Second argument, a
maximum level to be used in determining the end of the
branch., If all statements in the branch fall beneath the
minimal level, it returns the the stid passed it. %
fmmmmmm e m e m - —--——C
PROC (stid, level);
LOCAL curlev, tmstid:
curlev ¢ getlev(stid):
UNTIL curlev >= level DO
BEGIN
IF (stid := getsub(stid)) = stid THEN RETURN(stid);
stid « getail(stid);
BUMP curlev;
END;
RETURN (stdid) 3
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END,
hoseaneeUtility routinesS.seeeeo%

(1sstat) PROCEDURE(astrng): %puts file names in 1link staeck into
string passed%
LOCAL da, areano, 1lp, firstlp;
REF astrng, da, 1p;
#¥astrng® « NULL:
areanc ¢ 0; _
UNTIL (areanc « areanco + 1) » dacnt DO
IF (&da ¢ dspareal(areano)) THEN
BEGIN
IF astrng.lL # empty THEN #astrng# ¢ #astrng#, EOL;
IF (&lp ¢ firstlp ¢ da.dalink) THEN DO
#astrng* ¢ sastrngs, #[lp.1filnmj*, EOL
UNTIL (&lp ¢ lp.lsnext) = firstlp:

END3
RETURN;
END.

(jmpdpy)

%Tnis routine creates the display for Jjump and link
routines. It expects the addaress of a display area as an
argument.s
R mm -
PROCEDURE (dpa)
LOCAL save;
REF dpa;
LOCAL STRING loecstr/(20/;
g¢pa,daagsp ¢« TRUE}
dpa,daempty ¢ FALSE; _
save « dpa.davspec,vsdaft s= TRUE;
<NLSEX, xdafrmt)> (&dpa);
dpa.davspec,vsdaft « save;
{INPFBK, dspvsp)(dpa.davspec, dpa.davspc2, 3):
%UPDATE date=time area%
¢NLS, AUXCOD, getdat)($locstr);
{NLS, INPFBK, ddt>(%locstr);
RETURN;
END,

(jmpopn) PROCEDURE (namsteg) s
LOCAL jfn, jfnfig, fileno;
REF namstg;
JEnflg ¢ getgtjfle(read, origff, oldvrsn);
IF NOT jfn ¢« lgetjfn (0, &namstg, $nlsext, Jfnfleg, $1lit) THEN
BEGIN
#lit# « "Cannot load file ", #namstg#, '(, #*#1lit*, ');
dismes (2, $1it);
GOTO STATE;
END;
fileno ¢« open(jfn, &namstg);
RETURN (fileno) ;
END,
(feedlt) PROCEDURE(dpa, astrng);
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%Given the address of a digplay area, this routine changes
its vspecs in accord with the specificaations in the
A-string passed it. It passes the characters in the
A=string to <PRMSPC, SETLT>, except for content anazlyzer
patterns.®
G m——————
LOoCAL count, length, char, vsl, vsZ;
LOCAL TEXT POINTER tp;
LOCAL STRING castng/ih0];
REF dpa, astrne;
length ¢ astrne,L;
count « empty = 13
Vsl ¢« dpa.davspec;
Vvs2 & dpa.,davspc?;
UNTIL (count ¢« count+l) > length DO
IF (char ¢ #astrnegs/count/) = '3 THEN
BEGIN
#cagtng* ¢ NULL:
UNTIL (char « #astrng#/count ¢« count + 1J) = '; DO
BEGIN
#castng® ¢« #castng#*, char;
IF count >= length THEN EXIT LOOP1l;
END3;
¥castng* « %castng*, " 3;3;";
FIND SF(#castng#) tip:
cgpc ($tp, &dpa);
END
ELSE vsl ¢« <{PRMSPC, setlt>(char, vsl, vs2
dpa.davspec « vyvgl;
dpa,davspez ¢ vs2;
RETURN;
END,

ve2);

(jwait) PROCEDURE;
disarm():

afl);
CASE looke() OF
=CD:
BEGIN
input();
GOTO STATE:
END;

=CA: RETURN(input());
ENDCASE RETURN(FALSE);
END,

heesseeilnNtrafile (jump stack) Uutility routinNeS..eees%

%These routines save and restore elements on the jump stack. The
jump stack behaves like a ring, in that When the top of the stack is
reached, it wraps arcund to the bottom. The jump stacks are
organized as follows:

If the flag LJSMULT, in the 1link stacKk entry is TRUE, then

the Stack pointer, LJSHDR points to the the jump stack

header for the file; if it is FALSE, then LJSHDR points
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to a 3 word area containing the most recent view of the
filEo

The routine GETJS is used to get another ijump stack; RELSJS
frees a stack.

When a Jump stack is allocated to a file, it should be
initialized so that the stid points to the origin and the
viewspec words contain the standards assigpned on entry to
NLS (CLRJS doues this). When a link stack entry is reopened,
the Jjump stack entry should be reset to include the new
file number (RESTJS does this).%

(pushjs)
%Given the address of a dispiay area, this routine will
push the csp and two viewspec wWords asSsociated with the
area ontc the jump stack.
If the 1link entry has no jump stack allocated to it,
and the second argument is true, then this routine uses
GETJS to allocate a jump stack, Otherwise, if the link
entry has no jump stack allocated to it, the stid and
viewspecs are saved in the Jjump stack header area,
If there is no link stack for this entry, the routine
returns FALSE; otherwise it returns TRUE.%
R mmm . —--
PROCEDURE (dpa) 3
LOCAL 1inkp, Jjumpp;
KEF dpa, 1linkp, Jjumpp:
IF NOT (&linkp ¢ dpa.,dalink) THEN RETURN(FALSE);
IF linkp.lsnew THEN
BEGIN
&jumpp ¢ linkp.lishdr:
linkp.lsnew « FALSE:
END
ELSE
BEGIN
IF NOT 1linkp.ljsmult THEN getjs(&linkp);
&jumpp ¢ pshjisp(&linkp) s
END;
jumpp. jsstid ¢ dpa.dacsp;
jumpp. jsvspl « dpa.davspec;
Jumpp.jsvsp? « dpa.,davepc2:
Jjumpp.jscent « dpa,dacent;
IF linkp.ljsmult AND [linkp.lJshdr).Jjsage
TEEN agejs(linkp.lJjshdr):
RETURN (TRUE) :
END.

(bumpjs) :
%Given the address of a display area, this reutine will
Save the stid and two viewspec words from the next entry
in the Jjump staeck in the appropriate places in the display
area.
If the 1link entry has no jump stack allocated to it,
the stid and viewspecs saved in the jump stack header
area are saved.,
If there is no link stack for this entry, the routine
returns FALSE; otherwise it returns TRUE.%
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fimmm

PROCEDURE (dpa) ;
LOCAL Jjumpp, linkp;
REF Jjumpp, linkp, dpa;
IF NOT &linkp ¢ dpa.dalink THEN RETURN(FALSE):
DO &jumpp ¢ pshisp(&linkp) UNTIL jumpp.jsstid # O3
setdpa (&dpa, dpa.dalink);
IF 1linkp.,1jsmult AND [linkp.lJjehdr).jsage
THEN agejs(linkp.ljshdr);
RETURN (TRUE) 3
END,

(popjs)
%Given the address of a display area, this routine will
save the stid and two viewspec words from the previous entry
in the Jump stack in the appropriate places in the display
area.
If the link entry has no jump stack allocated to it,
the stid and viewspees saved in the jump stack header
area are saved.,
If there is no 1link stack for this entry, the routine
returns FALSE: otherwise it returns TRUE.%
oo e - o ]
PROCEDURE (dpa) 3
LOCAL Jjumpp, linkp;
REF jumpp, linkp, dpa;
IF NOT &linkp ¢ dpa.dalink THEN RETURN(FALSE);
DO &Jjumpp ¢ popjisp(&linkp) UNTIL jumpp.jsstid # O3
setdpa (&dpa, dpa.dalink);
IF linkp.ljsmult AND [linkp.lJshdr].Jjsage
THEN agejs(linkp.ljshdr):
RETURN (TRUE) 3
END.

(getret) PROCEDURE (dpa, count):
%pops Jjump stack back number of times specified by count: returns
stid on jump sStack at that point, and character count; sets
display area vspec words to those in new entry on jump Stack;
DOES NOT reset dacsph
LOCAL jumpp, linkp, stid, ccnt;
REF Jjumpp, linkp, dpa;
IF count <= O THEN
BEGIN
IF NOT &linKvo ¢ dpa.dalink THEN abort(17);
&jumpp ¢ IF NOT linkp.ljsmult THEN linkp.lishdr
ELSE [linkp.lJshdr/.Jjscurr;
IF NOT (stid ¢ jumpp,jsstid) THEN
BEGIN
stid ¢ dpa.dacsp;
cecnt « dpa.dacent:
END
ELSE cent ¢« Aumpp.jscecnts
RETUEN (stid, ccnt):
END3;
LOOP
BEGIN
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&jumpp ¢ popispl(dpa.dalink);
IF (stid ¢ jumpp.jsstia) # O THEN
IF (count ¢ count = 1) <= O THEN EXIT LOOP;
END3s
dpa.davspec ¢ jumpp.jsvepl;
dpa.dayspc2 ¢ jsvsp2;
cent € Jjumpp.Jjsecnt;
RETURN (stid, cent);
END.

(getahd) PROCEDURE (dpa, count):
%bumps Jjump stack ahead nupber of times specified by count;
returns stid on Jjump stack at that point: sets display area vspec
words to those in new entry on jump stack: DOES NOT reset dacsp%
LOCAL Jjumpp, linkp, stid, cecnt;
REF Jjumpp, 1linkp, dpa;
IF count <= QO THEN
BEGIN
IF NOT &linkp ¢ dpa.dalink THEN RETURN(FALSE);
&jumpp ¢ IF NOT linkp.ljsmult THEN linkv.ljishdr
ELSE [(linkp.lJishdr/.Jjscurr;
IF NOT (stid ¢ Jjumpp.Jjsstid) THEN
BEGIN
stid ¢ dpa.dacsp;
ccnt ¢ dpa.daceont;
END
ELSE cecnt ¢ jumpp.Jscent:
RETURN (stid, ccnt)s
END;
LOOP
BEGIN
&jumpp ¢ pshisp(dpa.dalink);
IF (stid ¢ jumpp.isstid) # O THEN
IF (count « count = 1) <= O THEN EXIT LOOP;
END;
dpa.davspec ¢ jumpp.jsvspls
dpa,dayspc?2 ¢« Jjsvsp2:
cent ¢ jumpp.Jscent:
RETURN (stid, cent):
END,
(readjs)
%Given the address of a display area, this routine will return
the stid, two viewspee words, and current character count from
the current entry in the jump stack.
If the link entry has no jump stack allocated te it, the stid
and viewspecs saved in the jump stack header area are saved,
If there is no 1link stack for this entry, the routine returns
FALSE; otherwise it returns TRUE.%
frmemme e e enn—a=]
PROCEDUKE (dpa) ;
LOCAL jumpp, linkp:
REF Jjumpp, 1linkp, dpas;
IF NOT &linkp ¢ dpa.dalink THEN RETURN(FALSE);
&jumpp ¢« IF NOT linkp.ljsmult THEN linkp,ljshdr
ELSE [linkp.ljshdr].jscurr;
RETURN (jumpp.Jjsstid, Jjumpp,djsvspl, Jjumpp.ijsvsp2, Jjumpp,.jscent):
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END,

(writejs)

%Given the address of a digplay area, an stid and two

viewspec wordstnils routine will replace the currentjump

stack entry with the values passed.,
If the link entry has ho jump stack allocated to it,
the stid and viewspecs saved 1n the jump stack header
area are saved,

If there is no 1link stack for this entry, the routine

returns FALSE; otherwise it returns TRUE.%

e e e L L e DL L] ]

PROCEDURE (dpa, stid, vspcl, vspc2, ccnt)g

LOCAL jumpp, linkp;

REF jumpp, linkp, dpa;

IF NOT &linkp ¢ dpa.dalink THEN RETURN(FALSE):

&jumpp ¢ IF NOT linkp.ljsmult THEN linkp.ljshdr

ELSE [linkp.lJjshdr/.jscurr;

Jumpp.Jjsstid « stid;

Jjumpp.jsvspl « vspcl:

jumpp,. jsvsp2 ¢ vspc2:

jumpp. jscent ¢ cent;

RETURN (TRUE) ;

END.

(popisp)
%aiven the address of a link stack header, this routine
Will return the pointer to the previous element in the Jjump
stackk, or the address of the single jump element (LJSHDR),
if no stack is allocated to this file. It saves the new
pointer in JSCURR, if a stack is allocated to this file.%
fhmmmmm e ————————————
PROCEDURE (1inkp):
LOCAL jshead;
REF Jshead,; linkp:
IF NOT linkp.ljsmult THEN RETURN(linkp.lishdr):;
&jshead « linkp.ljshdr;
Jshead. jscurr ¢ jshead.jscurr = Jjsentl;
IF jshead.jscurr < Jshead.jsbotm THEN

jshead.jscurr ¢ jshead.jsbotm + ((Jjsmxnt - 1) % jsentl):

RETURN(Jjshead.jscurr);
END,

(pshisp)
%Given the address of a link stack header, this routine
will return the pointer to the next element in the Jjump
stack, or the address of the single jump element (LJSHDR).
if no stack is allocated to this file. It saves the new
pointer in JSCURR, if a stack is allocated to this file.%
T e o
PROCEDURE (linko) 3
LOCAL jshead;
REF Jjeshead, linkp;
IF NOT linkp.ljsmult THEN RETURN(linkp.ljshdyr);
&jshead ¢« linkp,ljshdr;
Jshead, jscurr «jshead.jscurr + jsentl;

2L
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IF jshead.jscurr >= jshead,jsbotm + (Jjsmxnt % jsentl) THEN
jshead. jscurr ¢« jshead,jsbotm;

RETURN (Jjshead, jscurr);

END,

(restjs)
%#Given the address of a link Stack entry and a file number,
this routine resets the STID's in the jump stack to refer
to the file number.%
G i 1 e
FPROCEDURE (linKkp, fileno):
LOCAL jsfirst, jumpp;
REF Jjumpp, linkp;
IF linkp.ljsmult THEN
BEGIN
&jumpp € Jjsfirst « [linkp.ljshdr/).Jjscurr;
DO jumpP.Jjsstid.stfile « fileno |
UNTIL (&jumpp ¢ popjsp(&linkp)) = Jsfirst;
END
ELSE [linkp.lJshdrj.jsstid.stfile ¢« fileno:
RETURN;
END.

(elrjs)
%Given the address of a link Stack entry, this routine resets the
STID's in the jump stack to refer to the origin of file 0. The
viewspecs are set to the standard viewspecs, and the character
count to empty.%
fremmner e recnnne e
PROCEDURE (1linkp):;
LOCAL jsfirst, jumpp;
REF linkp, jumpp:
IF linkp.ljsmult THEN

BEGIN
jsfirst ¢ &jumpp « [linkp.ljshdr].Jjscurr;
Do

BEGIN

jumpp, jsstid ¢ origin:

Jjumpp.JjsvspPl « stdvsp;

jumpp.jsvsp?2 ¢ stavsp/l/;

jumpp. jsecent ¢ emnpty;

END )
UNTIL (&jumpp ¢ popjsp(&linkp)) = Jjsfirst;
END

ELSE
BEGIN

&jumpp ¢ linkp.lJjshdr;
jumpp. jsstid ¢ origing

Jumpp. jsvspl ¢ stdvsp;
jumpp.jsvsp2 ¢ stdvep(l):
Jumpp.Jjsccnt « emnty;
END;

RETURN ;

END,

(getje)
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%Given the address of a link stack entry, this routine will get a
Jjump stack; it inserts the file view saved in LJSHDR as the first
entry of the stack, and then creates the header information for
the stack. ,
If JSFREE is empty, then this routine finds the oldest Jjump
stack, uses RELJS to release the stack, Otherwise, it takes
the stack indicated by JSFREE.%
fmmmm e n s ———————C
PROCEDURE (1linkp)
LOCAL jshdr, Jjumpp, oldjumpp, firstp;
REF jsndr, 1linkn, jumpp, oldjumpp;
WHILE NOT (&jumpp « jsfree) DO
BEGIN
&jumpp ¢ &oldjumpp « jsalloc;
WHILE (&jumpp ¢ Jjumpp.Jjgnext) # 0 DO
IF jumpp.jsage > oldjumpp.Jjsage THEN
&0ldajumpp « &jumpn:
freejs (oldjumpp.jslink):
END;
Jsfree ¢ jumpp.ijsnext;
firstp ¢ &jumpp + ((jsmxnt #* Jsentl) = 1);
DO [firstp] ¢« O
UNTIL (firstp ¢ firstp = 1) < &jumpp;
&jshdr ¢ linkp.ljshdr;
Jjumpp.jsstid « jshdr.jisstid;
Jjumpp.jsvspl ¢« jshdr,Jjsvspl;
jumpp.jsvsp2 ¢ jshdr.jsvsp2;
jumpp.jscent « jshdr,Jjsccnt}
jshdr.jslink ¢ &linkop;
jshdr.jsbotm « jshdr.,jscurr « &jumpp;
Jjshdr.jsnext « jsalloc;
jsalloc « &jshdr:
linkp.ljsmult « TRUE:
agejs(linkp.ljshdr);
RETURN;
END.

(freejs)

%Given the address of a link stack entry, this routine will
free its jump stack; it saves the current file view in
LJSHDR.%
 Ldalededed b Lot le el b dded
PROCEDURE (1inkp) ;
LOCAL nxXthdr, Jshdr, loophd, Jjumpp, botstack}
REF Jjshdr, loophd, linkp, jumpp;
IF linkp.ljsmult THEN
BEGIN
&jshdr « linkp.l]jshdr;
&jumpp ¢ Jshdr.jscurr;
botstack « Jjshdr.jsbotm;
IF (nxthdr ¢ Jshdr.Jsnext) # O THEN
IF (&loophd « jsalloec) # &Jshdr THEN
LOOP
CASE loophd,.Jsnext OF
=0: EXIT LOOP;
=&Jjshdr:
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BEGIN
loophd. jsneXt ¢ nxthdr;
EXIT LOOP;
END:
ENDCASE &loophd ¢ loophd.jsnext;
jshdr.jsstid « jumpp.Jjsstid;
jshdr.jsvspl ¢« jumpp.Jjsvspl;
jshdr.jsvsp2 ¢ jumpp.jsvsp2;
jshdr.jseccnt ¢ jumpp,Jjscent;
[botstack/.jsnext « jsfree;
jsfree « botstack;
IF &jehdr = jsalloc THEN jsalloc « nxthdr:
linkp.ljsmult ¢ FALSE;
END;
RETURN;
END.

(ageis) )
%Given the address of a jump Stack header, this routine
Wwill make that jump stack the youngest, and age all others,
If the stack is already the youngest, it will return without
aging the others.%
fmmemmsmcnraemaam=a=]
PROCEDURE ( jshead) ;
LOCAL Jjumpp;
REF Jjshead, Jjumpp:
IF jshead.jsage = new THEN RETURN;
IF &jumpp ¢ Jsalloc THEN
DO IF jumpp.jsage < jagemax THEN BUMP jumpp.jsage
UNTIL (&jumpp ¢ Jjumpp.Jjsnext) = none;
jshead.Jjsage ¢ new;
RETURN;
END,

(setdpa)
%Gliven the address of g display window and a 1link pointer,
this routine will set the vieWspec words and csp to the
values indicated by the current jump Stack for the link
pointer.%
bbbl bl b b L bl il
PROCEDURE (dpa, linkp):
LOCAL jumpp;
REF jumpp, linkp, dpa;
IF NOT (&linkp ¢ dpa.dalink) THEN abort(l7):;
&jumpp ¢ IF linkp.ljsmult THEN [linkp.ljshdr),jscurr
ELSE linkp.ljshdr;
dpa.dacsp ¢ Jjumpp.ijsstid:
dpa,davspec ¢ jumpp.jsvspl;
dpa,davspc2 ¢« jumpp.Jjsvspl;
dpa,daccnt ¢ jumpp.Jdscent;
RETURN;
END,

(setvsp) .
%Given the address of a display window and a 1link pointer
this routine will set the vieWwspec words to the
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values indicated by the current jump stack for the link

pointer.%

R L L L L L LI L LD Ll !

PROCEDURE (dpa, 1linkp):

LOCAL jumpp;

REF Jjumpp, linko, dpa:

IF NOT (&linkp ¢ dpa.dalink) THEN abort(l7):;

&jumpp ¢ IF linkp.lJjsmult THEN [linkp.ljshdr].jscurr
ELSE linkp.ljshdr;

dpa,davspec « jumpp.jsvspl;

dpa.davspc2 « jumpp,jsvsp2;

dpa,dacent « jumpp.Jjscent;

RETURN;

END,

(upjscent)
%Given the address of a2 display wWindoWw and a link pointer,
this routine will set the vieWspec words to the
values indicated by the current jump stack for the link
pointer.%
G v o o
PROCEDURE (dpa) 3
LOCAL 1linkp, Jjumpp;
REF jumpp, linkp, dpas
IF NOT (&linkp ¢ dpa.dalink) THEN abort(1l7):;
&jumpp ¢ IF linkp.lJjsmult THEN [linkp.ljshdr).Jjscurr
ELSE linkp.l;jshdr;
IF dpa.dacsp # djumpp.jsstid THEN pushJs(&dpa)
ELSE Jjumpp.jscent « dpa,dacent;
RETURN
END,

%eessssinterfile (link stack) utility routines..es..%

(bumpls)
%Given the address of a display area, this routine will set
DALINK to the next position (push) in the link stack.%
Goom o o e 0 e e o O]
PROCEDURE (dpa) ;
LOCAL nevwlp;
REF dpa;s
IF dpa.dalink THEN
BEGIN
agels(newlp ¢ [dpa.dalink/.lsnext);
RETURN (newlp) ;
END
ELSE RETURN(FALSE):
END.,

(popls)
%Given the address of a display area, this routine will
set DALINK to the previous position (pop) in the link
stack-%
mmmm e —————————
PROCEDURE (dpa) ;
LOCAL newlp:
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REF dpa;
TF dpa.dalink THEN
BEGIN
agels(newlp « [dpa.dalink/.lsprev):;
RETURYN (newln) :
END
ELSE RETURN (FALSE) :
END.

(pushls)
%Given the address of a display area, and the address of
an A=string that contains the file name, this routine will
push that information onto the 1link stack.
If this 1ink stack contains the maXximum number of
entries, then the next entry in the ring is used for
the link stack information. Otherwise, GETLENT is used
Lo get another entry. This entry is inserted in the
ring and filled with the current information.%
AL LELLELEL LT LT |
PROCEDURE (dpa, astadr);
LOCAL 1linkp, count;
REF linkp, dpa, astadr;
count « 1;
IF (&linkp ¢ dpa.dalink) THEN
WHILE (&linkp ¢ linkp.lsnext) # dpa,dalink DO BUMP count;
IF count < 1smxnt THEN &linkp ¢ getlent(dpa.dalink)
ELSE
BEGIN
&linkp ¢ [dpa.dalink].lsnext;
freejs (&linkp);
agels(&linkp);
END;
#[linkp.lfilnm/# ¢ *astadrs;
linkp.lsnew ¢« TRUE;
dpa.dalink ¢ &linkp;
RETURN (dpa.dalink):
END.

(readls)
%Given the address of a display area and of a string, this
routine will put the file name for the current link stack
entry in the string (or null if there is none), and return?®
PROCEDUKE (dpa, string);
REF dpa, strinegs
IF NOT dpa.dalink THEN #string # ¢ NULL
ELSE #string#* ¢ */[[dpa.dalink/.lfilnm]#;
RETURN;
END,

(uplsfnm) '
PROCEDURE (ofnam, nfnam):; #change file name ofnam to nfnam in all
link stacks%

LOCAL areano, dpa, links;

REF ofnpam, nfnam, dpaj

areano « 0; _

UNTIL (areano ¢ areano + 1) > dacnt
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Do
IF (&dpa ¢« dsparea(areano)) THEN
IF (links ¢ dpa.dalink) THEN
Do
BEGIN
IF #{[dpa.dalink/.1lfilnm/%* = xofnam% THEN
#[[dpa.dalink].1filnm/#* ¢ swnfnam#;
END
UNTIL (dpa.dalink ¢ bumpls(&dpa)) = links;
RETURN;
END.

(getlent)
%Given the address of a link entry, this routine gets
another link entry and inserts it in the ring after the
link entry passed it.%
Toom o o v G
PROCEDURE (1inkp); .
LOCAL jshdr, dpa, areano, frstlp, templp, oldlp, oldda, age:
REF Jjshdr, dpa, linkp, oldda, templp;
IF &linkp THEN linkp.lsage « O;
WHILE NOT (&templp ¢ lsfree) DO
BEGIN
0ldlp ¢« 2ge « areano « 03
UNTIL (areano ¢« areano + 1) > dacnt DO
IF (&dpa ¢ dsparea(areano)) THEN
BEGIN
IF (frstlp ¢« &templp ¢ dpa.dalink) THEN
Do
IF' templp.lsage > age THEN
BEGIN
&oldda ¢« dpa;
0ldlp « &templnp;
age « templp.lsage;
END
UNTIL (&templp ¢ templp.lsnext) = frstlp;
END; 2
IF oldda.dalink = o0ldlp THEN oldda.dalink ¢
freelent (oldlp)
ELSE freelent(oldlp);
END;
lsfree ¢ templp.lsnext;
IF &linkp THEN
BEGIN
{templp.lsnext « linkp.lsnext/.lsprev « &templp;
linkp.lsnext ¢ &templp;
templp.lsprev ¢ &linkp;
END
ELSE templp.lsnext « templp.lsprev « &templp}
&jehdr ¢ templp,ljshdr;
Jshdr.jsstid.stpsid « origin;
Jjshdr, jsvspl « stdvsp;
Jshdr.jsvsp2 ¢« stdvso(l]:;
templp,ljsmult ¢« FALSE;
templp.lsnew « TRUE:
agels(&temnplp);

30
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RETURN (&temnlp) :
END,

(freelent)
%Given the address of a link stack entry, this routine will
return it to the link stack free 1list, and update the
appropriate pointers in the stack,
If this is the only entry in the ring, the routine
returns FALSE; otherwise, it returns the address of the
next link entry in the ring.%
frmmmm e ————
PROCEDURE (1inkp) s
LOCAL temp:
REF linkp;
IF linkp.ljsmult THEN freejs(&linkp);
IF linkp.lsnext = &linkp THEN
BEGIN
linkp.lsnext « lsfree;
lsfree « &linkp;
RETURN (FALSE) 3
END;
temp ¢ [linkp.lspbrev/.lsnext ¢« linkp.lsnext;
[linkP.lenext].lsprev ¢ linkp.lsprev;
linkp.lsnext « lsfree;
lsfree ¢ &linkp:
RETURN (teng) :
END,

(agels)

%Given the address of a link stack entry, this routine will
maKe that entry the youngest and afe all other entries,
If the entry is already the youngesst, this routine will
not age the others.%
VELELLELLEE LS
PROCEDURE (1inkp):
LOCAL areano, templinkp, firstlinkp, dpa;
REF linkp, templinkp, firstlinkp, dpa; :
areano ¢ 0; ‘
UNTIL (areano ¢ areano + 1) » dacnt DO
IF (&dpa « dsparea(areanc)) AND dpa.daexis THEN

BEGIN

IF (&firstlinkp ¢« &templinkp ¢ dpa.dalink) THEN

Do
IF templinkn.lsage < lagemax THEN BUMP templinkp.lsage
UNTIL (&templinkp ¢« templinkp.lsnext) = &firstlinkp:

END;
linkp.lsage ¢ news
RETURN ;
END,

FINISH of JUMP






AAN ATJHANT (2 LTFTéicld SNLS2LLLDSHNLD & L

CNLS>LITDSP.NLS:2, 30=DEC=-71 17:02 MSC ;
FILE litdsp
%eesnneasGlobal REF"Soeeeeasth
REF litda;
henswsanssleClarationSceces%
DECLARE STRING

ltdeml = "Cannot display more text. Enter CA to save what you
have.",
ltdem2 = "Display area tables inconsistent., Unable to accept
text,":

DECLARE suppress = 1, restore = 0}
REGISTER rl = 1;
(Litdpy) PROCEDURE(astrng); %display string in text area%
femmmmsmnennnan
LOcAL
newls, tmp, astbpe, astbps, ls,
count, leclop, lsstrt, col, char, newline;
REF newls, astrng, ls;
&ls ¢ IF litda,dacsp = endfil THEN litdnt(&astrng)
ELSE aplcls();
CASE astrng.L OF
{litda,daccnt:
BEGIN
astbpe ¢ chbptr(astrng.L) + &astrng;
astbps « chbptriempty) + &astrng;
WHILE (lsstrt ¢ slngth(astbps, ls.rvbps)) > astrng.l DO
IF NOT (&ls « aplrls(&ls)) THEN
BEGIN '
&ls ¢ getrta(litda.darts);
EXIT LOOP 13
END3:
IF #astrng#[astrng.L] = NP THEN
ls.rtstid « astbpe
ELSE
BEGIN %find line break character, this line segment%
1s.rtstid « 1ls.rtpps;
ONTIL (lsstrt := lsstrt + 1) »= asStrng.lL DO
IF #astrng+[lsstrtj) s NP THEN
ls.rtstid ¢ chbptr(lsstrt) + &astrng;
END3;
ls.rtbpe ¢« astbpe;
litda.daccol ¢ ls.rtlcol «
ls.rtfcol + slngth(ls.rtbps, astbpe);
litda.daccnt ¢ astrng,.L;
wrtstr(&litda, &ls);

END:
> litda.daccent:
BEGIN
count « litda.dacent + 1;
LOOP
BEGIN
CASE (char ¢« #astrng#/count/) OF
=CR, =EOL:
BEGIN

lelbp ¢ 1ls.rtstid ¢« aplehr(&ls);
Wwrtstr(&litda, &ls);
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9 )

IF NOT (&ls « aplgls(&ls, TRUE)) THEN RETURN;
ls.rtstid ¢ ls.rtbpe « ls.rtbps ¢ lclop;
litda,daccol « ls,rtfcol ¢ ls,rtlcol ¢« 1;
END;
=TAB:
BEGIN
col ¢
fndtab(&litda, (litda.daccol=l)#litda.dahine)
litda.dahinc;
lclbp « 1ls.rtstid « aplechr(é&ls);
IF col » litda.damcol THEN
BEGIN
ls.,rtlcol « litda.damcol;
litda.daccol « 1;
BUMP litda.dacrow;
newline ¢ TRUE;
END
ELSE
BEGIN
1s.rtlcol ¢ col;
neyline ¢ FALSE;
litda.daccol ¢ col;
END;
Wrtstr(&litda, &1s):
&ls ¢ aplgls(&ls, newline);
la.rtstid « 1ls.rtbpe « 1ls,rtbps ¢ lclbp;
END;
=SP: ls.rtstid « aplehr(&ls);
=PT: aplchr(&ls);
ENDGASE NULL;
litda.daccol »>= litda.damcol THEN
BEGIN %line break not at beginning of line%
IF ls.rtstid # 1ls.rtbops THEN
BEGIN
IF NOT (&newls ¢ aplgls(&ls, TRUE)) THEN RETURN;
ls.rtlcol ¢« ls.rtvicol +
slngth(ls.rtbps, ls.rtstid);
newls,rtbpe « ls,rtbpe := newls,.,rtstid ¢
newls.rtops ¢« ls,rtstid;
newls.ruvfcol ¢« 1;
newls.rtlcol « newls.rtfcol +
glngth(newls.rtbps, newls.rtbpe):
litda.daccol « 1:;
Wwrtstr(&litda, &ls);
Wrtstr(&litda, &newls);
&ls « &newls;
END
ELSE
BEGIN
IF ls.rtfcol # 1 THEN %move this segment to next
line%
BEGIN
ls.rtlcol ¢ ls.rtlcol = ls.rtfcol;
ls.rtfcol « 1;
ls.rtxl ¢ litda.daleft;
1s,rtx2 « litda.daright;
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ls.rty ¢ ls.rty + litda.davinc;
&newls « &ls +1lsrtl:
newls.rvy ¢ nevwls,rty + litda.davinc;
litda.daccol « 1ls,rtlceol;
END
ELSE
BEGIN
IF NOT (&1ls ¢« aplgls(&ls, TRUE)) THEN RETURN;
litda.daccol « 1}

END;
wrtstr(&litda, &l8);
END;
END;
IF (count « count + 1) > astrng.L THEN EXIT LOOP 1;
END;

END;

ENDCASE NULL:
litda.daccnt « astrng.L;
wrtstr(&litda, &ls);
RETURN;

END,

(1itdnt) PROCEDURE (astrng);

%initialize litda to display astrng in literal display area.%

LOCAL firstls, blnkls;

REF firstls, blnklsg

litda.dacsp « astrng;

litda,.dacsp.stastr « THUE;

litda.daccnt « empty;

litda,daccol « 1;

litda.dacrow « L;

litda.damecol ¢ (litda.daright = litda.daleft)/litda.dahinec;

&firstls e getrta(litda.darts);

&blnkls « &firstls + lsrtl;

firstls.rtnew « firstls.rtexis « TRUL;

firstls.rtllsg « FALSE;

plnkls.rtnew « FALSE;

blnkls,.rtlisg « blnkls.rtexis ¢« TRUE;

firstls.rtfcol ¢ firstls.rtlcol «
blnkls,.rtfcol « blnkls,rtlcol « 1;

firstls.rtbps ¢ firstls.rtbpe ¢ firstls.rtstid «
blnkls,rtbps « blnkls.rtbpe « blnkls,rtstid ¢
chbptr(empty) + astrng;

firstls,rtXl « blnkls.rtxl « litda.daleft;

£irstls.rtx2 ¢ blnkls,rtx2 « litda,darignt;

firstls,rty *g%; ié}

blnkls,rvy e rstls,.rty + litda,davinc;

blnkls.rtfont « firstls.rtiont « litda.dafont;

blnkls,.,rtecsize ¢ firstls.rtcsize ¢« litda.dacsize;

blnkls.rthine « firstls.rthine ¢ litda,.dahinc;

aplsrd(&firstls, suppress);

apblsrd(&blnkls, suppress);

RETURN (&firstis);

END.
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(aplchr) PROCEDURE(ls):
%Given a line segment rt address, this rountine wil bump the
requisite pointers to point to the next character in the buffer,
It return the updated byte pointer.,%
%-m------—-—u%
LOCAL temp, lclbp:
REF 1s;
leclbp ¢« 1ls.ribpe;
temp « tlclbp;
ls.rthpe « lclbp;
BUMP ls.rtlcol, litda.daccol:
RETURN (lclbp);
END,

(aplcls) FPROCEDURE;
dreturns address of current line segment fOr literal display areas
LOCAL 1ls, count;
REF ls;
count ¢« litda,darts;
Do
BEGIN
&ls ¢« getrta(count);
IF NOT ls.rtexis OR ls.rtllsg THEN
BEGIN
dismes(2, ®"Literal display area tables destroyed; unable to
accept text");
GOTO STATE;
END3
IF ls.rtnew THEN RETURN(&1ls)3;
END
WHILE (count ¢ count + 1) < litda.darte;
dismes (2, $ltdeml);
RETURN(FALSE) :
END.

(aplgls) PROCEDURE(ls, newline):
%get another 1srt entry for literal display area, allocating
another blak line if newline is true.%
fuwnmm b L L L LEL
LOCAL newls, plnkls;
REF ls, newWls, blnkls;
&newls ¢ &ls + lsrtl;
IF (&blnkls « &newls + 1lsrtl) >= getrta(litda.darte) THEN
BEGIN
dismes (2, $ltdeml);
RETURN(FALSE) ;
END;
blnkls.rtexis ¢ plnkls,rtllsg ¢ TRUE;
blnkls.rtnew « FALSE:
newls.rtllsg « FALSE;
ls.rtnew « FALSKE;
newls.rtnew « TRUE:
blnkls,.rtxl « litda.,daleft;



AAA, S=JAN=TZ L2 SNLS2LLILUSFNLS}Z

blnkls,.rtx2 ¢ litda.daright;
IF (blnkls.rty ¢ newls,rty + litda.davinc) > litda,.,dabottom THEN
BEGIN
dismes (2, $ltdeml);
RETURN (FALSE) ;
END;
newls.rtbps « newls.rtbpe « newls.rtstid «
blnkls.rtbps ¢ blnkls.rtbpe ¢ blnkls.rtstid ¢
chbptr(/litda,dacsp/.L) + litda,dacsp;
blnkls,rtfont ¢ litda.dafont;
blnkls.rtesize ¢ litda.dacsize;
blnkls,rthinec ¢ litda,.,dahinc;
IF newline THEN
BEGIN
newls.rtfcol ¢ newls.rtlcol ¢ blnkls.rticol ¢ blnkls.rtlcol «
1;
aplsrd(&blnkls, suppress);
BUMP litda.dacrow;
END
ELSE %line segment on sane line%
BEGIN
newls.rtxl ¢« 1ls.rtx2 ¢ ls.rtlcol # ls.rthine;
newls.rtfcol ¢ newls.rtlcol ¢ ls.rtlcol + 1}
blnkls,rty ¢ newls,rty := 1ls.rty;
wrtstr(&litda, &newls);
wrtstr(&litda, &olnkls);
END;
RETURN (&newls) ;
END.

(aplrls) PROCEDURE(1ls);
%restores lines suppressed by display of 15 passed%
%---u ----- ---%
LOCAL prvls, nxtls;
REF prvls, nxtls, 1ls;
IF (&prvls « &ls = 18rtl) < getrta(litda.darts) THEN
BEGIN
litdnt(litda.dacsp);
RETURN (FALSE) ;
END;
&nxtls ¢« &ls + lsrtl;
nxtls.rtexis ¢ FALSE;
1s,rtllsg ¢ TRUE;
ls.rtnew « FALSE;
prvls.rtnew « TRUE;
la,rtxl « litda.daleft;
1ls.,rtx2 ¢ litda.daright;
ls.rtfcol ¢« ls.rtlcol « 1;
1ls.rtbps ¢« ls.rtbpe ¢ chbptr(/litda.dacsp/.L) + litda,dacsp;
IF 1ls.rty = prvls.rty THEN
ls.rty ¢« prvls.rty + litda.davine
ELSE
BEGIN
aplsra(&ls, restore):
BUMP DOWN litda.dacrow;
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END;
wrtstr(&litda, &ls);
RETURN (&prvls);

END.

(aplsrd) PROCEDURE (ls, type);
#suppress / restore display any line segments touched by 1s;

if

TYPE 1s TRUE, then the display is suppressed; otherwise, it is

restored%

fruconen mmm==f

LOCAL mid, dano, daadr, lsadr, ybot, ytop, lstop, dtop;

REF daadr, lsadr, ls;

ytop ¢« mid ¢ ls.rty + litda.datop;

yoot ¢ mid + litda.davinc;

dano « 1;

Do

IF (&daadr ¢ dsparea(dano)) THEN
IF (dtop ¢ daadr.datop) <= ybot THEN

BEGIN
&lsadr ¢ getrta(daadr.darts);
lstop ¢ getrta(daadr.darte);

no
IF lsadr.rtexis AND (dtop + lsadr.rty) IN [ytop,
THEN
IF type THEN
BEGIN
rl.rnword ¢« lsadr.rtlsid;
rl.lhword ¢ daadr.dahandle;
IF NOT SKIP |JSYS ssda THEN err(sltdem2);
END
ELSE
BEGIN
rl.rhword « lsadr.rtilsid;
rl.lhword ¢ daadr.dahandle;
IF NOT SKIP |J8YS rsda THEN err(sltdem2);
END
UNTIL (&lsadr ¢ &lsadr + lartl) »>= lstop;
END
UNTIL (dano « dano + 1) > damax:
RETURN;
END.

FINISH of litdsp

ybot)






WHP, 29=-MAY=71 1l2:10 {NLS>MSGNLS.NLS;?2

{NLS>MSGNLS,NLS;2, 29=MAY=71 1l:31 WHP ;
FILE msgnls
% This silly little program is used as a timer until 10X puts
timers into the system, it is started at location 120B, which
contains a JRST timfrk. When it is started, it assumes that
register 1 contains the number of milliseconds to wait before the
timer goes off. When the time is up, the fork causes an interrupt
on channel I in its superior fork, then halts. The fork may be
used in this way any number of times by simply setting its AC's
and restarting it at 120B. %
REGISTER rl=1, r2=2;
(timfrk) PROCEDURE;

1JSYS 1é7B; %dismiss?h

rl « =1;

r2 « 2810; ‘

LJSYS 132B; %cause pseudo interrupt in supverior fork?%

1JSYS 170B; %halt%

END,
FINISH of msgnls
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{NIC=NLS>NCTRL.NLS5;9, 1l-JAN=T72 22:31 BLP ;
FILE nectirl % L0 to <NICU=NLS>NCTRL %
DECLARE nofile = FALSE, noct = FALSE, notyetv = '7i
%semain control..%
—>{we) PROCEDURE;
%This routine determines
transfers control to the

the command being specified and
appropriate routine.%

disarm(); an(); zap();
CASE curchr OF
='a: ‘%apovend®
qas();
='D:  %oreak®
qos ()3
s'e: f%copyk
BEGIN
GROUP ¢« edit; DSP(LCopy t#esx);
CASE input() OF
='c: gec(); %copy character®
='w: qewl(); %copy wordsh
='n: qgcn(); %copy numobery
='v: qev(); #%copy visible%
='i: gei(); %copy invisibvle%
='1: qgel(); wcopy linK%
='t: qet(); %copy texts
='g: qes(); %copy statement?
='b: qeb(); %copy branch%
='p: qep(); %copy plexsk
='g: qeg(); %ecopy group%
=CA: REPEAT (ec)
ENDGCASE
BEGIN
caqm(); REPEAT;
END}
END;
s'd: %delete%
BEGIN
GROUP ¢ edit; DSP(LKlelete t#es#);
CASE input() OF
='c; qde(); %delete character%
='w: qdw(); %delete word%
=ln: qdn(); %delete numbers
slv: qdv(); %delete visible%
s'i: qdi(); %delete invisible%
='1: qdl(); %delete 1link?%
=1t qdt(); %delete vext%
='s: ads({); %delete statementi?
='b: qdb(); %delete branch%
='p: aqdp(); %delete plex%
='gs adg(); %deletle group?
2CA: REPEAT (ec):
ENDCASE
BEGIN
caam(); REPEAT;

END3
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ENDj;

=ler %execute%®

qex ()

slf: %freeze%

qfreez();

slg: %goto%

gqegoto() s

='i: %insert%

BEGLN
GROUP ¢ edit
CASE input()
=tes aqic();
='w;: qiw(
='n: ain(
='v; qgiv(
='i: gii(
='1: qil(
s1t: ait(
slg: gisi
='b: aib(
='p: qgip(
='gs qiel
=0A: REREAT
ENDCASE
BEGIN

e we tws wa las we ar Tew e

caaqm(); REPEAT:

END;
END;

='j:  %jumph

<JUMP, newJm

=1l: %load%

<IO0CTL, qi>|(

='m:  %moved

BEGIN
GROUP « ediwu
CASE inputd()
zlc: ame();
2'ws qmw(
='n: amn(
=lv: gmv(
=ti: ami(
='1: gml{
='t: gmu{
(

tam e an W We e s We we

1
o
L0
=3
=

='g: amg();

=CA: REPEAT

ENDCASE
BEGIN

caqm(); REPEAT;

END3
END;

s'o:  %outout%

<IOCTL, ao>(

='r: %replace%

4:01

: DSP(KInsert t%es¥*);

oF

sinsert characters
%insert woras%
%insert numnbers
%insert visihle%
%insert invisible%
#insert link%
%insert texts
%insert statementi
%insert branch%
#insert plex%
#insert group%

(ec)

p>i);

)3

; DSP(<Move t#es#);

OF
hmove
»move
%»move
%hmove
smove
amove
Fnove
hmove
hmove
“hmove
amove

{ec) ;

)3

characterd
words
numeery
visible%
invisible%
1ink%
texth
statement%
branch%
plex%h
group

CNIC=NLSP>NCIRL.NLS;9

2
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BEGIN

GROUP ¢ edit;

CASE input()
aieg 4re();
‘Wi oqrw();
ng qrn();
'vi qrvi();
'i: ardi()
'1: qrl()
't: art()
's: qrs()

)

)

)

wa e

Mo ommonn

n

'b: arbl

Wwa 9 we Be we Bu

=CA: REPEAT
ENDCASE
BHGIN

OF

{NIC~NLS>NCTRL.NLS;9

D8P ({keplace TH#es#*);

%replace characterd
preplace wordk
%replace number%
%replace visible%
%replace invisible%
»replace link%
%replace text%
%replace statements
%replace branch%
%replace plex%
%#replace group%

(ec) s

cagm(); REPEAT;

ENDS
END;

=ls: ‘%substitute%

BEGIN

DSP(<Substitute ¢ Statement);

CASE input()
='s: qsubsi()

a'p: gsubp()

=CA: REPEAT

OF

3 %8substitute statement%
s'h: qsubo(); %substitute branchéb

;3 %supstitute plex%

='g: asubg(); %substitute group%

{('s);

cagm(); REPEAT;

ENDCASE
BEGIN
END3
END:
='t: %transpos
BEGIN

GROUP ¢ edit;

CASE input()
'e: qte();
Tws qtw(
‘n: qin(
v atv(
1i: qti(
11: qtdl

(

(

(

HonoBmononon

't: att
's: qts
'o: qtb
'p: qipl
=lg: qtel(
=CA: REPEAT
ENDCASE

BEGIN

e%

oF
%transpose
%htranspose
%transpose
%transpose
%transpose
“Ztranspose
%htranspose
Atranspose
%transpose
%transpose
%transpose

(ec);

cagqm() s REPEAT;

END;
END3

='u:  %update file%

DSP({ Transpose T %es#*);

charactery
words
number%
visible?®
invisible®
Link%
text%
statement%
pranch%
plex%
group%

3
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<I0CTL, quf>();
='v: #%view set%
qvs();
=Ix: hxset%
[BEGIN
| GROUP « edit; DSP(<Xset T xesg#*)}
| CASE input() OF
| sted axc(); #»set character%
| ='w: axw(); %set word%
a'ln; gxn(); %set nunpers

='v: axv(); %set visible%
='1: qgxi(); %set invisible%
='1: axl(); %set link%
='t: axu(); %set text%
=18: gxs(); %set statement?%
='b: gxb(); %set branchi
='p: gxpl(); %set plex#
='g: axg(); %set group%
='m: %set mode?
BEGIN
axm();
DSP(e<Xset T xes#*); REPEAT;
END;
=CA: EEPEAT (ec);
ENDCASE
BEGIN
caqgqm(); REPEAT;
END3
_END;
ENDCASE
BEGIN
caam() s
input();
REPEAT;
END;:
GOTO STATE;
END.

(wait)

{NIC=-NLS>NCTRL.NLS:9

%1This routine ignores all characters until it encounters:
a command accept, in which case it returns;
a comand delete, in which case it recreates the display

and goes to state%
fmm—mmmmnee--l
PROCEDURE;
disarm(); af();
CASE input() oOF
=CD; GOTO STATE;
=CA;
BEGIN
an(); RETURN;
END3
ENDCASE REPEAT;
END,
(cagm)

%This routine is used to display a question mark in the

I
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command feedbacK line when one of the command reccgnition
routines doesn't recognize a character. If the current
character 1s anytilhing out a command accept or commnd delete,
the routine displays a question mark next to the command
feedback 1line arrow, geis another character', and returns,%
%-——---—--u——%
PROCEDURE
CASKE curchr OF
=0D: GOTO STATE;
ENDCASE
BEGIN
gn{)s RETURN;
END;
END.

(recred)

PROCEDURE};

LOCAL filel, file2, da, end;

LOCAL STRING astrng(kJj;

REF da;

¥astrng# ¢ NULL;

dn(3astrneg); ,

IF NOT cdeasy THEN %regenerate display for all da's%
alldsp()

ELSE %set dadsp flag for appropriate da's%
BEGLN
IF cdl = endfil THEN filel ¢ =1
ELSE filel ¢ qdl.stfile;
IF cd2 = endfil THEN file2 ¢« =1
ELSE file2 ¢ cd2.stfile;
IF filel NOT IN [1l, filecnt) THEN filel ¢« =1;
IF £ile2 NOT IN [1, filcnt/ THEN file2 ¢ =]1;
end « (&da « Bdpyarea) + dals#dgentg

Do
I¥ da,daexis AND NOT da.daempty AND (da.dacsp.stfile =
filel OR da.dacsp.stfile = file2) THEN
da.dadsp ¢« TRUE
UNTIL (&da « &da + dal) >= ena;
{DSPGEW, seldsp>();
END;

caeasy ¢« FALSE;
<NLS, AUXCOD, pause>(50);
% pause for 50 milliseconds to keep teneéx happy %
RETURN;
END.
(dstart)
PROCEDURE ;
SIATE et rtyspec;
cdeasy ¢« FALSE;
recred();
GEREEE )
END.
(nlsrst)
PROCEDURE !
IF nlmode = typewriter THEN reset()
ELSE cmdrst();
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END.
(emdrst)
PROCEDURE;
STATE ¢ z7,spec; DSP(<Command Reset ¢);
af ()3
incse ¢ FALSE;
main();
END.
(main)
PROCEDURE
disarm(); croot(); zapl():;
ON SIGNAL =~}: %called from rubout% cmdrst(); ELSE SIGNAL;
input(); we();
END«
%esappendss%
(qas) %append statement command%
PROCENURE:
LOCAL cdot;
GROUP « edit; STATE « xa,edit; ENTITY « s,Statement;
DSP(«< Append Statement);
LOOP
BEGIN
#1it# ¢ NULL;
cdot ¢ in2stca(sbl, $b2, 81lit);
LOOP
BEGIN
Xas(#bl, b2, #1lit);
recred();
IF NOT cdot THEN EXIT;
#1it# ¢ NULL;
cdot « inlsteca (b2, #1it);
END3s
END;
END.
%esbreaksab
(qbs) “%break statement command%
PROCEDURE;
LOCAL STRING levif20];
GROUP ¢ edit; STATE ¢ bs, edit; ENTITY « s, Statement;
DSP(¢< Break Statement);
LOOQP
BEGIN
#1lit+ « NULL;
INPUT BUG bl LEVADJ levj TEXT 1lit CA;
Xbs(ébl, $levi, H1lit);
recred();
END;
END,
%.-copy--%
(qee) %Copy Character command%
PROCEDURE;
STATE ¢ cc, edit; ENTITY ¢ ¢, Character;
DSP(«< Copy Character );
gemtl (xXce) END.
(qcw) %Copy Word Command%
PROCEDURE:
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STATE ¢ cw, edit; ENTITY ¢ w, Word;
DSP(« < Copy Word );
gemtl ($xcw) 3
END.
(qen) %Copy Number Command%
PROCEDURE :
STATE « cn, edit; ENTITY ¢ n, Number;
DSP(¢ < Copy Number )3
gemtl(exen) s
END.
(gqev) %Copy Visible Command%
PROCEDURE:
STATE ¢ cv, edit; ENTITY « v, Visible;
DSP(¢ < Copy Visible );
gentl (Exev) ;
END.
(qei) %Copy Invisiole Command%
PROCEDURE;
STATE « ci, edit; ENTITY e i, Invisible;
DSP(« < Copny Invisible );
gemtl (sxci) ;
END.
(gecl) %Copy Link Command%
PROCEDURE
STATE & ¢cl, edit; ENTITY ¢ 1, Link;
DSP(¢ < Copy Link )3
qemtl (exel);
END.
(gcmtl) PROCEDURE (proe);
LOCAL cdot:
REF proc:
LOOP
BEGIN
cdot ¢ <PRNSPC, in2cad>($bl, $b2);
proc(8bl, &b2);
recred():
WHILE cdot LO
BEGIN
cdot « inlca ($b2);
proc($bl, $b2);

recred|();
AND:
END3
END.
(qet) %Copy Text Command
PROCEDURE

STATE ¢ ct, edit; ENTITY ¢ t, Text;
DSP(e« < Copy Text );
gente (3xet) 3
END.
(qemt2) PROCEDURE (proe);
LOCAL cdot;
REF proc;
LOOP
BEGLIN
cdot « in3ca(8bl, $p2, »b3);
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proc(%bl, $b2, &b3);
recred();
WHILE cdot DO
BuGIN
cdot « in2ca(sbz, Ib3);
proc (sbl, %b2, $b3);

recred():;
END;
END;
END.
(ges) %Copy Statement Command%
PROCEDURE:

STATE ¢ gg, edit; ENTITY ¢ s, Statement:;
D8P(¢ < Copby Statement );
qemsl (gxes);
END.
(qebh) %Copy Branch Command%
PROCEDURE:
STATE « cb,edit; ENTITY ¢ b,Branch;
D8P (¢ < Copy Branch );
qemsl ($xcb) ;
END,
(gep) %Copy Plex Command%
PROCEDURE:
STATE ¢ cp, edit; ENTITY ¢« p, Plex;
DSP(« < Copy Plex );
gcmsl (BxXep) 3
END.
(qemsl) PROCEDURE (proc);
LOCAL cdot;
LOCAL STRING levj[20];
REF proc;
LOUP
BEGLN
cdot « in2sadj(sbl, b2, slevi);
bl « proc(§bl, #b2, slevi):
recred();
WHILE cdot DO
BEGIN
cdot e inlsadj($b2, slev]
bl « proc($bl, &b2, dlev]
recredi();
END:
END;
END.
(qcg) %Copy Group Command%
PROCEDURE:
STATE ¢ cg,edit; ENTITY ¢« g,Group;
DSP(« < Copy Group );
gemsz ($xep) 3
END,
(qems2) PROCEDURE (proc);
LOCAL cdot;
LOCAL STRING levj[20/;
REF proc:
LOOP

ot

e W

8
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BEGILIN
cdot « in3sadj($bl, $b2, $b3, Hlevi);
bl « proc(abl, &b2, $b3, %levi):;
recred() ;
WHILE cdot DO
BEGIN
cdot « inZsadj(sp2, &b3, %levil;
bl ¢ proc(#bl, &b2, $b3, 3lev]);
recredl);
END:
END;
END.

%esdelete..%

(qdec) %Delete character command%
PROCEDURE:
STATE « de¢, edit; ENTITY « ¢, Character;
DSP(¢ < Delete Character);
gqdtl($xdc):
END,
(qdw) %Delete Word Command%
PROCEDURE;
STATE ¢ dw, edit; ENTITY ¢ w, Word;
DSP(« ¢ Deletve word);
qdtl ($xdw) ;
END,
(qdn) %Delete Number Command%
PROCEDURY;
STATE « dnn, eait; ENTITY ¢ n, Number;
DSP(« < Delete Number);
qdtl ($xdn) ;
END,
(qdv) %Delete Visible commandh
PROCEDURE;
STATE ¢ dv, edit; ENTITY ¢ v, Visible;
DSP(« < Delete Visible);
qdtl ($xdv) ;
END.
(gdi) %Delete Invisible Command%
PROCEDURE ;
STATE ¢ di,edit; ENTITY ¢« i,Invisible;
DSP(« ¢ Delete Invisible);:
gdtl(3xdi);
END.
(gdl) %Delete Link Commanc®
PROCEDURE }
STATE « dl, edit; ENTITY ¢« 1, Link:
DSFP(« < Delete Link);
qdtl (8xdl);
END,
(gdtl) PRUCEDURE (proc):;
REF proc;
LOOP BEGIN
inlca(&bl);
proc(#bl);
recred{);
END;

{NIG=NLS>NGTRL.NLS39

9
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END.
(gdt) %Delete Text Command%
PRUCEDURE;
STATE « dt, edit; ENTITY « t, Text;
DSP(¢ ¢ Delete Text);
qdt2 (8x4t) 3
END.
(qat2) FROCEDURE (proc);
REF proc;
LOOP BEGIN
in2ca ($bl, $02);
proc(shbl, sb2);
recred():
END:
END,.
(qds) %Delete Statement Command%
PROCEDURE
STATE ¢« ds, edit; ENTITY ¢ s, Statement)
DSF(« < Delete Statement);
qdsl(3xds);
END.
(qdb) %Delete Branch Commandb
PROCEDURE 3
STATE ¢ db, edit; ENTITY e b, Branch;
DSP(¢ < Delete Branch);
qdsl(%xdb) END.
(qdp) %Delete Plex Command%
PROCEDURE 3
STATE ¢ dp, edit; ENTITY « p, Plex;
DSP(¢ < Delete Plex):
qdsl ($xap) END.
(qdg) %Delete Group Ccommand%
PROCEDURE
STATE « dg, edit; ENTITY ¢ g, Group;
DSP(¢ < Delete Group);
qds2 (Bxdg) END.
(qdsl) PROCEDURE (proc);
REF proc;
LOOP
BEGIN
inlsca (®bl);
proc(&bl);
recred();
END3:
END.
(qds2) PROCEDURE (vroc):
REF proc:
LOQP
BEGIN
in2sca (sbl, ©b2):
proc (3vl, &b2);
recred();
END;
END.,
%..execﬂbe.-%
(aex) PROCEDURE;
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LOCAL
dir, fileno, da, Jjfn, filtyp, striyp, chngflg, newmod, newdev,
inswtch, errs, i, tvabfld, dlleft, dlregnht;
LOCAL TEXT POINTER stid, stidl, stidz, tp;
LOCAL STRING namstng([60J, str[L00j, levj(20];
REF da;
DSF ({Execute 71):;
CASE input() OF
=lag: %assimilste®
BEGIN
DSP (<{Assimilate ftBranch);
CASE input() OF
='b:
BEGIN
strtyp « prnchv;
DSF(aesdranch);
END;
='gs
BEGIN
Striyp ¢ groupv;
DSP(seaGroup);
END;
s'p:
BEGIN
SLrtyp « plexv;
DSP(eeePlex);
BND;
='s:
BEGIN
striyp +« stntv;
D8P (eeeStatement);
END;
=C0A: REPEAT CASE ('b);
ENDCASE
BEGIN
caqnm();
REPLEAT;
END;
LDSP ()
INPUT STID stid; %get tareget statementk
CASE striyp OF
=3tmtv, =brnchv:
BEGIN
INPUT STID svuidl;
stid2 « stidl;
END;
sgroupve
BEGIN
INPUT STID stidl STIL stidz;
stidl ¢ <STRMNP, grptst> (stidl, stid2 : stid2);
END;
=plexv:
BEGIN
INPUT STID stidl;
stidl ¢ <STRMNP, plxset> (stidl : stid2);
END;
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ENDCASE err(0);
INPUT LEVADJ levi CAj;
invapc (&da « lda());
IF sysvspec.vsrlev THEN
sysvspec « {SEQGEN, reslev> (sysvspec,
IF strtyp = stmtv THEN
sysvspec,vslev « getlev (stidl):
xea (svid, stidl, stid2, $levj, sysvspec,
da.dausqcod, da.dacacode);}
freflnt();
recred();
END3s
='b: %Browse Mode%
BEGIN
DSP(eee Browse tEnter):
cdget (FALSE) ;
CASE inpuv() OF
=CA, ='e:
BEGIN
DSE(#);
&da « dsparea(icdal());
xebe(da.dacsp.stfile);
END3;
=171
BEGIN
DSP(... Browse Leave);
D5P(«);
WHILE input() # CA DO cagmf);
&da ¢ dsparea(lcda());
DSP(tKeep Changes);
CASE input() OF
='y, =CA:
BEGIN
D3P(sss Ohanges Yes):
chngtlg « TRUE;
END;
='n:
BEGIN
DSP(ess Changes NoO);
chngfleg ¢ FALSE;

END;
ENDCASE
BEGIN
caanm();
REPEAT;
END;
xebl(chngflg, da.dacsp.stfile);
END;
ENDCASHK
BEGIN
cagnm();
REPEAT;
END;
recreal);

END:
=le: %Content Analyzerd

getvlev (stidl)):

sysvspec{l/,
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BEGIN

DSP(<{Content AnalyZere);

#str# ¢ NULL;

INPUT (BUG vp CA inswtch e TRUE;
TEXT str CA inswtch ¢ FALSE;);
NOT inswtch THEN

BEGIN

#aLr# e #str#, "; "3

IF

/

(NLIU=NLSPNOLRL ,NLB 39

Type CA.";

FIND SF(#str#) tip;
END;

IF (errs « xgpe (stp, lda())) THEN
BEGIN
#8tr* ¢ STRING(errs), " error(s):
dismes (1, &astr);
clrbuf (0); % clear input buffer %
LOOP IF input() = CA THEN EXIT;
dismes (0);
END;

END;

='dq: %Device Specification%
BEGIN

DSP(<Device Specification )3
err(notyetv);
CASE input() OF

= '3;
CASE input() OF

= '3;
BEGIN
newdev « tty33;
newmod ¢ typewriter;
CINPFBK, dn>(8"33 tty");
END;

= 15:
BEGIN
newdev « tty35;
newmod ¢ typeuriter;
{INPFBK, an>(3"35 tiy");
END;

= '
BEGIN
newdev « tty37;
newmnod ¢« typewriter;
INPFBK, dn>(8"37 tty");
END;

ENDCAEE
BEGIN
an() ;
REPEAT 2;
END}

= 'D:
BEGIN

newdgev « display:

newnod ¢« fulldisplay;
CINPFBK, dn»($"display");
END;

‘B

13
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BEGIN
newdev « execuport;
newmnoa « typewriter;
CINPFBK, dnp ("execuport");
END;
g 'T;
BEGIN
nevdev ¢« titerminal;
newnod « typewriter;
{INPFBK, dan»>(s"ti=-terminal");
END;
7:
BEGIN
digmes (3, &"Legal devices are:");
dismes (3, »" 33 TTY");
dismes (3, &" 35 TTY"):
dismes(3, &' 37 TTY");
dismes(3, #" Execupcort");
aismes(3, &" Texas Inst. Terminal");
dismes (3, %" Display");
rl « 10000;
1JSYS disms;
dismes (0);
REPEAT;
END;
= CD: GOTO STATE;
ENDCASE
BEGIN
qm();
REFEATS
END;
xed(ledal(), newdev, newmod); %execute command%
ZDOES NOT RETURN%
END3
=lg: %Error termination%
BEGIN
DSP(e<Error termination "|"); wait(); wait(); wait();
xee(); %execute command%
END:
z=!'f: %File Verify#
BEGIN
LOQP
BEGIN
D8P («<File Verify):
CASE input() OF
=CA: BEGIN
af();
xef ({DAC10O, lcfiled>(), L);
EXIT LOOP;
END;
=CD: GOTO BTATE;
ENDCASE;
DSP(ses Checksum);
CASE input() OF
=CAa: BEGIN
af();

n

14
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2xef ({DACLO, lcfile>(), Q)3
EXIT LOCP;
END;
=Ch: GOTO STATH;
ENDCASE;
END;
GOTO STATE;
END:
='i: %Insert Sequential%
BEGIN
DSP (¢ <lnsert Sequential);
#levi® « NULL;
inlsadj (stp, &levil;
DSP (¢« <Tenex File);
filtyp ¢ tenfiil;
LOOP
CASE input() OF
='as
BEGIN
DSP(«<{Assempler File);
f£iltyp ¢ macfil;
END;
AR
BEGIN
LDSP(«<Tenex File);
f1ltyp « tenfil;
END3
=I9:
BEGIN
LUSP(«<"90" File);
tiltyp « niuOf£il;
LND:
=CL: GO TO STATE;
=CA: EXIT LOOP;
ENDCASE cagn();
ON STIGNAL
= ofilerr: % input file could not be opened %
BEGIN
dismes (2, sysmnsg);
clrouf (0); % clear the input puffer %
GOTO eisflnm;
END;
ELSE;
(eisfinm):
DSP (<File *);
#namstng# « NULL3
INPUT VISIBLE namstng OA; % get file name %
xel (tp, #levy, snamstng, £iltyp);
recred();
END3
='j: %Journal submission?
BEGIN
DSP(«< Journal )3
djcontrol();
END:
='m: %Marker Stuff?



BLP,

dl=JAN='f2 2310l

BEGIN
GROUP « spec}
DSP(<Marker 7 Fix);
CASE input() OF
=1 f: %Marker Fix%
BEGLN

STATE « pf, spec}
DSP («<{Marker Fix);

#1lits « NULL;

inlteca(#$bl, B1litv);

(NIU=NLS>NCLRL.NLS3Y

Xemf (8bl, $1lit); %execute command%

recred();
END;

='1: %Marker List Show%

BEGIN

DSP(¢ ..o LiSL Show);

xenl( lefilel
wailt();

GOTO STATE;
END;

='r: %Marker Release%

BEGIN

D3P(sas Release TAllJ;
CASE input() OF

=la:
BEGIN
D8P (¢);

xemra( lefile( wait()
command%
recredl);

END:
='t:
BEGIN

STATE ¢ prt,

sexecute commandas

)) i %execute

DSP(#<{Marker Release Text);

in2ca (8bl, %b2);

xemrt (s5bl, $b2); %execute command%

recred();

END;
=CA: REPEAT ('a);
ENDCASE

BEGIN

cagm() ;

REPEAT

END;

END;
=CA: REPEAT ('f£);
ENDCASE
BEGIN
caan();
REPEAT;
END;

END3
='n: %name aelimiters%
BEGIN

LDSP({Name delimiters + Statement);

L6



BLP, ll=JAN=T72 23:01 {NIC=NLS>NCTRL.NLS;9

CASE input() OF
='d: %name delimiters display?®

BrGIN

DSP(e < Name gelimiters Display);

Loor
BEGIN
INPUT STID bl;
<{10CTL, clist>(noct, nofile, nofile);
cdset (TRUE, $bl, &bl);
{AUXCOD, getnmdls)(bl, &str);
dn ($str);
INPUT CAj
{IOCTL, clupdt>();

recred();
END3
END;
='s: %name delimiters statement®
BEGIN

DSP (¢ < Name delimiters Statement);
qensl (&xens):
END3:
='p: %name delimiters branch%
BEGIN
D3P (¢ < Name delimiters Branch);
gensl ($xenb) ;
END;
='p: %nane delimiters plex%
BEGIN
DSP(e < Name delimiters Plex):
gensl($xenp);
END;
='g: %name delimiters groupk
BEGIN
DSP(« < Name delimiters Group);
qens2 (xeng) ;
END;
=0A; REPEAT ('s);
ENDCASE
BEGIN
caqgm();
REPEAT;
END;
END3
='0: %OWnership of File%
BEGIN
PSP («<0Ownership ©f File);
wait();
xeo(lcfile()): %execute command%
GOTO STATE;
END;
='q: %Quit%
HEGIN
DSP(Quit)s wait();
xeaq(); %execute command%
END:
='r: %Reset rartial Copy%

L7
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BEGIN
DSP(<Reset Partial Copy);
&da & lda();
fileno « ua.dacsp.stfile;
#namstng+ ¢« NULL:
filnam(fileno, &namstng);
an(snamstng) ;
wailt();
DSP("Really?"):
wait();
Xer(&da); %execute command%
recred();
ERD:
='s: %Secondary distribution and status%
BEGIN
DEP(€<8);
CASE input() OF
='e: %Secondary Distribution%
BEGIN
DSP(«< Secondary Distripution);
DSP (1T Document Number "e=1);
CASE looKkc () OF
=CA,=CD: GOTO STATE;
IN ['0,'9]):
BEGIN
DSP(70FF) ;
ddistd();

END;
ENDCASE
BEGIN
input();
am() ;
END;
END;
='y: %Statush
BEGIN

DSP(L8tatus 1);
CASE input() OF

='v: gviewspecsy
BEGIN
DSP(Viewspecs) ;
wait();
DSE(#«);
{NLS, TACT, curvsp>(dsparea(lcda()), $1it);
END;

s='1l: %Link stack%
BEGIN
DSP(Link stack):;
wait();
DSP(«};
<NLS, NLSEX, xesl>(slit);
END;

(='f:  %Filebd
BEGIN
D8P (File);
wait():
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DSP(«); ‘
{NLSEX, xesf>(lcfile(), ®lit); %execute
commandd
END;
ENDCASE GOTO STATE;
#1it* e %*1it*, EOL, EOL, "Type CA":
<LITDSP, 1litdpy>(8liv):;
wait();
recred{();
END;
ENDCASE
BEGIN
caqgqm() ;
REPEAT CASL;
END;
END3
='t: %tabstop settings?
BEGIN
DSP({Tabstops Sevr);
&«da « lda():
FOR 1 ¢ ®=datapO UP UNTIL > #datab§ DO
BEGIN
tabfld « [1/;
#¥namstng* ¢ STRING (da.tabfld / da.dahinc);
dn ($namstng);
CASE looke() QF
=CA, =BW, =BC: NULL;
ENDCASE #namstng# ¢ WNULL;
INPUT NUMBER namstng CAj;
da.tapfld « MIN (L8M, cvsno(&namstng) % da.dahinc);
END;
END;
s='u: %Zunlock file%
BEGIN
D3P (<Unleock File ¢);
fileno ¢ lcfile();
#nametng* ¢ NULL;
filnam(£fileno, $namstung);
dn(snamstng) ;
walt();
DSP("Really?");
wait();
{NLSEX, Xeu)>(fileno);
recred();
GOTO STATE;
END;
='w: %Display WSI Measurements%
BEGIN
DSP(<Display VWSI Measuremnents):;
CASE lookc() OF
=CA:
BEGIN
input();
¥namnstneg# ¢ "Average WSI wait = ";
typeno(mswsit/mswsic, 8&namnstng);
#nanstneg# ¢ #¥namstng#, " milliseconds';
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dismes(l, fnamstng);
waitv():
dismes (0);
END;
=t
EEGIN
input();
MSWSit « mswsic ¢ 03
dismes (2, &"WSI measurements initialized.");
END;
ENDCASE REPEAT CASE 2;
END;
ENDCASE
BEGIN
cagnml);
REPEAT;
END3
GOTO STATE;
END,

(aensl) PROCEDURE (proc):;

LOCAL STRING strifhl], strr(il;

LOCAL aa, dlleft, dlrght;

REY proc;

strl.L « strr.L ¢ empty;

INPUT STID bl; da « dsparea(lcda()):

dn (3strl):;

DSP (t0FF < Left Name Leliniter);

INPUT (CA / WORD strl CA);

dlleft «
IF strle.lL =empty OR (FIND SF(#stri#) ("NULL"/"null")) THEN O
ELSE #strl*({l];

an (sestryr);

D3P (< Right name Delimiter);

INPUT (CA / WOKD strr CA);

dlregnt «
IF strr.L =empty OR (FIND SF(#strr#%) ("NULL"/"null")) THEN ©
ELSE #gtrr#/l);

DSP (£ "GoT");

INPUT CA:

proc ($bl, dileft, dlrght, da);

recred();

RETURN;

END.

(gens2) PROCEDURE (proc);

LOCAL STRING 8trlfli], strr/ih];

LOCAL da, dlleft, dlrght;

REF proc;

strl.L « strr.lL « empty;

INPUT STID bl STID b2; da « dsparea(lcda());

dn (8stri);

DSP (T0FF < Left Name Delimiter);

INPUT (GA / WORD strl CA);

dlleft «
IF strl.L =empty OR (FIND SF(#strls#) ("NULL"/"null")) THEN O
ELSE #strl#/[l];
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dn (&strr);
DSP (< Right Name Delimiter):
INPUT (CA / WORD strr GA);
dlreght «
IF strr.lL =empty OR (FIND SF(#strr+) ("NULL"/"null”)) THEEN ©
ELSE #strrs*(l]:
DSP (< "Go?");
INPUT CA;
proec ($bl, dlleft, dlrght, da);
recred();
RETURN;
END.
hesireeze..%
(qfreez) %Freeze Stuff?
PROCEDURE 3
LOCAL TEXT POINTER tptr;
LOCAL dpa, srcdpa, Lgtdpa, char;
REF srcecdpa;
GROUY « spec;
DSP (£ Freeze t Statement);
CASE (char « lookcl()) OF
='s:

BEGIN
input();
REPEAT CASE 1(CA);
END:

=CA: %Freeze Statement?
BEGIN

STATE « KkKf,spec;
DSP (¢ < Freeze Statement);
inlsca (8bl);
&srcdpa ¢ dsparea(lcda()):
<I0CTL, clist>(noct, pl.stfile, nofile);
cdset (TRUE, 8bl, endfil);
tgtdpa « invspc (&srcdpa);
<AUXCOD, frzstvat> (tgtdpa, bl, sysvspec, sysvspec(l]);
dspvsp(srcdpa,davspec, srcdps.davspci, 3);
<IOCTL, clupdt) ();
recred() ;
@0To STATL;
END;
='r: %Release Statement?
BEGIN
input();
STATE « Kr,spec;
DSP(¢ < kelease Statement):
inlsca(&atptr);
tptr{l] « 1;
dpa ¢ dsparea(lcda());
<I0CTL, clist)>(noct, tptr.stfile, nofile);
cdset (FALSE) ;
{AUXCOD, relstat> (dpa, tptr);
{IOCTL, clupdt> ();
recred();
GOTO STATH:
END3
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='a: %Release All%
BEGIN
input();
DSF(«{ Release All);
dpa « dsparea{lcda(wait()));
Lptr « [dpal.dacsp;
tpirfl) « 1;
<I0CTL, clist)(noect, tptr.stfile, nofile);
cdset (FALSE) ;
AUXCOD, relall>(dpa);
<IOCTL, clupdt> ()3

recred();
ZND;
ENDCASE
BEGIN
input ()
caanm();
REFPEAT;
ERD;
GOTO STATE;
END.
%u-EDLDQQ'?ﬂ )
(agoto) K}ﬂk)
PROCEDURE: g

LOCAL jfn,~guflag;

LOCAL STRING f£lnam/1l00/;

DSP(<Gote T Display Area Control);
CASE input() OF

s'b: %Baseline Packaged o ol L le
CBASELN, qgb> ();  — ~ c: % _GGWA J e 'fﬁasﬂg
='d: GDispLay 4area rackaged REGTN B
BEGIN & ;,Q4.pﬂﬂ*'ﬂ oF
cdessy « FALSE; (ho o TP = L WY Teut .
{DACTRL, damain>(); ;g@“& ¢ ASt ¢ {GEF
END; - Cre 19Y0° ) e ASE)
=im: %Merge% .Wﬁﬁﬁ’ ogf' , _
BEGIN T Yo S ‘ &QﬁQ\)
DSP (<Merge * Plex); o le &5 HRqbad e(gh
CASE input() OF 93 Ay ‘68 e
='b: %Merge Branch% ~ ¢ NSF
BEGIN END T A0
DSP (¢ £ Merge Branch); G e “’{E,
qatsl(sxgmeo) ; e Y
END; T ¥E
='g: %Merge Group% N
BEGIN ANRY

DEP (¢« < Merge Group);

qts2 (6xgneg) =

END3 EAVNTDY
='p: %HMerge Plexh /

BEGIN

DSP (¢ < Merge Plex);

gtsl(Sxemep);

END;
=CA: REPEAT ('p);
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ENDCASE
BEGIN
caagm() ;
REPEAT;
END;
END;

='p: %Programs%
CUSRFGM, qgp> ();
=lg;: %8ort%
BEGIN
ON SIGNAL
=gortuerr: BEGLIN
dismes (1l,sysmsg);
LOOP IF input() = CA THEN EXIT;
dismes (0);
GOTO STATE;
END;
KLSE;
DSP (<Sort * Plex);
CASE input() OF
a2'p: %Sort Branch%
BEGIN
D3P (« < Sert Branch);
qasl (Bxgsop);
END;
='g: %3ort Group%
BEGIN
DSF (« < Sort Group):
qds? (8xgsog) ;
END;
='ps %Sort Plex%
BEGLN
DSP (« < Sort Plex);
qdsl (xgsop);
END;
=CA: REPEAT ('p);
ENDCASE
BEGIN
cagqm();
REPEAT;
END;
END:
='u: %Use measurementsé%
BEGIN
D3P (e<Begin Use MNeasurements);
guflag « TRUE:

LOOP
CASE input() OF
='b:
BEGIN

DSP(«<{Begin Use Measurements);
guflag « TRUE}
END;:
=leg:
BEGIN
DEP(«<End Use Measurements);

23
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guflag « FALSE;
END;
=CA: EXIT LOOP;
=CD: GOTO STATE;
ENUCASE aqmi);
IF guflag THEN
IF NOT msflag THEN
BEGIN
DSP(<{To File t);
*flnamn* « NULL;
INPUT VISIBLE flnam CA}
IF NOT (jfn ¢lgetjfn (0, $flnam, $txtext, gtjoosf,
$1it)) THEN err ($1lit):
D3P (<"Update Interval (minutes)"t);
#s5tno* ¢ NULL;
INPUT NUMBER stno Caj
{AUXCOD, initms> (jin, cvsno (%stno));
END
ELSE dismes (2, &"Measuremenis Being Kecorded")
ELSE <AUXCOD, closms>()3
END;
=CA: REPEATI('d):
ENDCASE
BEGIN
cagm();
REFPEAT:
END3
GOTO STATE:
END,
%-.inﬁert..%
(qic) %Insert Character command%
PROCEDURE !
STATE ¢ ic, edit; ENTITY ¢ ¢, Character:
DSP(«< Insert Character);
qitxt (8xic) END.
(qiw) %Insert wWord Command%
PROCEDURE
STATE ¢ iw, edit; ENTITY e w, Word;
DSP(«< Insert Vord):
gitxXt (sxiw) END.
“(qin) %Insert Number Command%
PROCEDURE s
STATE ¢ in, edit; ENTITY ¢ n, Number;
DSP({e Insert Number);
gitxt (8xin) END.
(qiv) #%#Insert vVisiole Ccommand%
PROCEDURE :
STATE ¢ iv, edit; ENTITY ¢ v, Visible;
DSP(«< Insert Visible);
qitxt (8xiv) END.
(qii) %Insert Invisible command%
PROCEDURE
STATE ¢ ii, edity ENTITY e i, Invisible;
DSP(«¢ Insert Invisible);
qitxt(8xXii) END.
(qil) #Insert Link commznc%

21l
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PROCEDURE
STATE ¢ i1, edit; ENTITY « 1, Link;
DSP(¢< Insert Link);
qitXt (8x1il) END.
(qitxt) PROCEDURE (proc);
LOCAL cdot;
REF proc;
LOOP BEGIN
#1lit# « NULL;
cdot ¢« inltca(sbl, #lit):
proc(&bl, 3lit);
recred();
WHILE cdot DO
BEGIN
#lit* ¢ NULL;
in0Otca ($1it) 3
proc(&bl, #1lit);

recred();
END3
mhND;
END.
(gqit) %Insert Text Command%
PROCEDURE

STATE ¢ it, edit; ENTITY ¢ t, Text;
DSP(«< Insert Text):
gitxt (éxie) END.
(gis) %Insert Statement Command%
PRUCEDURE ;
STATE ¢ is, edit; ENTITY ¢ s, Statement;
DSP(¢< 1lnsert Statement);
qist () END.
{gib) %Insert Branch Command%
PROCEDURE:
STATE ¢ ib, edit; ENTITY ¢ b, Branch;
DSP(+«< Insert Branch);
qist () END.
(qip) %Insert Plex Commana%
PRUCEDURE 3
STATE ¢ ip, edit; ENTITY ¢ p, Plex;
DSP(e< Insert rFlex);
qist () END.
(qig) %Insert Group Command%
PROCEDURE:
STATE « ig, edit} ENTITY ¢ g, Group;
DSP(«< Inserv Group);
qlst() END.
(qist) PROCEDURE;
LOCAL cdot;
LOCAL STRING levjf20];
LOQP BEGIN
#1it* & NULL:
INPUT STID bl LEVADJ levi TEXT 1iv
{CA cdot « 03 / C. cdot ¢ 1)
bl ¢ xis(&bl, $1lit, Blev]);
recred();
WHILE cdot DO
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BEGIN
#1it# € NULL;
INPUT LEVADJ levy] TEXT 1lit
(CA cdot « 0; / C, cdot « 1);
bl « Xis(®bl, $1lit, 3lev]);
recredl);
END3
END;
ENDa
%. |M°VE||%
(gme) %iove Character command?
PROCEDURE; ;
STATE ¢ pnc, edit; ENTITY « ¢, Character;
DSP (¢«  liove Character);
qentl ($xme) ;
END,
(gmw) %Move Word Command%
PROCEDURE
STATE « nw, edit; ENTITY ¢« w, Word;
DSP(« £ Move Word);
qentl ($xmw) ;
END,
(gmn) %Move Number Command%
PROCEDURE s
STATE ¢ mn, edity ENTITY ¢ n, Number;
DSP(e« < Move Number):
gemtl (8xXmn) ;
END,
(qmy) %Move Visible command%
PROCEDURE;
STATE ¢ mv, edit; ENTITY « v, Visible;
DSP(¢ ¢ Move Visible);
gemntl (exnv) 3
END.
(qmi) %Move Invisible Commandf®
PROCEDURE;
STATE ¢ mi, edit; ENTITY ¢ i, Invisible}
DSP(« < Move Invisible);
gemtl (&8xmi) ;
END,
(gml) %iMove Link Command%
PROCEDURE:
STATE ¢ ml, edit; ENTITY ¢ 1, Link;
D3P(e ¢ Move Link):;
gemtl(Hxml) ;
END.
(gmt) %liove Text command%
PROCEDURE
STATE ¢ mt, edit; ENTITY € t, Text;
D3P (e < Move Text);
qemt2 (ExXnt) ;

END .
(qms) %Move Statement Commandi
PROCEDURE :

STATE ¢« ms, edit; ENTILY e s, Statement;
DSP(+ < Move Siatementu);

26
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gensl($xms) :
END.

(amb) %Move Eranch Command%
PROCEDURE;
STATE ¢ mb, edit; ENTITY « b, Branch;
DSP (¢ < Move Branch):
gemnsl (Bxmb) ;
END.

(amp) %Move Plex command%
PROCEDURE}
STATE ¢ mp, edit; ENTITY ¢« p, Plex;
LSP (e < Move FPlex);
qemsl (8xXmp) 3
END.

(gmg) %Move Group Command%
PROCEDURE;
STATE ¢ mg, edit; ENTITY ¢ g, Group;
DSF (¢« < Move Group);
qeme2 (Hxme) ;
END.

%--replace..%

(qrec) %Replace Character command%
PRUCEDURE
STATE ¢ rc, edit; ENTITY « c, Character;
DSP(«<{Replace Character);
qrul ($xrec);
END.

(grw) %#Replace Word Command%
PRUCEDURE;
STATE « rw, edit; ENTITY « w, Word;
DSP(e«<keplace Word):
qQrul ($xrw) ;
END.

(qrn) %Replace Number Command%
PROCEDURE :
STATE ¢ rn, edit; ENTITY ¢« n, Number;
DSP(«< EReplace Number);
qrvl (8xrn);
END,

(qrv) %Replace Visible Coumand%
PROCEDURE ;s
STATE & yv, edit: ENTITY ¢ v, Visible;
DSP(¢«<Replace Visible);
qrul (sxrv);
END,

(qri) %Replace Invisible%
PROCEDURE ;
STATE & ri, editvj ENTITY € i, Invisible;
D8P («<Replace Invisible);
grtul (s=ri)s
END .

(qrl) %Replace Link Command%
PRUCEDURE ;
STATE ¢ rl, edit; ENTITY ¢ 1, Link:
DSP(«<keplace Link);
qrvl (3xrl);

27
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END-
{grt) %Replace Text Command®
PROCEDURE
STATE « rt, edit; ENTITY ¢ t, Text;
DSP («{Keplace Text);
qrie (8xrt);
END.
(qrtl) PROCEDURE (proc);
LOCAL rpf;
REF¥ proc;
LOQP
BEGIN
#1it#* &« NULL3;
b2 « endfil;
b2[l] « 1;
INPUT BUG bl

(BUG b2 GA rpf « TRUE; /

TEXT 1it CA rpf ¢ FALSE);
proc(rpf, s$bl, #b2, $1lit);
recred ()

END;

END.

(qrt2) PROCEDURE(proc):

LOGAL rpf;

REF procg

LOOP
BEGIN
#1lit* e NULL;
b3 « bl « enafil;
b3[1l) « bufl] « 1;
INPUT BUG bl BUG b2

(BUG b3 BUG blh CA rpi ¢« TRUE; /

TEXT 1it CA rpf ¢ FALSE);
proc(rpf, &pvl, b2, $b3, &bh, $1it);
recred();

END;

END.

(qrs) %keplace Statement Command%
PROCEDURE;
STATE « rs, edit; ENTITY ¢ 3, Statement;
DSP(«<{Replace Statement);
qrsl(sxrs);
END,

(arp) %Replace Branch Command%
PRUCEDURE;
STATE e rb, edit; ENTITY ¢ b, Branch;
DSFP( « <Replace Branch):
aqrsl(s«rb);
END.

(qrp) %Replace Plex Command%
PROCEDURE ¢
STATE ¢ rp, edit; ENTITY ¢ p, Plex;
DSP(«<Replace Plex);
qrsl(gxrpl;
END, ’

(qrg) %Keplace Group Command%
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PROCEDURE:

STATE

« TE, edit;

DSP(«<Replace Group);
qrs2 (sxre) ;
ENLD .

(arsl) PROCEDURE(proc);

LOCAL rpf,

cdot;

LOCAL STRING levil20/;

REF

proc;

LOOP

BEGIN
#1it* ¢ NULL3;
b2 « endfil;
b2[1] « 1:
INPUT STID bl
(STID b2 (C. rpf
CA rpf ¢ 1) /
TEXT 1it (C. rpf
CA rpf « 0));
bl ¢ proc(rpf .A 1,
recred():
cdot ¢ rpf A 23
WHILE cdot DO
BEGIN
#lit# « NULL;

ENTITY « g, Group;

8b2, H1lit);

INPUT LEVADJ lev]j TEXT lit

(CA cdot « 03
ol « xis(&bl,
recreal);
END:
END;

END.,

(qrs2)

PROCEDURE (proc) ;

LOCAL rpf, cdot;

LOCAL STRING levjf20];
REF proc:

1L.OOP

BEGIN

#1lit* « NULL;

b3 ¢« bl « endfil;
b3{1] « bL[LS « 1;

/ C. cdot « 1);

$lit, slevi);

INPUT STID bl STID b2

(STID b3 STID bl

TEXT 1it (C. rpf
bl ¢« proc(rpf A 1,
recred();
cdot « rpf A 23
WHILE cdot DO

BEGIN

#1litv¥ e NULL;

(Ce
« 2;

rpf « 33

CNIU=NLS2NUVHLsNLS3Y

/ CA rpf « 1) /
/ CA rpf « 0));

$bl, b2, $b3, sbh, &1lit);

INPUT LEVADJ lev] TEXT 1lit

(CA cdot « O3

bl e Xis(%bl, 8&1lit,

recred();
END3;
END;

/ C. cdot ¢« 1);
wlevi):

29
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END.
%l oSubEtitute. .%
(qsubs) %Substitute Statement%
PROCEDURE;
LOCAL daj
STATE « xs8, spec;
DSP( «< Substitute Statement);
inlsca (dbl);
cdset (TRUE, $ol, #bl);
IF NOT da ¢ dsparea(lcda()) THEN
err(s"lcaa failed, qsubb");
{LNKSUB, subcon>(stmtv, da, bl)
END,
(qsubb) %Substitute Branch?
PROCEDURE
LOCAL da;
STATE « xb, spec;
DSP( «{ Substitute Brancn);
cdset (FALSE) :
inlsca(&bl);
IF NOT da ¢ dsparea(lcda()) THEN
err($"lcda failed, gsubb");
{LNKSUB, supcory(brnehv, da, bl)
END.
(qsubp) %sSubstitute Plex%
PROCEDURE 3
LOCAL da, stidl, stid2;
STATE « xp, spec;
DSP( «< Supbstitute Plex);
inlsca(sbl);
stidl ¢ (STRMNF, plxset>(bl : stid2);
IF NOT da ¢ dsparea(lcdaf()) THEN
err(s"lcda failed, qgsubp");
cdset (FALSE) ;
¢LNKSUB, subeon>({plexv, da, stidl, stid2)
ENL,
(qsubg) %Substitute Group%
PROCEDURE:
LOCAL da, stidl, stid2;
STATE ¢ xg, spec;
DSP( €< Substitute Group);
in2sca($bl, $p2):
stidl ¢ {STRMNP, grptst>(bl, b2 : stid2);
IF NOT da ¢ dsparea(lcda()) THEN
err(s"leda failed, qsubg");
cdset(FALSE);
{LNK8UB,subcon> (groupv, da, stidl, stid2)
END.
%.---.Control Substitute Uﬂde for DNLS--;..%
(subcon) PROCEDURE (type, da, stidl, stid2); %substitute control%
LOCAL STRING dspstr(600/; %lit reg and display string for
pairs%
LOCAL STRING subm/30J; %string for "SubsS=" message%
LOCAL subdsp{R200BJ;
REF da:
CALL sbinit(ssuphed, ssubrec, &subdsp, Hauxlit);
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#auxlit# « NULL:
#aspstur# ¢ NULL;
%clear the 1lit reg and display string for collecting pairs%
shpair(Ssupnum, $subhed, $dspstr);
#collect up to 'subnum' pairs%
substitute(type, stidl, stid2, $subhed, &da);
%do the substitutions?®
#supm# ¢ "Subs: ", STRING(subcnt), ", Type CA";
dismes(l, &subm);
%di.splay number of substitutions%
LOOP IF input() = CA THEN EXIT;:
%walt for a command accept%
dismes (0) 3
recred();
%recreate the display%
GOTu STATE;
%eo to previous command state®
END,

(sbpair) PROCEDURE (count, sb, dspstr); %collect a pair of
strings%

LOCAL sbegl, sendl, sbeg2, send2;
LOCAL STRING rstr/(60), tstr(80J;
POINTER sb;
REF dspsir:
LOOP
BEGIN
iF (count ¢ count = 1) € O THEN RETURN;
arm();
DSP (<Textnr)
sbegl ¢« dspstr.L;
colstr(&dspstr); %collect replacement string%
sendl ¢ dspstr.L;
#ASpSLr# ¢ #dspstrs, 8P}
LSP(Lfor Textt);
sbeg? « dspstir.lL;
colstr(&dspstr); %collect test sirine%
send? « dspstr.lL;
#»dspstrs ¢ #dspstrx, SP}
IF send? = sbeg? THEN BUMP send2; #%can't substitute for
nullb
% &tore parameters %
IF sbegl = sepndl THEN
#retr# « NULL
ELSE
#rstr# ¢ #dspsur#/sbegl+l TQ sendl);
#tstr# ¢ sdspstr#/sheg2+l TO aendd);
CALL sopush($rstr, ststr, 8b);
DSP(<"GoO%");
af(); disarm();
CASE input() OF
=CA, ='Y, ='y:
BEGIN
DSP({Doing iv);
RETURN;
END;
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=CD:
GOTO0 STATE;
ENDCASE NULL; %Eet another pattern%
END;
END.

(colstr) PROCEDURE (astrng); %collect a strings
LOCAL TEXT POINTER bugl, DPugz2, ptril, ptrz;
LOCAL Dbgflag;

REF astrng;

INPUT (BUG bugl BUG pug2 CA bgflag ¢ 1; /
TEXT astrng CA bgflag « 0);

IF bgflag THEN
BEGIN
{TXTEDT, tdr> (#bugl, &bug2, Sptrl, ¥ptr2);
*astrng+ ¢ ¥astrng#*, ptrl ptr2;
litdpy (&astrne);
END3:

RETURN;

END,

%estranspose..%

(gte) %Transpose (haracter command%
PROCEDURE;
STATE ¢ trc, edit; ENTITY ¢ c, Character;
DSP(«< Transpose Character);
qtil (8xte);
END.

(qtw) %Transpose wWord commands
PROCEDURE;
STATE ¢ trw, edit; ENTITY « w, Word;
DSP(«< Transpcse Word);
qttl (Bxiw);
END.

(gtn) %Transvose Number Commandbh
PROCEDURE
STATE ¢ trn, edit; ENTITY ¢ n, Number;
DSP(«< Transpose Numher);
qril(3xtin);
END,

(gtv) %Transpose Visible command%
PROCEDURE;
STATE ¢ trv, edit; ENTITY ¢ v, Visible;
DSP(«< Transpose Visible);
qrtl (8xtv);
END,

(qti) %Transpose Invisible Command%
PROCEDURE;
STATE ¢ tri, edit; ENTITY ¢ i, Invisible;
DSP(«< Transpose Invisible):
gttl ($xti);
END,

(qtl) #Transpose Link Command%
FPROCEDURE}
STATE e trl, edit; ENTITY ¢ 1, Link;
DSP (& Transpose Link):

3£
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attl (8xtl);
END,
(qtt) %Transpose Text Command%
PROCEDURE
STATE ¢ trt, edit; ENTITY « t,
DSP(«< Transpose Text);
qut2 (8xtt);
END.
(qttl) PROCEDURE(proc);
REF proc;
LOOP
BEGIN
in2ca(spl, &b2)}
proc ($ol, 8h2);
recred();
END;
END,
(gtt2) FROGEDURE (proe);
REF proc;
LOOP
BEGIN
inlkca(®bl, &b2, 3n3, &bh):
proc(#cl, $pb2, $b3, 3bL):
recred();
END;
END,

Text;

(qts) %Transpose Statement Command%

PROCEDURE;
STATE « trs, eqdit; ENTITY « s,
DSP(¢ < Transpose Statement );
atsl (¥xts);
END,
(qth) %Transpose Branch Command%
PROCEDURE ¢
STATE ¢« trb, eait; ENTITY € Db,
DSP(¢« < Transpouse Branch );
qtsl (3xtd);
END.
(qtp) %Transpose PlexX Command%
PROCEDURE:
STATE ¢ trp, edit; ENTITY ¢ p,
DSFP(¢ ¢ Transpose Plex )3
gtel(axtp);
END,
(qtg) %Transpose Group Command%
PROCEDURE ;
STATE ¢ trg, edit; ENTITY ¢ £,
DSP(« ¢ Transpose Group );
qts2 (dxte) 3
END.
(qtal) PROCEDURE (proc):
REF proc;
LOQP
BEGIN
in2sca (8pbl, $b2);
proc(&bl, &b2);

Statenent;

Branch;

Plexd

Group;

ANLU=NLS2NULRLaNLS3Y
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recred();
END;
END.,
(qts2) PROCEDURE (proc);
REF proc;
LOOP
BEGIN

inksca (8bl, b2, &n3, 8bl);
proc (%pbl, 8b2, $b3, $bh);
recred();
END;
END.
heeView Set..%
(avs) PROCEDURE; %view set command%
LOCAL da:
REF da;
DSP(<View set?);
IF &da ¢ <PRMSPC, invspc)>(dsparea(lcda())) THEN
BEGIN
da.davspec ¢ sysvepec;
da.davspce ¢ sgysvspec/[l):
END;
recred();
RETUEN;
END.

%ee8hifl case..?

(qxe) #%Set CGharacter Command%
PROCEDUEE;
STATE ¢ xc, edit; ENTITY ¢« ¢, Character;
DSP(e«<Xset Character);
qXtl (8xxc) 3
END.

(qxw) %Set Word Command%
PROCEDURE:
STATE « xw, edit; ENTITY « w, Word;
DSP(«<Xset wora):
XLl (Bxxw) 3
END.

(qXn) %Set Number Command%
PROCEDURE;
STATE ¢ Xn, edit; ENTITY ¢ n, Number;
DSP(«<{Xset Number):
gQxXtl (8xxn);
END,

(qxv) 7%Set Visible Commana%
PROCEDURE;
STATE ¢ xv, eait; ENTITY « v, Visible;
DSP(«<{iset vVisible);
gxtl (8xxv);
END.

(qxi) %Set Invisible Command%
PROCEDURE;
STATE ¢« xi, edit: ENTITY ¢ i, Invisiple;
DSP(«<Xset Invisible};
axtl (&xxi);

SU
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END.
(gxl) %Set Link Command%
PROCEDURE ;

STATE ¢ X1, edit; ENTITY ¢ 1,

DSP(e<Xset Link);

gXtl (Sxxl);

ENDa

(qxtl) PROCEDURE(proc);

REF proc;

LOOP BEGIN
inleca (4bl);
proc(sbvl);
recred{);

END;

END.

(gXt2) PROCEDURE (proc):

REY proc;

LOOP BEGIN
in2ca(3vl, wo2):;
proc(sbol, &b2);
recred();

END;

END,

(gxt) %Set Text Command%

PROCEDURE:

STATE « xt, editv; EN

DSP(e<{xset Text);

QXt2 (8xxt);

END.

TITY «

(qxs) %Set Statement Command%

PROCEDURE;

STATE ¢ XXXs, edit;
DSP(«<{Xset Statement)
QX881 (Bxxs) END.

ENTITY

L
3

(gxb) %Set Branch Command%

PROCEDURE;

STATE ¢« xxXxb, edit;

DSP(«<Xset Branch);

qxsl ($xxXb) END.

(qxp) %Set Plex command%

PROCEDURE;

STATE « xXxp, edit;

DSP(+<Xset Plex);

QX8l (8xxp) END.

(gxg) %sSet Group Command

PROCEDURE;

STATE ¢ xxxg, edit:

D8P («<{Xset Group):

X882 (BXxg) END.

(qxsl) PROCEDURE(proc);

REF proc:

LOOP BEGIN
inlsca(&bl);
proc(sbl);
recred():

END;

ENTITY

ENTITY

%
ENTITY

U,

+*

: 5

T

T

SNLU=NLS2NULKRLNLDY

Link;

Text;

P,

By

Statement;

Branch;

Plex;

Group;
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END.

(axs2) PROCEDURE (proc);
REF proc;

LOOP BEGIN
in2sca(kol, &bh2):
proc(zbl, ob2);
recred():

END;

BND.

(gxm) %8et Mode...%
PROCEDURE;
DSP(«<{Xset Mode 1)}
CASE input() OF

slgc: %Capital%
BEGIN
DSP (Capital 1);
xsucm(); %execule command%
REFEAT;
ENDs

=11: %Lower%
BEGIN
DSP (Lower 1)
xslen(); #execute command%
REPEAT;
END3

=CD:
GOTO STATE;

=CA:
BEGIN
DSP (¢«);
KETURN;
END

ENDCASE
REPRAT;

END.
FINISH
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{NLS>NLSEX.NLS;58, 30=DEC=71 13:58 BLP ;
FILE nisex % L10 <(REL-NLS>NLSEX.REL %

%Declarations%
DECLARE
nofile = 0, noct = O,cuiecsp = 1, ctfrz = 2,
ctepfz = 3, ctmkr = 8, ctemk = 9, ctefm = 1l;

%clist utility%

(cdset) PROCEDURE (cdezflag, ptrl, ptr2);
IF cdeasy ¢ cdezflag THEN
BEGIN
IF ptrl # endfil THEN
BEGIN
cdl « [ptrl}; calfl)
END
ELSE
BEGIN
cdl +« endfil; cdl[1l/)
END:
IF pur?2 # endfil THEN
BEGIN
cd2 ¢ [ptr2); cd2[l]
END
ELSE
BEGIN
cd2 ¢ endfil; cd2/(1l/)
END;
END;
RETURN END,

T

[ptrl+l/;

+*

1;

T

[ptr2+l];

T
o
.

%append%

(xas) %EXecute Append Statement Command%
%construct and send append statement message to core NLS%
PROCEDURE (bugl, bug2, astrng);
REF bugl, bugz;
<IOCTL, clist> (ctcfm, bugl.stfile, bug2.stfile);
cdset (FALSE) ;
cas(bugl, bug2, astrng); %a call for nows
<IOCTL, clupdt> ();
RETURN;
END.

%break%

(xbs) %ExXecute Break Statement command%
%construct and send break statement message Lo core NL8%
PROCEDURE ( bug, levstg, astrng);
LOCAL newstid;
REF bug;
<IOCTL, clist> (ctemk, bug.stfile, endfil);
cdset (FALSE) ;
newstid « cbs(&«bug, levstg, astrng);
<I0CTL, clupdt> ()3



CHI, h=JAN=T72 1L:37 CNLS>NLSEX«NLS;62

RETURN( newstid );
END,
kcopyh

(xemtl) PROCEDURE (proc, bugl, bug2);
REF proc, bugl, bug2:
CIOCTL, clist> (ctemk, bugl.stiile, bug2.stfile);
cdset (TRUE, &bugl, &bug2);
proc (&bugl, &bug2, Heclhead); %a call for nows
<IOCTL, eclupdt) ();
RETURN;
END.

(xec) %Execute Copy Character Command%
%construct and send Copy Character message to core NLS%
PROCEDURE (bugl, bug2);
Xxemtl (becee, bugl, bug2);
RETURN;
END,

(xcw) %Execute Copy Word Command%
2construct and send Copy Word message to core NLS%
PROCEDURE (bugl, bug?2);
xemtl (8cew, bugl, bugz);
RETURN;
END.

(xen) %Execute Copy Number Command%
#construct and send Copy Number message to core NLS%
PROCEDURE (bugl, bug?2);
xcmtl (8cen, bugl, bug2);
RETURN;
END.

(xcv) %Execute Copy Visible Command%
sconstruct and send Copy Visible message t0 core NLS%
PROCEDURE (obugl, bug2);
xemtl(scev, bugl, bug2);
RETURN;
END,

(xci) %Execute Copy Invisible Command%
fconstruct and send Copy Invisible message to core NLS%
PROCEDURE (bugl, bug?2);
xemtl (8cci, bugl, bug2);
RETURN;
END.

(xcl) %Execute Copy Link Command%
%construct and send Copy Link message to core NLS%
PROCEDURE (bugl, bug?);
xemtl(scel, bugl, bug2);
RETURN;
END.

(xct) %Execute Copy Text Command%
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%construct and send Copy Text message to core NLS%
PROCEDURE (bugl, bug2, bug3);

Xcnt2 (scorect, bugl, bug2, bug3l);

RETURN;

END.

(xcmv2) PROCEDURE (proc, bugl, bug2, bug3l);
REF proc, bugl, bug2;
{IO0CTL, clist) (ctemk, bugl.stfile, bug2.stfile);
cdset (TRUE, &bugl, &bug2);
proc (&bugl, &bug2, bugs, sclhead); %a call for now%
<IOCTL, clupdt> ();
RETUEN;
END.

(xcmsl) PROCEDURE(proc, bugl, bug2, levstg)};
LOCAL newsid;
REF proc, bugl, bug2;
<I0CTL, clist> (ctesp, pugl.stfile, bugl2.stfile);
cdset (FALSE) ;
newsid « proc(bugl, bug2, levstg): %a call for nows
¢IOCTL, clupdt> ();
RETURN (newsid) ;
END.

(xcs) %Execute Copy Statement Command%
2construct and send Copy Statement message to core NLS%
PROCEDURE (bugl, bug2, levstg);
RETURN (Xcmsl(sccs, bugl, bug2, levstg)):
END.,

(xcb) %Execute Copy Branch Command%
%construct and send Copy Branch message to core NLS%
PROCEDURE (pbugl, bug2, levstg);
RETURN (xcmsl(8ccb, bugl, bug2, levstg));
END.

(xcp) %Execute Copy Plex Command%
%construct and send Copy PleX message to cOre NLS%
PROCEDURE (bugl, bug2, levstg);
RETURN (Xcmsl(8ccp, bugl, bug2, levstig));
END.

(xcms2) PROCEDURE (proc, bugl, bug2, bug3l, levstg):;
LOCAL newsid;
REF proc, bugl, bug2, bug3;
<IOCTL, clist> (ctcsp, bugl.stfile, bug2.stfile);
cdset (FALSE) ;
newsid « proc(bugl, bug2, bug3, levstg);
<IOCTL, clupdt> ();
RETURN (newsid) ;
END,

(xcg) %Execute Copy Group Command%
sconstruct and send Copy Group message to core NILS%
PROCEDURE (bugl, bug2, bug3, levstig);
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RETURN (Xxems2 (3cce, bugl, bug?, bug3, levsteg)):;
END.

%delete%

(xdxtl) PROCEDURE (proc, bug):;
REF proc, bug;
<I0CTL, clist> (ctcmk, bug.stfile, nofile):
cdset (TRUE, &pug, endfil);
proc (&pug, #clhead); %a call for now%
<IOCTL, eclupdt> ();
RETURN;
END.

(xdec) %Execute Delete Character Command%
%construct and send Delete Character message to core NLS%
PROCEDURE (bug);
Xdxtl (scdec, bug):
RETURN;
END.

(xdw) %Execute Delete Word Command
%construct and send Delete Word message Lo core NLS%
PROCEDURE (bug);
XdXtl ($cdw, bug);
RETURN;
END,

(xdn) %Execute Delete Number Command%
%construct and send Delete Number message to core NL3%
PROCEDURE (bug)3;
xdxtl ($cdn, bug);
RETURN;
END.

(xdv) #Execute Delete Visible Command%
%construct and send pDelete visible message to core NLS%
PROCEDURE (bug);
Xdxtl ($cdv, bug):
RETURN;
END.

(xdi) %Execute Delete Invisible Command%
%construct and send Delete Invisible message to core NL3%
PROCEDURE (bug);
XdxXtl (dcdi, bug);
RETUERN;
END.,

(xdl) %Execute Delete Link Command%
%construct and send pelete Link message to core NILS%
PROCEDURE (bug);
Xxdxtl (8cdl, bug);
RETURN;
END,
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(xdxt2) PrROCEDURE (proc, bugl, bug2);
REF proc, bugl, Dbug2;
<IOCTL, clist> (ctcmk, bugl.sttile, nofile);
cdset (TRUE, &bugl, &bug2);
proc (&bugl, &bugz2, fclhead); %a call for nows
<I00TL, eclupdt) ();
RETUERN;
END.

(xdt) %Execute Delete Text Command%
%construct and send Delete Text message to core NLS#%
PROCEDURE (bugl, bug2);
xdxt2 (scdt, bugl, bug2);
RETURN;
END,

(xdxsl) PROCEDURE(proc, bug);
REF proc, bug;
<IOCTL, clist> (ctcfm, bug.stfile, nofile);
cdset (FALSE) ;
proc(bug, %clhead); %a call for novd
<I0CTL, clupdt> ();
RETURN;
END.

(xdxs2) PROCEDURE (proc, bugl, bug2);
REF proc, DPugl, Dug2z;
<IOCTL, eclist)> (ctecfm, bug2.stfile, nofile);
cdset (FALSE) ;
proc (bugl, bug2, $clhead); %a call for nowh
<IOCCTL, clupdt> ();
RETURN;
END,

(xds) %Execute Delete Statement Command%
%construct and send Delete Statement message to core NLS%
PROCEDURE (bug):
xdxsl (%cds, DUE):
RETURN;
END.

(xdb) %Execute Delete Branch Command%
%construct and send Delete Branch message Lo core NLS%
PROCEDURE (bug);
xdxsl (8cdb, bug);
RETURN;
END,

(xdp) %Execute Delete Plex Command?
hconstruct and send pDelete FPleX message Lo core NLS%
PROCEDURE (bug);
xdxsl ($cdp, bug);
RETURN;
END.

(xdg) %Execute Delete Group gommand%
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%construct and send Delete Group message tO core NLS%
PROCEDURE (bugl, bug2):;

xdxs2(scdg, bugl, bug2);

RETURN:

END.

%execute commands%

(xea) PROCEDURE #Execute Assimilate%®
(target, srecl, src2, levstg, vspecl, vspec?e, usqcod, cacode):;
REF levsteg;
cdset (FALSE);
cea (target, srcl, src2, &levstg, vspecl, Vspec2, usqcod, cacode);
RETURN;
END,

(xebe) %Execute Browse Enter%
PROCEDURE (fileno);
cebe (fileno);
RETURN END.

(xebl) %EXecute Browse Leave%
PROCEDURE (lock, fileno);
cebl (lock, fileno);

RETURN END,

(xed) %Execute Device Gommand%
#Construct and send Device mesdsage Lo core NLS%
PROCEDURE (da, device, node);
REF daj
cdset (FALSE);
ced (&da, device, mode); %a call for noww
RETURN;
END.

(xee) %Execute LError Termnination command%
AConstruct and send Rerror message to core NLS%

PROCEDURE:
cee(); %a call for now%
RETURN;
END.
(xef) %Execute File Verify%

#Construct and send File Verify message to core NLS%
PROCEDURE (fileno, type);

cef (fileno, type);

RETURN;

END.

(xei) %Execute Insert Sequential%
#Construct and send Insert sSequential message to core NLS%
PROCEDURE (stid, levstg, ifilnam, £iltyp):
REF levstg, ifilnam;
cdset (FALSE);
cel (stid, «levstg, &ifilnam, £iltyp);
RETURN;
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END,

(xemf) %Execute Marker Fix Command%
%Construct and send Marker Fix message to core NLS%
PROCEDURE (bug, astrng);
REF bug, astrneg;
cdset (FALSE) ;
cemf (&bug, &astrng); %a call for now%
RETURN;
END,

(xeml) %Execute Marker List Show Command%
ZConstruct and send Marker List Show messake Lo core NL3%
PROCEDURE (fileno);
cdset (TRUE, endfil, endfil):
ceml (fileno); #%a call for now%
RETURN;
ENDa

(xemra) %Execute Marker Release All Command%
%#Construct and send Marker Release All mesSage to core NL3%
PROCEDURE (fileno):;
cdset (FALSE);
cemra (fileno); %a call for now%
RETURN;
END.

(xemrt) %Execute Marker Release Text Command%
%Construct and send Marker Release message Lo core NLS%
PROCEDURE (bugl, bug?);
REF bugl, bug2;
<IOCTL, clist> (ctmkr, bugl.stfile, bug2.stfile);
cdset (TRUE, &bugl, &bug2);
cemrt (&bugl, &bug2); %a call for nowh
<IOCTL, clupdt>();
RETURN;
END.

(xeo) %Execute File Ownersnip Command%
#Construct and send File Ownersihip message Lo core NL8%
PROCEDURE (fileno);
cdset (TRUE, endfil, endfil):;
ceo (fileno); %a call for now%
RETURN;
ENDa

(xeq) ZExXecute Quit Command%
#Construct and send Terminate message Lo core NLS%
PROCEDURE:
ceq (); %a call for now%
RETURN;
END,

(xer) %Execute Reset File Command%
stonstruct and send Reset File message to core NLS%
PROCEDURE (da);
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REF ada;

cdset (FALSE);

{IOCTL, clist)> (ctcfm, da.dacsp.stfile, nofile);

cer (da.dacsp.stfile); %a call for now®
/ffﬂda.dacsp.snpsig +)origin;

<IOCTL, clupdt> ();
— RETURN

- END,

(xesf) %Execute File Status command%
#0onstruct and send Status message Lo core NLS%
PROCEDURE (fileno, astrng);
REF astrneg;
cdset (TRUE, endfil, endfil);—
cesf (fileno, &astrng);

RETURN;
END,
(xesl) %Execute Link Stack Status Command%

%Construct and send Status message to core NLS%
PROCEDURE (astrneg);

REF astrng;

cdset (TRUE, endfil, endfil);

cesl (&astrng); %a call for now%

RETURN;

END.

(xeu) %Execute Unlock file Command%
PROCEDURE (fileno);
IOCTL, c¢list> (ctcfm, fileno, nofile);
cdset (FALSE);
ceu (fileno);
{IOEXEC, unlkciist> (); %check clist items%h
¢I0CTL, clupdt> ();
RETURN;
END,

%E0t0 commands%
% Goto Baseline comnmands %

(Xgbe) % Xecute Goto bBaseline Enter task %
PROCEDURE
cdset (FALSE);
cgbe ();
RETURN;
END.

(xgbic) % Xecute Goto Baseline Institute Conan program %
PROCEDURE (aa);
REF da;
cgbic (&da);
RETURN
END.

(xgbis) % Xecute Goto Baseline Institute Seqgen program%
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PROCEDURE (da);
REF da:

cgbis (&da);
RETURN;

END.

(xgbpb) % Xecute Goto Baseline Parameter se€t for a Branch %
PROCEDURE (stid, da);
REF da:
cgbpb (stid, &da);
RETURN}
END,

(Xgbops) % Xecute Goto Baseline Parameter set for a String %
PROCEDURE (tp):
REF tp:
Cgbps (&tp);
RETURN @
END,

(XgEbs) % Xecute Goto Baseline status of parameterss
PROCEDURE (str);
REF str;
cEbs (&Str);
RETURN:
END.

% Goto Merge commands %

(Xgmeb) #%Execute Merge Branch command%
PROCEDURE (bugl,bug2) ;
REF bugl,bug2:
cdset (FALSE) 3
cgmeb (bugl,bug2);
RETURNS ENDe

(Xgmeg) %Execute Merge Group Command%
PROCEDURE (bugl,bug2,bug3,bugl);
REF bugl,bug2,bug3,bugl;
cdset (FALSE) ;
CEmeg (bugl,oug2,bug3,bugh);
RETURN; END.

(Xgmep) %Execute Merge Flex Command%
PROCEDURE (bugl,bug2);
REF bugl,bug2;
cdset (FALSE) ;
cgmep (bugl,bug?);
RETURN; END.

% Goto user Program commands %

(Xgpc) % Xecute content analyzer pattern compile %
PROCEDURE (tp, da);
REF tp, daj;
RETURN (cgpc (&tp, &da));
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END.

(Xgpd) % Xecute Deinstitute a user program %
PROCEDURE (pgmnam);
REF pgmnam;
Cgpd (&pgmnam) ;
RETURN;
END,

(xgpe) % Xecute Execute a user program %
PROCEDURE (pgmnan);
REF pgmnam;
cgpe (&pgmnam):
RETURN;
END,

(Xgpl) % Xecuve Institute & user progranm %
PROCEDURE (pgmnam, da, pgmfield);
REF pgmnam, da;
cgpi (&pgmnam, &da, pemfield);
RETURN;
END.

(XEpl) % Xecute L10 user program compile %
PROCEDURE (stid, da);
REF da;
cgpl (stid, &da);
RETURN;
END.

(Xgpp) % Xecute Pop a user program off stack %
PROCEDURE};
cgpp ()3
RETURN;
END.

(Xgpr) % Zecute Reset user program stack %
PROCEDURE};
cgpr ();
RETURN s
END,

(Xgps) % Xecute Status user progranmns display %
PROCEDURE (sturing, da);
REF string, da;
CEps (&string, &ds);
RETURN:
END,

% Goto Sort commands %

(Xgsob) %Execute Sort Branch Command%
PROCEDURE (bugl);
REF bugl;
cdset (FALSE);
cgsob (bugl);

10
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RETURN: END,.

(Xgsog) %ExXecute Sort Group Command%
PROCEDURE (bugl, bug2);
REF bugl, bug2;
cdset (FALSE);
CESOE (bugl, bug2);
RETURN: END.

(XEsop) %Execute Sort Plex Command%
PROCEDURE (bugl):
REF bugl;
cdset (FALSE);
cgsop (bugl):;
RETURN; END.

%insert®

(xitl) PROCEDURE (proc, bug, astrng);
REF proc, Dug;
{IOCTL, clist)> (ctcmk, bug.stfile, nofile);
cdset (TRUF, &pug, endfil);
proc (&bug, astrng, S$clhead); %a call for now
<IOCTL, clupdt> ();
RETURN 3
END,

(xic) %Execute Insert Character/Text Command%
%»construct and send Insert Character Message to core NLS%
PROCEDURE (bug, astrng);
xitl(8cic, bug, astrng);
RETURN;
END.

(xiw) %Execute Insert Wora Command%
sconstruct and send Insert wWord Message to core NLS%
PROCEDURE (bug, astrng);
Xitl ($ciw, bug, astrneg);
RETURN;
END.

(xin) %Execute Insert Number Command%
%construct and send Insert Number Message Lo core NL5%
PROCEDURE (bug, astrng);
Xitl(8cin, bug, astrng);
RETURN;
END,

(xiv) %Execute Insert Visible Command%
#construct and send Insert Visible Message to core NLS%
PROCEDURE (bug, astrng);
xitl(8civ, Dbug, astrneg);
RETURN;
END,

(xii) %Execute Insert Invisible Command¥%
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khconstruct and send Insert Invisible Message to core NLS%
PROCEDURE (bug, astrng):;

Xitl(8cii, bug, asvrng);

RETURN; '

END.

(xil) %Execute Insert Link Command%
%hconstruct and send Insert Link Message to core NLS%
PROCEDURE (bug, astrng);
xitl(8cil, bug, astrng);
RETURN;
ENDI

(xit) %Execute Insert Text Command%
#construct and send Insert Text Message to core NLS%
PROCEDURE (bug, astrng);
Xitl(Scic, bug, astrng);
RETURN;
END.

(xis) %Execute Insert Statement Command%
kconstruct and send Insert Statement Message to core NLS%
PROCEDURE (bug, astrng, levste);
LOCAL newsid;
REF bug;
<IOCTL, clist)> (ctecsp, bug.stfile, nofile);
cdsetl (FALSE) ;
newsid « cis(bug, astrng, levstg, &clhead); %a call for nows%
<IOCTL, clupdt> ();
RETURN (newsid) ;
END,

%locad%

(x1f) % Xecute Load File %

PROCEDURE (flnam, da);

LOCAL fileno;

REF flnam, daj;

IF (fileno ¢ clf(&flnam)) THEN
BEGIN
<JUMP, pushjs) (&da); #push link stack%®
da.dacsp ¢ orgstid;
da.dacsp.stiile « fileno;
%#push link or jump stack again%

<JUMP, pushls> (&da, &flnam):

END;

RETURN;

END,

(x11£) » Xecute Load Locked File %
PROCEDURE (flnam, da):
LOCAL fileno;
REF flnam, da;
IF (fileno « cllf(&flnam)) THEN
BEGIN
{JUNMP, pushjs) (&da); #push link stack%

l2



GHI, U=JAN= (&g Llu:37( NI AV L A B I

da.dacsp. Orgstid ¢ fileno;
da.dacsp estiile;
%push link or Jjump stack againd
{JUMP, pushls> (&da, &flnam);
END;
RETURN;
END.

wmoveh

(xme) %Execute Move Character command%
%construct and send Move Character message to core NLS%
PROCEDURE (bugl, bug2);
xemtl(Bcme, bugl, bug2);
RETURN;
END.

(xmw) %Execute Move Word command%
gconstruct and send Move Word message to core NL8%
PROCEDURE (bugl, bug2);
¥xemtl(semw, bugd, DUg2);
RETURN;
END.

(xmn) %Execute Move Number Command%
sconstruct and send Move Number message to core NLS%
PROCEDURE (bugl, bug2);
xcntl(¥cmn, bugl, bug2);
RETURN;
END.

(xmy) %Execute Move Visible Command%
gconstruct and send Move Visible message 1O core NLS%
PROCEDURE (bugl, bug2);
xcmtl ($cmv, bugl, bUg2);
RETURN;
END,

(xmi) %Execute Move Invisible Command%
gconstruct and send Move Invisible message L0 core NLS%
PROCEDURE (bugl, bug2);
xemtl (dcemi, bugl, bug2);
RETURN;
END.

(xml) %Execute Move Link Command%
%construct and send Move Link message to core NLS%
PROCEDURE (bugl, bug2);
xemtl ($eml, DUEL, bug2);
RETURN;
END.

(xmt,) %Execute Move Text Commznd%
Zconstruct and send Move Text message to core NLS%
PROCEDURE (bugl, buge, bug3l);
Xxcnt2 (semt, bugl, bug2, bug3);
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RETURN;
END.

(xms) %ExXecute Move Statenent command%
%construct and send Move Statement message to core NLS%
PROCEDURE (bugl, bug2, levstg);
RETURN (xcmsl (#cms, bugl, bug2, levstg));
END.

(xmp) %Execute Move Branch Command%
%construct and send Move Branch message to core NLS%
PROCEDURE (bugl, bug2, levsteg);
RETURN (xcmsl(scmb, bugl, bug2, levstg));
END,

(xmp) %Execute Move Plex Command%
%sconstruct and send Move Plex nmessage to core NLS%
PROCEDURE (bugl, pbug2, levsteg);
RETURN (Xcmsl(scmp, bugl, bug2, levstg));
ENDa

(xmg) %Execute Move Group Conmand?
#hconstruct and send Move Group message to core NLS%
PROCEDURE (bugl, bug2, bug3, levstig);
RETURN (xcms2 (scmg, Dugl, bug2, bug3, levstg)):
END.

%name delimiter commandsé%

(xns) %Execute Name Delimiter Statement Command%
%construct and send Name Delimiter Statement message to core NL8S%
PROCEDURE (bug, dlleft, dlrght);
REF bug;
cdset (FALSE):;
cns(bug, dileft, dlreght); %a call for now%
RETURN;
END,

(xnb) %Execute Name Delimiter Branch Command%
%construct and send Name Delimiter Branch nessage to core NLS%
PROCEDURE (bug, dlleft, dlrght, da);
REF Dbug;
cdset (FALSE);
cnb(bug, dlleft, dlrghtv, da); %a call for nowh
RETURN;
END.

(xnp) %Execute Name Delimiter Plex Command%
sconstruct and send Name Delimiter PleX mesSsage to core NLS%
PROCEDURE (bug, dlleft, dlrght, da);
REF bug:;
cdset (FALSE);
cenp(bug, dlleftv, dlrght, da): %a call for now%
RETURN;
ENDe
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(¥xng) %Execute Name Delimiter Group Command%
%construct and send Name Delimiter Group message to core NLS%
PROCEDURE (bugl, bug2, dlleft, dlrght, da);
REF bugl, bug2;
cdset (FALSE):
cng (bugl, bug2, dlleft, dlrght, da); %a call for now%
RETURN;
END.

Zoutput%

(xo0a) % Xecute output to Assempler file command %
PROCEDURE (ofilnam, da);
REF ofilnam, da;
cca (&ofilnam, &da):
RETURN;
END.

(xoc) % Xecute Output Compiler command %
PROCEDURE (prenam, ofilnam, da);
LOCAL errors, size;
REF prcnam, ofilnam, daj
errors « coc (&prcnam, &ofilnam, &da : size);
RETURN (errors, size);
END,

(xod) % Xecute OQutput Device command %
PROCEDURE (ofilnam, da, device);
REF ofilnam, da;
cod (&ofilnam, &da, device);
RETURN;

END.

(xof) % Xecute Output nls File %
PROCEDURE (newfilnam, oldfilno):;
REF newfilnam;
cdset (FALSE);
cof (&newfilnam, oldfilno);
RETURN;

END.

(x0q) % Xecute Output Quickprint command %
PROCEDURE (cfilnam, da);
REF ofilnam, da;
coq (&ofilnam, &da);
RETURN;
END,

(x08) % Xecute Output Sequential command %
PROCEDURE (ofilnam, da, forceup);
REF ofilnam, da;
c08 (&ofilnam, &da, forceup);
RETURN;
END.

%replace®
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(xrtl) PROCEDURE (proc, type, bugl, bug2, astrng);
REF proc, Dbugl, bug2;
¢IOCTL, eclist> {(ctcmk, bugl.stfile, bug2.stfile);
cdset (TRUE, &bugl, &bug2);
proc (type, &bugl, &bugz2, astrng, %clhead); %a call for nows
<IOCTL, clupdt> ();
RETURN;
END.

(xrec) %Execute Replace Character Command%
%construct and send Replace Character message to core NLS%
PROCEDURE (type, bugl, bugz, astrng);
xrtl(screc, type, bugl, bug2, astrng);
RETURN;
END.

(xrw) %Execute Replace Wword Command%
%construct and send Replace Word message tO core NLS%
PROCEDURE (type, bugl, bug2, astrng);
xrtl(8crw, type, bugl, bug2, astrng);
RETURN;
END,

(xrn) %kExecute Replace Numnber Command%
%construct and send Replace Number message Lo core NLS%
PROCEDURE (type, bugl, bug2, astrng);
Xrvl(scrn, type, bugl, bugz, astrng);
RETURN;
END.,

(xry) %Execute Replace Visible Command%
%construct and send Replace Visible message to core NLS%
PROCEDURE (type, bugl, Dbugz2, astrng);
xrtvl($ecrv, type, bugl, bug2, astrng);
RETURN;
END.

(xri) %Execute Replace Invisible Command%
%construct and send Heplace Invisible message to core NLS%
PROCEDURE (type, bugl, bug2, astrng);
xrtl ($cri, type, bugl, bug2, astrng);
RETURN;
END.

(xrl) %Execute Replace Link Command%
%construct and send Replace Link message tO core NLS%
PROCEDURE (type, bugl, bug2, astrng);
xrtl (scrl, type, bugl, bug2, astrng);
RETURN;
END,

(xrt) %Execute Replace Text Command%
%construct and send keplace Text message L0 core NLS%
PROCEDURE (type, bugl, bug2, bug3i, buglh, astrng);
REF bugl, bug2, bug3, bugh;

Lo
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<IOCTL, clist> (ctcmk, bugl.stfile, bug3.stfile);

cdset (TRUE, &bugl, &Dbug3);

erv(type, &bugl, &bug2, &bug3, &bugh, astrng, Sclhead);
<IOCTL, clupdtd ();

RETURN;

END,

(xrsl) PRQCEDURE (proc, type, bugl, Dug2, astrng):;
LOCAL newsid;
REF proc, bugl, bug2;
<I0CTL, clist> (ctcim, bugl.stfile, bug2.stfile);
cdsel (FALSE) ;
newsid « proc(type, bugl, bug2, astrng, #clhead); %call now%
<IOCTL, clupdt> ()}
RETURN (newsid) ;
END.

(xrs) %Fxecute Replace Statement Command%
%construct and send Replace Statement message to core NL&%
PROCEDURE (type, bugl, bug2, astrng):;
RETURN (xrsl(scrs, type, bugl, bug2, astrng));
END.

(xrb) %Execute Eeplace Branch Command%
%construct and send Heplace Branch message to core NLS%
PROCEDURE (type, bugl, bugZ, astrng);
RETURN (xrsl(scrb, tyvpe, bugl, bug2, astrng));
END.

(xrp) %ExXecute Replace Plex Command®
%construct and send Replace Plex message t0 core NLS%
PROCEDURE (type, bugl, bugz, astrng);
RETURN (xrsl(&crp, type, bugl, bug2, astrngl);
END,

(xrg) %Execute Replace Group Command%
%construct and send Replace Group message Lo core NLS%
PROCEDURE (type, bugl, bugz, bug3, buglh, astrneg);
LOCAL newsid;
REF bugl, bug2, bug3, bugh;
<IOCTL, clist)> (ctcfm, bugl.stfile, bug3.stfile);
cdset (FALSE) ;
newsid ¢ crg(type, bugl, bug2, bug3, buglk,
astrng, $clhead); %a call for now%
<IOCTL, clupdi> ();
RETURN (newsid) ;
END.

%substitutes

(xsubs) % Xecute substitute statement %
PROCEDURE (stid, sbheadb, daadd);
%construct and send substitute statement message to
CORE=NLS%
cdeasy « TRUE:
clist (0, stid, endfil, 0, 0);
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csups(stid, sbheadb, daadd);
RETURN;
END.

(xsubb) % Xecutve substitute branch %
PROCEDURE (stid, sbheadb, daadd);

sconstruct and send substitule branch message Lo CORE=NLS%

cdeasy ¢ FALSE:

csubb(stid, spheadb, daadd);
RETURN;

END,

(xsubp) % Xecute substitute plex %
PROCEDURE (stid, sbheadb, daadd);
%construct and send substitute plex message L0 CORE=NLS%
o
cdeasy « FALSE;
csubp(stid, sbheadb, daadd);
RETUREN;
END.

(xsubg) % Xecute substitute group %
PROCEDURE (stidl, stid2, sbheadb, daadd);

%construct and send substitute group message Lo CORE=~NLS%

cdeasy « FALSK;

csubg(stidl, stid2, sbheadb, daadd);
RETURN;

END,.

%transpose

(Xttl) PROCEDURE(proc, bugl, bug2);
REF proc, bugl, bug?;
{IOCTL, clist) (ctemk, bugl.stfile, bug2.stfile);
cdset (TRUE, &bugl, &bug2);
proc (&pugl, &bug?, S$clhead); %a call for nows
<IOCTL, clupdt> ();
RETURN;
END,

(xtg) %Execute Transpose Character Command%
Zconstruct and send Transpose Character messgge to core
NLS%
PROCEDURE (bugl, bug?2);
xttl(8cte, bugl, bug2);
RETURN
END.,

(xtw) %Execute Transpose Word Command%
4construct and send Transpose Word message tc core NLS%
PROCEDURE (bugl, bug2);
ALl (Bctw, bugl, Dbugz);
RETURN;
END,

18
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(xtn) %Execute Transpose Number Commandb%
%congtruct and send Transpose Number message Lo core NLS%
PROCEDURE (bugl, bug2);
XLtl (8ctn, bugl, bug2);
RETURN;
END.

(xtv) %Execute Transpose Visible Command%
sconstruct and send Transpose Visible message to core NLS%
PROCEDURE (bugl, bug2);
Xttl(dctv, bugl, bug2);
RETURN;
END,

(xti) %Execute Transgpose Invisible Command%
%construct and send Transpose Invisipble meSsage to core
NLS%
PROCEDURE (bugl, bug?);
xttl(8cti, bugl, bug?2);
RETURN;
END.

(xtl) %Execute Transpose Link command%
%hconstruct and send Transpose Link message Lo core NLS%
PROCEDURE (bugl, bug2);
Xxttl(3ctl, bugl, bug?);
RETURN;
END.

(xtt) %Execute Transpose Text Command%
%construct and send Transpose Text message Lo core NLS%
PROCEDURE (bugl, bug2, bug3, bugh);
REF bugl, bug2, bug3, bugh;
{IOCTL, clist> (ctcmk, bugl.stfile, pug3.stfile);
cdset (TRUE, &bugl, &bug3);
ctt(&bugl, &bug2, &bug3, &bugh, &clhead); %a call for nows
<IOCTL, clupaty ();
RETURN;
END,

(xtsl) PROCEDURE(proc, bugl, bug2);
REF proc, bugl, bug2;
<IOCTL, clist> {(ctcfm, bugl.stfile, bug2.stfile);
cdset (FALSE) ;
proc(bugl, obug2, #clhead); %a call for nowh
<I00TL, clupdt> ();
RETURN;
END.

(xts) %Execute Transpose Statement Command%
%construct and send Transpose Statement mesSsage to core
NLS%
PROCEDURE (bugl, bug?2)3;
xtsl($crs, bugl, bug?2);
RETURN;
END.

19
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(xtb) %Execute Transpose Branch Command%
%construct and send Transpose Branch message to core NLS%
PROCEDURE (bugl, bug2);
xtsl (3ctb, bugl, bueg?2);
RETURN;
END.

(xtp) %Execute Transpose Plex Command%
%construct and send Transpose Plex message to core NLS%
PROCEDURE (bugl, bug2);
xtel(scup, bugl, bug2);
RETURN;
END.

(xtg) %Execute Transpose Group Command%
aconstruct and send Transpose Group message to core NLS%
PROCEDURE (bugl, bug2, bug3, bugh);
REF bugl, bug2, bug3, bugh;
<I0CTL, clist> (ctcfm, bugl.stfile, bugld.stfile);
cdsetl (FALSE) ;
cLg (bugl, bug2, bLUg3, Duel, Sclhead); %a call for now%
<IOCTL, clupdt> ()3
RETURN;
END.

%update file%

(xuf) % Xecute Update File to new or old version %
PROCEDURE (fileno, newversion);
RETURN (cuf (fileno, newversion));
END,

%xseth

(XxXc) %Execute Set Character Command%
%»construct anda send Setu Character message Lo cre NLS%
PROCEDURE (bug);
Xdxtl (gcxXe, bug);
RETURN;
END,

(xXw) %Execute Set Word Command%
%construct anda send Set Word message to cre NLS%
PROCEDURE (bug);
xdxtl (8cxv, bug);
RETURN;
END,

(xxn) %Execute Set Number Command®
%construct and send Set Number message to cre NLS%
PROCEDURE (bug):
XxdXtl(%cxn, bug):
RETURN
END.
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(xXv) %Execute Set Visible Command%
%»construct and send Sel Visible message to cre NLS%
PROCEDURE (bug);
XAXtl ($cxv, bug):
RETURN;
END,

(xxi) %Execute Set Invisible Command%
%construct and send Set Invisible message Lo cre NLS%
PROCEDURE (bug);
Xdxtl (%cxi, bug);
RETURN;
END.

(xx1l) %Execute Set Link Command%
#construct and send Set Link message to cre NLS%
PROCEDURE (bug);
xdXtl ($#cxl, bue);
RETUKN;
END,

(xxt) %Execute Set Text Command%
%construct and send set Text message to col'e NLS%
PROCEDURE (bugl, bugpz);
XdxXt2 (%cext, bugl, bug2);
RETURN;
END.

(xxs) %Execute Set Statement Command%
%construct and send Set Statement message Lo core NLS%
PROCEDURE (bug);
Xdxsl(scxs, bug);
RETURN;
ENDa.

(XXb) %Execute Set Branch Command%
%construct and send set Branch message to core NLS%
PROCEDURE (bug);
Xdxsl (%cxb, bug):
RETURN;
END.

(xxp) %Execute Set Plex Commana®
%construct and send Set Plex message to core NLS%
PROCEDURE (bug);
Xdxsl(scxp, bUg);
RETURN;
END.

(xxg) %Execute Set Statepent Command%
%construct and send Set Statement message %o core N1LS8%
PROCEDURE (bugl, bug?2);
XdXs2 (wCcXg, Dbugl, bugz);
RETURN;
END.

21
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%mode setting%

(Xxsucm) %Execute Set (Upper Case Mode Command%

sconstruct and send set Upper (ase Mode meSsage to core
NLS%

PROCEDURE;

csucm(); %a call for now%

RETURN;

END.

(xslcn) %ExXecute Set Lower Case Mode Command%

#construct and send Sel lLower Case Mode mesSsage to core
NLS%

PROCEDURE;

cslem(); %a call for nowh

RETURN;

END,

%core display calls%

(xdafrmt) PROCEDURE (da, wa, sa);

#construct and send 'display area format' message to
core=NLS%
bt
cdafrmt(da, wa, sa);
#jJust a call for now%
RETURN;
END.

(xdaupdate) PROCEDURE (da, stidl, stid2, wa, Ssa);

saconstruct and send 'display area update'! message to
core=NLS%
Gpm o e
cdgupdate (da, stidl, stid2, wa, sa);
kjust a call for now%
RETURN;
END.,

FINISH of nlsex

&
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{NLS>PRMSPC.NLS;23, 16=DEC=T71l 1lé:LL MSO 3 ["INPULM];
FILE prmspc % L1O0 <REL=NLS>PRMSPC %

%variable declarationsy
DECLARE
name=l, word=2, contnt=3, sid=k, gotchr=0, getchr=l,
frstchr=1:

DECLARE bullshit; % for META bug?? %
REGISTER al = 12, m = 103

%INPUT support routines%

(inbug) PROCEDURE(bg);
an();
arm();
CASE looke() OF
=0D:
BEGIN
input();
GOTO STATE;
END;
=CA, =C.:
BEGIN
input();
stroug(bg);
RETURN ;
END;
=BC:
BEGIN
input();
BUMP [m/;
RETURN ;
END;
ENDCASE
BEGIN
BUMP [m]), [m];
RETURN;
END:
END.

(instid) PROCEDURE (bg);
LOCAL cnt;
an();
arm();
CASE looke() OF
=CD3;
BEGIN
input();
GOTO STATE;
END;
=BUG, =C,:
BEGIN
input();
stroug(bg);
RETURN 3

&
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END;
=BC:
BEGIN
input();
BUMP [m];
RETURN ;
END;
=S5P:
BEGIN
input();
#stn# « NULL;
cnt ¢ 0;
[bg] ¢ origin;
[bE] estfile « lcfile();
inname (&stn); ‘%can return +1, +2, +3 past call®
BUMP cnt, cnt;
CASE cnt QF
=2:
BEGIN
input ()}
specreg ($stn, name, bg);
IF [(pg] = endfil THEN
err(8"No such statement encountered");

RETURN;
END;
=l:
BEGIN
BUMP [m]:
RETURN;
END;
ENDCASE
BEGIN
BUMP (m],[(m];
RETURN;
END;
END;
ENDCASE
BEGIN
BUMP [m], [m];
RETURN;
END;
END.
(intext)

%This routine reads literal input from a work station,

appends it to an A=string, and displays it in the literal
register. The argument passed this routine should ne the
gddress of the A=string to which the literal input is to

be appended, (Note that this routine does not clear the

A=string before it begins reading characters,) TEXT = arbitrary
number of characters up to but not including a CA or Center dot,%
%u--— ----------- %

PROCEDURE (astrng) ;

REF astrngz;

af()s

disarm();
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LOOP
BEGIN
OASE looke() OF
=CD3:
BEGIN
input();
GOTO STATE;
END;
=CA, =C,:
RETURN;

=BC:

BEGIN

input();

IF astrng.lL =
BEGIN
BUMP [m];
RETURN;
END

ELSE <INPFBK,

END;

=BW:

BEGIN

input();

IF astrng.L =
BEGIN
BUMP [m]:
RETURN;
END

ELSE <INPFBK,

END;

ENDCASE #astrng#
litdpy (&astrng);
END;

END,

(innum)

CNLSIPRMSPU.NLS;23

empty THEN

bke> (&astrng) ;

empty THEN

bKwW> (&astrng) ;:

« #astrng#*, input();

4#This routine reads digits from the work station, appends
them to an A~string, and displays them in Uthe name register
The argument is the address of the register

into which the A-string is to be put.

routine does not clear
characters to it.).%
%----n-u----—--u%
PROCEDURE (astrng) ;
LOCAL char;
REF astrne;
af();
disarm();
LOOP
BEGIN
dn(&astrng);

(Note that this
the A=string before appending

CASE char ¢« lookc() OF

IF astrng.lL =

ELSE

empty THEN
*astrng* ¢ *astrng,

char

3
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BEGLN
BUMP [m/, (m/;
RETURN;
END;
=CA, =2C.!
BEGIN
IF astrng.L = empty THEN
BEGIN
input();
stroug(sbl);
{TXTEDT, ndr>($pbl, $pl, sp2);
#astrng# « pl p2;
END;
RETURN;
END;
=CD:
BEGIN
input();
an();
GOTO STATE;
END;
=D: w*astrng* ¢ *astrng#*, char;
=BC:
IF astrng.L = empty THEN
BEGIN
input();
BUMP (m];
RETURN;
END
ELSE <INPFBK, bKc)(&astrng);
=BW:
IF astrng.L = empty THEN
BEGIN
input();
BUMP (m];
RETURN;
END
ELSE <INPFBK, bKw)>(&astrng);
ENDCASE
BEGIN
BUMP [m/], [m]}
RETURN;
END;
input();
END;
END,

(insr)
%This routine reads characters from the work station,
appends them to an A=string, and displays them in the nane
register, The argument should be the address of the
register into which the A=string is to pbe put, (Note that
this routine does not clear the A=string pefore appending
characters to it.)%
T o o v . %
PROCEDURE (astrng);
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LOCAL char;
REF astrneg;
af();
disarm();
LOOP
BEGIN
dn(&astrneg);
CASE char « lookc() OF
=CD:
BEGIN
input();
GOTO STATE;
END;
=CA:
BEGIN
IF astrng.lL
RETURN;
END;
=C,:
RETURN;
=BC:
IF astrng.L
BEGIN
input();
BUMP [m]:
RETURN;
END
ELSE <INPFBK, bKe>(&astrng);
=BW:
IF astrng.L
BEGIN
input();
BUMP [m]:
RETURN;
END
ELSE <{INPFBK, bkw>(&astrneg);
ENDCASE %astrneg* « *astrneg#%, char;
input();
END;
END.

empty THEN incont(&astrng);

empty THEN

einpty THEN

{(incont) PROCEDURE(string);
%puts pugged text entity in string passed 1it%
LOCAL TEXT POINTER bugl, bug2, ptrl, ptrz;
REF strine:
INPUT BUG bugl BUG bug2;
{TXTEDT, tdr> (®bugl, ®%bug2, &ptrl, &éptr2);
#8tring# « ptrl ptr2;
an(&string);
RETURN;
END.

(invsbl) PROCEDURE (astrng);
CASE innmwd (astrng, FALSE, $vdr) oOF
=03
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RETURN;

=l:

BEGIN

BUMP [m]3;

RETURN;

END3

ENDCASE
BEGIN
BUMP [m],[m];
RETURN;
END:

END.

(inword) PROCEDURE(astrng);
CASE innmwd(astrng, TRUE, snmdr)
=0:
RETURN 3
=l:
BEGIN
BUMP [m];
RETURN;
END:
ENDCASE
BEGIN
BUMP (m/,(m];
RETURN;
END;
END,

(inname) PROCEDURE(astrng);

CASE innmwd(astrng, FALSE, &nmdr) OF

=0:
RETURN;
=1:
BEGIN
BUMP (m];
RETURN;
END;
ENDCASE
BEGIN
BUMP [(m],{m];
RETURN;
END;
END.

(innmwd)

4This routine reads characters from the work station,
to a register, and displays them in the naNeregister,
characters are forced to upper case before insertion into the

QF

A=string if the wordflag is false,

SNLSP2FPHMSPUNLS;ES

The argument should be the
address of the register into which the A=string is to pe put.

(Note that this routine does not clear the A=string before

apprending characters to it.).%

fmmmmmmmnem————

PROGEDURE (astrng, wordflag, delimproc);

LOCAL cnar;

(5]

appends then
Alphabetic
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REF &astrng, delimproc;
af();
disarm();
LOQP
BEGIN
dn{&astrng);
CASE char « liooke() OF
=CD:
BEGIN
input();
GOTO STATE;
END;
=CA, =C.t
BEGIN
IF astrng.L = empty THEN
BEGIN
input();
stroug(&bl);
delimproc(&bl, 8pl, $p2);

CNLS>PRMSPC.NLS;23

IF wordflag THEN *astrng# ¢ pl p2

ELSE #astrng®* ¢ +pl p2;
dn(&astrng);
END;
RETURN (0) ;
END;
=BC:
IF astrng.L = empty THEN
BEGIN
input();
RETURN (1) ;
END
"ELSE <INPFBK, bkc)>(&astrng);
=BW:
IF astrng.L = empty THEN
BEGIN
input();
RETURN(1);
END
ELSE <INPFBK, bkw>(&astrng);
ENDCASE
BEGIN

IF NOT wordflag AND char IN ['a,'Z] THEN

char « char = J0B;
#aStLrneg+ « #astrng+, char;

END;
input();
END;

END.

(inch) PROCEDURE(char)
LOCAL nchar;
af();
disarm();
CASE nchar ¢ lookec() OF
=char:
BEGIN

7
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input();
RETURN
END;

=CD:
BEGIN
input();
GOTO STATE;
END;

=BC;
BEGIN
inputi);
BUMP [m];
RETURN ;
END;

ENDCASE
BEGIN
BUMP [m],(m];
RETURN;
END;

END.

(danswer) %this procedure accepts
kKeypoard, and returns with a 0 1if
it was positive%
90 0 o ) e i i
PROCFDURE;
CASE inpcuc() OF
= 'Y, = CA:
BEGIN
DSP(?0FF Yes);
RETURN (TRUE) ;
END;
= 'N, = SP:
BEGIN
DSP (70FF No);
RETUEN (FALSE)
END3
= OCD: GOTO STATE;
ENDCASE
BEGIN
am() ;
REPEAT;
END3
END.

(invspe)

%This routine reads characters from tne work staticn and a

backspace character, the routine returns false; if he enters a

command accept, it
sets the viewspecs
fmmmmcmmcnsane- %
PROCEDURE (srcdpa) ;
LOCAL tegtdpa;
savvspc(srcdpa);
1t1();

af();

returns true;
large upon entry,

SNLSOPRMSPU.NLS;23 8

a yes or no answer from the

the answer Was negative, and a 1 if
command delete goes to state, It

and shmall, upon exit.%
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cdset (FALSE);
CASE input() OF
=CD:
BEGIN
savvspc(srecdpa);
lts();
an();
GOTO STATE;

tgtdpa ¢ dsparea(lcdal());
lts();
an();
RETURN (tgtdpa);
END;

=BC:
BEGIN
an();
arm();
savvspe (srcdpa) ;
1ts();
RETURN(FALSE) ;
END;

ENDCASE
BEGIN
sysvspec ¢ setlt(curchr, sysvspec, sysvspec(l] :
aysvspec/[l));
dspvsep(sysvspec, sysvspec(l], 3);
REPEAT;
END}

END.

(inlevadj) PROCEDURE (astrng);
%this procedure gets characters for LEVADJ. It collects
characters ontil it encounters something other than a U or p (or
packspace)., It puts these characters into the string passed it
and displays them in the name register, NOte that the string will
be empty upon RETURN if the user does no level adjust.%
B i o e e %
LOCAL char;
REF astrng;
¥astrng#® ¢ NULL;
LOOP
BEGIN
dn(&astrng);
CASE (char « lookc()) OF
=5P;:
BEGIN
input () ;
EXIT LOOP;
END;
='u, ='d, IN ['0,'9):
#*astrng#* ¢ ¥astrng#, char;
=BC:
IF astrng.l > empty THEN BUMP DOWN astrneg.l
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ELSE
BEGIN
input();
BUMP (m];
EXIT LOOP;
END;
=BW, =gascbst: #astrng# « NULL;
=CD:
BEGIN
input();
GOTO STATE;
END;
ENDCASE EXIT LOOF;
input();
END;
RETURN;
END,

%input BUG's CA%

(inlca) PROC(bgl);
LOCAL cdot;
REF bgl;
INPUT BUG bgl (CA cdot « 0; / C. cdot « 1)
RETURN (cdot) END.

(in2ca) PROC(bgl, bg2);
LOCAL cdot;
REF bgl, Dbg2;
INPUT BUG bgl BUG bg2 (CA cdot « 03 / C. cdot « 1);
RETURN (cdot) END.

(in3ca) PROC(bgl, bg2, bg3);
LOCAL cdot;
REF bgl, bg2, DbE3;
INPUT BUG bgl BUG bg2 BUG bg3 (CA edot « 0; / C. cdot « 1);
RETURN (cdot) END.

(inkca) PROC(bgl, bg2, bg3, bEL);
LOCAL cdot:
REF bgl, bE2, bg3, bgl;
INPUT BUG bgl BUG bg2 BUG bg3 BUG bgh
(CA cdot « 0; / C. cdot ¢ 1);
RETURN (ecdot) END.

%input BUG's TEXT CA%

(inOtca) PROC(astrneg);
LOCAL cdot;
REF astrne;
INPUT TEXT astrng (CA cdot ¢ 0; / C. cdot € 1);
RETURN (ecdot) END.

(inltca) PROC(bgl, astrng);
LOCAL cdot;
REF bgl, astrng;

ERV
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INPUT BUG bgl TEXT astrng (CA cdot « 03 / G, cdot « 1);
RETURN (edot) END.

(in2tca) PROC(bgl, bg2, astrng);
LOCAL cdot;
REF bgl, bg2, astrneg;
INPUT BUG bgl BUG bg2 TEXT astrng (CA cdot ¢« Q3 / C, cdot « 1);
RETURN (cdot) END.

(in3tca) PROC(bgl, bg2, bg3, astrng);
LOCAL cdot;
REF bgl, bg2, bg3, astrng;
INPUT BUG bgl BUG bge BUG bg3 TEXT astrng
(CA cdot « 03 / C. cdot & 1)
RETURN (cdot) END.

%input STID's CA%

(inlsca) PROC(bgl);
LOCAL cdot;
REF bgl;
INPUT STID bgl (CA cdot ¢« 03 / C, cdot ¢« 1);
RETURN (edot) END.

(in2sca) PROC(bgl, bg2);
LOCAL cdot;
REF bgl, bg2;
INPUT STID bgl STID bg2 (CA cdot « 0; / C. cdot « 1);
RETURN (cdot) END.

(in3sca) PROC(bgl, bg2, bg3);
LOCAL cdot;
REF bgl, bg2, DbE3;
INPUT STID bgl STID bg2 STID be3
(CA cdot « 0; 7/ C, cdot « 1);
RETURN (cdot) END.

(inksca) PROC(bgl, bg2, bg3, bgh);
LOCA] cdot;
REF bgl, bE2, bg3, bgl;
INPUT STID bgl STID bg?2 STID bg3 STID bgk
(CA cdot ¢« 03 / C, cdot « 1)
RETURN (cdot) END.

#input STID's TEXT CA%

(in0Ostca) PROC(astrng);
LOCAL cdot;
REF astrneg;
INPUT TEXT astrng (CA cdot « 0; / C. cdot ¢ 1);
RETURN (ecdot) END.

(inlstca) PROC(bgl, astrng);
LOCAL cdot;
REF bgl, astrng;
INPUT STID bgl TEXT astrng (CA cdot « QO; / C, cdot ¢ 1);
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RETURN (cdot) END.

(in2stca) PROC(bgl, bg2, astrneg):;
LOCAL cdot;
REF bgl, Dbg2, astrng;
INPUT STID bgl STID bg2 TEXT astrneg
(CA cdot « O0; / C. cdot « 1)
RETURN (cdot) END.

(in3stca) PROC(bgl, bg2, bg3, astrng);
LOCAL cdot;
REF bgl, bg2, bg3, astrneg;
INPUT STID bgl STID bg2 STID bg3 TEXT astrng
(CA cdot ¢« 03 /7 C. cdot « 1)
RETURN (cdot) END.

%input STID's LEVADJ%

(inlsadj) PROC(bgl, astrng);
LOCAL cdot;
REF bgl, astrng;
#agtrng* ¢ NULL;
INPUT STID bgl LEVADJ astrng
(CA cdot ¢« 03 / G, cdot « 1)3;
RETURN (cdot) END.

(in2sadj) PROC(bgl, bg2, astrng);
LOCAL cdot;
REF bgl, bg2, astrng;
#astrng* ¢ NULL;
INPUT STID bgl STID bg2 LEVADJ astrng
(CA cdot « 03 / C, cdot « 1)
RETURN (cdot) END.

(in3sadj) PROC(bgl, bg2, bg3, astrng);
LOCAL cdot;
REF bgl, bg2, bg3, astrng;
#astrng* ¢ NULL;
INPUT STID bgl STID bgz STID bg3 LEVADJ astrneg
(CA cdot « 0; / C. cdot « 1);
RETURN (cdot) END.

%vViewspec acceptor®

(savvspe) PROCEDURE (dpa);
%Given the address of a display area, this routine will save the
viewspecs associated with the area in sysvspec and sysvspec/l]
(for massaging vy setlt).%
il tbe hakediod de fud kmda
REF dpa;
sysvspec ¢ dpa.davspec;
sysvspec(l) « dpa.davspc?;
RETURN;
END.

(putvspc) PROCEDURE (dpa);

L2
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%Given the address of a display area, this routine will put the
viewspecs saved in sysvspec and sysvspec(lJ/ in the display area.%
fmmmm— e o o %

REF dpa;

dpa.davspec ¢ sysvspec;

dpa.davspc? « sysvspec(l/;

RETURN; '

END.

(setlt)
%This routine adjusts the viewspecs in accord with characters entered
during view specification.%

PROGEDURE (setchr, vsl, vs2);
LOCAL settmp, vspec(2];
vsnec « Vsl}
vspec[l] « vs2;
CASE setchr oF
=CD:
BEGIN
IF vspec.,vsrlev THEN GOTO rstlev;
RETUKN (vspec, vspec(l]);
END;
='a: % lel=l %
IF vspec.,vsrlev THEN
BEGIN
IF vspec.vslev = O THEN
BEGIN
BUMP vspec.vsleVv;
vspec.vslevd ¢« TRUE;
END
ELSE BUMP DOWN vspec.vslev;
END
ELSE IF vspec.vslev » O THEN BUMP DOWN Vspec.vslev:
='b: % lel+l %
IF vspec.vsley <= 63 OR vspec,vsleyd THEN
BEGIN
IF vspec.vslevd THEN
BEGIN
BUMP DOWN vspec.vslev;
IF vspec.vslev = 0 THEN vspec.vslevd « FALSE;
END
ELSE BUMP vspec.vslev;
END}
=lg: % leall %
BEGIN
vspec.valev « 63;
vspec.vsrlev « FALSE;
END;
=ld: % lel %
BEGIN
vspec.vslev « 1;
vspec,vsrlev « FALSE;
END;
=le: % lsrel %
IF NOT vspec.vsrlev THEN
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BEGIN
vspec.VsSI'lev « vspec.vslev)
vspec.vslev ¢ FALSE;
vspec.vslevd « FALSE;
END
ELSE
BEGIN
(rstlev):
vEpec.vVslev « vspec.vsrlev;
vspec.vs8rlev « FALSE;
vspec.vslevd « FALSE;
END;
='g: % branch only on %
BEGIN
vSpec.VEbrof « TRUE;
vspec.vsplxf « FALSE;
END;
s'h: % branch only / plex only off %
BEGIN
vspec.vsbrof « FALSE;
vspec.vsplxf « FALSK;
END;
='i: % content analyzer success %
BEGIN
vspec.vscaptf « TRUE;
vspec,vscakf « FALSE;
END;
=!'j: % content analyzer off %
BEGIN
vspec.vScapf ¢ FALSE;
vspec,vscakf « FALSE;
END;
s'K: % content analyzer Kk flag %
% only use content analyzer for first statement in segquence %
BEGIN
vspec.vscakf ¢ TRUE;
vspec.,vscapf « FALSE;
END;
='l: % plex only on %
BEGIN
vspec.vsplxf « TRUE;
vspec,vsbrof « FALSE;
END;
='m: vspec.vsstnf ¢ TRUE; % location numbers on %
='n: vyspec.vsstnf « FALSE; % location nunbers off %
='o: vspec.vsfrzf « TRUE; % frozen on %
='ps vspec,vsfrzf ¢ FALSE; % frozen off %
z2'q: % tet=1l %
IF vspec.vstrnc > O THEN BUMP DOWN vspeC.,vstrne;
=lrt % tet+l %
IF vspec.vstrne < 63 THEN BUMP vspec.Vvstirnc:
='s! % tedll %

vepec,vstrne ¢ 63;

sty

b Lel %

vspec,vstrnc ¢ 1;
% display area formatvter on %

=lug

AU
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vespec,vsdaft « TRUE;
s'v: % display area formatter off %
vspec,vsdaft « FALSE;
s'w: % lst=all %
BEGIN
Vspec.vslrne ¢« 63;
vspec.vslev ¢ 63;
vspec.,vsrlev « FALSE;
END;
='x: % l=t=l %
BEGIN
VEPEC,.VBLIrne « vspec.vslev ¢ 13
vspec.vsrlev « FALSE;
END;

'yt vspec.Vspblkf ¢« TRUE; % blank line on %

s'z: wvspec.,vsblKkf ¢ FALSE; % blank line Off %

='A: vspec,vsindf ¢ TRUE; % indenting on %

='By vspec,vsindf « FALSE; % indenting off %

='0: vspec.vsnamf ¢« TRUE; % names on %

='D: vepec,.,vsnamf « FALSE; % names off %

='G: vspec.vsstnr ¢ TRUE; % statement numbers on right %
='H: vspec.vsstnr « FALSE; % statement numbers on left %
='K: vspec.,vsidtf « TRUE; % initials, date, on %

='L: vspec,vsidtf « FALSE; % initials, date, off %

='M: vspec,vsmkrf « TRUE; % markers on %

=!N: vspec,vsmkrf « FALSE; % markers oif %

='0: vspec.vsusaf ¢« TRUE; % user sequence generator on %
='P: vspec.vsusqf « FALSE; % usger sequence generator off %

ENDCASE NULL:
RETURN (vspee, vspec(l/);
END,

(sofycd)
%This routine is generally used by the bug accepting routines, It is
called when they encounter a backspace character while waiting for a
bug mark. fThis routine goes to state if there are no lower entries
on the stack; otherwise, it pops the return stack, uses DELBM to
erase the most recent hug mark, and returns.?%
[ bbb L LA LEL LA L) ]
PROCEDURE;
delbm() ;
RETURN
END.

(specreg)
%8pec a register, This procedure converts a String or a statement
identifier to a t=pointer., The conversion algorithm depends on the
first character in the register, and on the parameter passed as the
second argument, If a string is being matcheqa, the routine expects
as a third argument the stid at which the search should begin,
If the first character is a number, and a nName is being speced,
the register is assumea to contain a statement number, and FECHUX
is used to convert the A=string to a STID. Otherwise the register
is assumed to contain either a word or a string to be matched.
If TYPE (the second argument) is
1, the register is assumed to contain a nahe;
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2, the register is assumed to contain a wordj;

3 or 6, the register is assumed to contain a string;

L, the register is assumed to contain a statement identifier;
In all of these cases LOOKUP is called to find the STID.%

%-—-n--ﬂu—m—q-u-%
PROCEDURE(astrng, type, ptr);
REF astrng, ptr;
IF astrng.L = enmpty THEN
BEGIN
ptr.stpsid ¢« origin;
ptrll] « 1;
END
ELSE IF #astrng#[frstchr) IN ['0, '9] AND type = name THEN
BEGIN %number%
ptr ¢ <NLS, SEQGEN, fechux)(&astrng, ptr.stfile);
pLril] « 1;
END
ELSE <NLS, JUMP, lookup>(&ptr, &astrneg, type):
RETURN;
END,

(strbug) PROCEDURE (ptr); _
%this routine will svae the current bug mark in the pointer passed
it.%
prmmsmmncaneand
REF ptr;

IF pbugreg = endfil THEN
ptr « pbug(bugreg/{l] : ptr(l)])
ELSE
BEGIN
ptr « bugreg;
ptr[l] ¢ bugreg(l);
END;
RETURN;
END,

FINISH of PRMSPC LlO

L0
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{NLS>RECFIL.NLS;103, 28=-DEC=71 Ll2:2L JDH ;
FILE recfil % L1O to <{REL=-NLS>RECFIL %
DECLARE rectfg = 1, pe = 1, detflg = 0O;
REF tda;
SET gjinf = 13B, deldf = 67B, gpjfn = 206B, spjfn = 207B;
(checkfile) PROC (astr, z2);
%open the -file named in astr, an do anything hecessary to assure that
it 18 left as an unlocked and legal NLS file%
%Return false if there was no trace of file, otherwise true%b
oo o= o v o o o om0 e %
L.0CAL fileno, retry, dirno, type, stid, jfn;
LOCAL TEXT POINTER zl, z3;
LOCAL STRING lookst[50];
REF astr, 22;
dismes(l, &astr);
retry « =1;
(chloop):
BUMP retry;
stid « O3
stid,stpsid ¢ origin;
IF NOT stid.stfile ¢ fileno ¢ rawopen(&astr, TRUE) THEN RETURN({(O);
ON SIGNAL
s=5, ==6: %Bad File or I1I/0 data error%
IF (retry = 0) AND (flntadr(fileno)/.flpart THEN
BEGIN %Unlock it, and see if the original is any good%
unlkfile(fileno);
dismes(l, &"File Unlocked");
%do you want to leave the message up??%
GOTO chloop;
END
ELSE
IF sysgnl = =5 THEN
BEGIN
IF NOT [flntadr(fileno))].flexis THEN
IF NOT fileno ¢ rawopen(&astr, TRUE) THEN RETUEN(OQ):
cer(fileno);
updtfl(fileno, 1);
setaccess(fileno, jrnlaccess);
close(fileno);
dismes (2, $"File Reseti");
RETURN(Q) ;
END
ELSE
BEGIN %try to go back & version on an I/0 data error%
%Type out a message%
dismes(l, $"File Deleted (1/0 Data Error)=-=-backed up
o previous version"):
%Delete the file%
IF NOT writeout(fileno, #1lit)
OR NOT sysclose((jfn ¢ [flntadr(fileno)/.florig := 0)
«V 4B1l1l) THEN RETURN(O);
delfil(fileno);
Yl € Jfns
IF NOT SKIP 1JSYS delf THEN RETURN(O);
%Now call checkfile again to check the previous version%
RETURN (checkfile(&astr, &z2));
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ELSE;

END;

cef(fileno, 1l); %verify file%
updtfl(£fileno, 1);

WHILE NQT
BEGIN
type ¢

(FIND z2 $NP ENDCHR) DO %check for content or names

0;

IF FIND z2 "Name: " BNP Tzl L SLD tz2 tz3 THEN
type « nane

ELSE

IF FIND z2 "Content: " NP Tzl [';] 122 123 «z3 THEN

type ¢ contnt

ELSE

FIND z2 @&NP [NP/ENDCHR] tz2;

IF type THEN

BEG
#lo
FIN
loo
IF

END
END;
setaccess
mysteriou
close (£fil
RETURNI(TR
END.

(xrecovf) PR
%recover
LOCAL £i1l
LOCAL TEX
faterr «
ON SIGNAL

==5: %
IF

ELS

ELSE
BEG
eril
typ

IN

okst# « zl 2Z3;

D SF(stid) *zl;

kup(#zl, slookst, type);

2zl = endfil THEN

BEGIN

dismes(l, $"Logical File Error");
RETURN (0) 3

END:

-
s

(fileno, Jrnlaccess); %Reset access in case it has changed
sly%

eno) ;

UE) 3

0G3;
NLS files at start up time%
eno, stid, faterr;

T POINTER zl, z2;
0;
We Got here on a hadfile, and who Knows how%

fileno = bfilno THEN
BEGIN

close(fileno := 0);
typeas($"File List Bad File");
rl e LB5; 1JSYS haltf;
END

E

BEGIN

lockjo(l);
typeas(8"Bad File==");
typeas(slit);

rl e LB5; |JSYS haltf;
END:

IN
1)}
eas(sysmsg) 3



AAA, S=JAN=Z LlO:slz SNLS2REUE LL.NLE3 103

cerlf():
typeas(g"Fatal Error'");
rl ¢ 4B5;
|JSYS haltf;
END;
lockjo(0); %Lock Journal%
%Detatch and Set up logging TTY O as primary output file%
IF autostrt THEN
BEGIN
erlf();
typeas(s"Detaching Slinker"):
1JSYS dtach;
rl ¢ 4B5;
lJSYS gPJjfn;
r2.rh « LB5; %tty 0%

rl ¢ UIB5;
1JSYS spifn;
END;

rl ¢ getspn(3"RECOVF");
lJSYS setnm;
conjdir (TRUE); %Connect t¢ Jounal Directory%
enablaccess (0, jrnlaccess);
IF enablw() = =1 THEN
BEGIN
crlf();
typeas($"Yyou need WHEEL capability to run recover files");
rl « UB5;
1J5YS haltf;
END;
IF (fileno ¢ rawopen(jflname(&"recoverlist"), FALSE)) = O THEN
BEGIN
typeas(§"File List open fail");
rl ¢ LB5;
1JSYS haltf;
END;
stid « 0;
stid.stfile « fileno;
stid.stpsid « origin;
stid « getsub(stid);
LOOP
BEGIN
IF stid.stpsid = origin THEN EXIT;
CCPOS SF(stid);
FIND &NP t21 (/[NPJ] < CH > / SE(stid)) tz2;
#1it* ¢ zl 223
IF NOT checkfile(jflname($lit), #22) THEN BUMP faterr;
stid ¢ getsuc(stid);
END;
close(fileno:=0);
%Unlock Journal and proceed if no fatal errors%
IF faterr THEN
BEGIN
typeas($"Fatal File Errors==Journal Left Locked");
lockjo(l); %Jjust to be sure%
1JSYS haltf;
END;
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unlkjo(=1); %allow Journal usage%
END,

(recoyf) PROCEDURE (1ibf);
% bits of lipf as follows%
% 1lB: run recover files %
% 2B: run on=line distribution %
% bB: run slinker %
% lO0B: dettach, go to sleep, on hour run on=line dist. and slinker
%
IF (libf .A 1B) THEN Xrecovi();
IF NOT (1libf A 16B) THEN RETURN;
IF autostrt
THEN BEGIN
%Set controlling tty up as primary output again%
rl ¢« LB5;
IJSYS gpifn;
ra.rh « =1;
rl « UB5;
1JSYS spjfn;
END
ELSE IF (lipbf .A 10B) THEN BEGIN
erlf();
typeas (8"Detaching") ;
1JSYS dtach;
END;
slinker(libf);
rl « uB5;
1JSYS haltf;
END.

(slinker) PROC (libf);
%81link around and update journal files, do online distribution, and
garpage collect distribution file%
%—-----nu ————— -————--%
LOCAL stidl, stid, curtime, verfuf;
LOCAL TEXT POINTER zl, z2;
stid ¢ stidl ¢« 0;
ON SIGNAL
==h: %We Got here on a padfile, and who Kknows how%
IF stid.stfile = pfilno THEN
BEGIN
close(stid.stfile := 0)3;
snkerr(#"File List Bad File");
END
ELSE
IF stidl.stfile = Dpfilno THEN
(lLockfiles): BEGIN
lockjo(l);
#lit# ¢ "Bad File==Probably ", s*jnamstr#, HEOL, #1lit#;
snkerr(&lit);
END;
s=6: %I/0 data error%
BEGIN
#1it# « *[sysmsgl)*;
GOTO lockfiles:;
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END;
ELSE
snkerr(sysmsg);
LOOP
BEGIN
IF (1ipf A 2B) THEN oldist(); %Distribute on=line documents%
IF NOT (1libf .A 14B) THEN RETURN;
IF NOT (libf .A WLB) THEN GOTO sinkslp;
rl « getsbn(8"SLINKR");
1JSYS setnm;
enablaccess (0, Jjrnlaccess);

IF (stid « openlock( 0, jflname(8"Jfiles"))) = O THEN
snkerr(5"File List open fail");
verfufe2;
LOOP
BEGIN
IF stide.stpsid = origin THEN BEGIN
IF verfuf

THEN BEGIN
stidegetsub(stid);
BUMP DOWN verfuf;
END ELSE EXIT;
END:

CCPOS SF(stid);

FIND NP 1zl ([NP] / SE(stid)) tz2;

*¥lit* & 2zl z2;

stidl ¢ openlock(0O,Jjflname($1it));

crng (TRUE, stidl.stfile);

csdb (TRUE, stidl.stfile);

ckstreo(stidl.stiile);

IF verfuf THEN BEGIN
updtfl(stidl.stfile, 1);
setaccess(stidl.stfile, Jjrnlaccess); %reset access?
END;

close(stidl.stfile);

stid « getsuc(stid);

END;

close(stid.stfile);
%Now expunge if flag set?

IF flagut(5, $tstfg) THEN
BEGIN
1JSYS gjinf;
rl « r2; %connected directory numberk
1JSYS deldf; %expunge files%

END;
unlkjo(l); %alright to use it now%
(sinkslp):
IF NOT (libf .A 1OB) THEN RETURN;
libfel7B;

rl « getsbn($"SNKSLP");

1J8YS setnm; %set up name for sleepinng%

r2 e =1;

r4 « 0;

|JSYS odenv;

IF rh = =1 THEN rl « 1800000 %system does not have time%
ELSE
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BEGIN
CASE (curtime ¢ rh.rh) OF
> 21 # 3600: rl « 24 % 3600 = curtime + 5 % 3600;
< 5 % 3600: rl « 5 % 3600 = curtime;
ENDCASE
IF (rl « 3600 = curtime MOD 3600) < 300 %5 minutes% THEN
rl « rl + 3600;
%Do not run it this time if less than 5 minutes
until time%
rl « rl % 1000; %Convert to ms%
END;
|JSYS disnms;
END;
END,

(snkerr) PROC (astr);
%Accepts an error string in astr, blaps it to ttyo0, tty30, and
primary output, an halts%
REF astr;
%First set up subsystem name to snkerrg
rl « getsbn($"SNKERR");
|JSYS setnm;
%Now blap error to tty O and 30%
specttyout (0, &astr);
specttyout (308, &astr);
%now type it to primary output?
gt s
typeas(&astr);
#Now die%
1JSYS haltf;
END,

(nlsutilty) PROC (modefleg);
%#Do utilty type of thiings for NLS%
%-—-d--h-——---——%
%Mode flg = I for run detatched, 5 for run attatched with separate
primary output file, and 6 for run attatched With tty pimary output%
LOCAL stidl, stid, stiddone, action, rtime, docany, fl, pmyJjfn;
LOCAL TEXT POINTER gzl, z2, 23, Zi;
LOCAL STRING hourst/5/, minstr/[5/, f£ilnms(50];
REF £1;
stid ¢« stidl ¢ 03
ON SIGNAL
==hi %We Got here on a badfile, and who Knows how%
IF stid,stfile = pfilno THEN
BEGIN
close(stid.stfile 1:= 0);
typeas(g"Task List File Bad");
rl ¢« WB5; 1JSYS haltf;
END
ELSE
err(%"Bad File");
ELSE
BEGIN
typeas(sysmsg);
typeas($"Fatal Error");
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rl « LB5; lJSYS haltf;
END;
%connect to NLS directory%
rl « 1;
r2 ¢ chbptr(0) + $"NLS";
1JSYS stdir;
GOTO conerr;
GOTO conerr;
rl.1h ¢« O;
r2 ¢ chbptr(o) + $"NLS";
IF NOT SKIP [JSYS cndir THEN
BEGIN
{conerr):
erlf();
typeas (¥"Directory Conect Fail");
1J8YS haltf;
END;
%Set up Primmary Output File%
IF modeflg # & THEN
pmyjfn ¢ setupop(0, modeflg);
LOOP
BEGIN
rl ¢ getsbn($"UTILTY");
1JSYS setnm;
stid ¢ opntasks();
CCPOS SF(stid);
FIND tzl;
#auxlits* « "TODO";
lookup(¥zl, $auxlit, nanme);
IF 2zl = endfil THEN
BEGIN
typeas(8"No To Do Branch in Tasks File");
rl « LBS;
1JSYS haltf;
END;
stidl ¢ getsub(stid « zl);
#auxlit# « "DONE";:
lookup(dzl, $auxlit, name);
IF z1 = endfil THEN
stiddone « cis(stid, 3" (DONE) Tasks Which Are Done", sucdir)
ELSE stiddone « zl;
STATE ¢ utstate, spec;
ON SIGNAL ELSE
BEGIN
IF stid.stfile = O THEN zl.stfile ¢ z2.8tfile ¢ stidl.stfile «
stid.stfile ¢« (opntasks()).stfile;% re-Open tasks file and
update file numbers%
#datesrs ¢ NULL;
<NLS, AUXCQD, getdat> (wsdatesr);
ST stidl « 2zl z2, SF, #datesr#, EQL, #[SysmsSg]#;
cms (stiddone, stidl := getsuc(stidl), down);
%Type out message if not detatched%
IF modeflg # ) THEN
BEGIN
#X1it# & EOL, "###u%", #[sysmsg/#, O0;
rl « l8M;
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r2 ¢ chbptr(0) + $xlit;

r3 ¢« 0;
1J8YS sout;
END;
GOTO STATE;
END;
LOOP
BEGIN

IF stidl = stid THEN EXIT;
%Now parse command statement%
CCPOS SF(stidl);
%ZFirst see if it is being done by a Parallel process%
IF FIND ["In Progress"] THEN GOTO notnow;
%First, find wnat we are supposed to do%
action « IF FIND ["Compile"] THEN 1
ELSE IF FIND ["Print"] THEN 2
ELSE 0O;
IF action O THEN err(&"Illegal Command");
%Now get file name, and time%
IF NOT FIND NP 1zl 13PT tz2 THEN
err(%"Illegal Command Statement");
#filnms# « zl Z2:
IF FIND &SNP tzl 1%2 D 122 ': %23 1%2 D 1zl THEN
BEGIN %Time to do it%
#hourst* « zl %2; %Hours since midnight%
#minstr* ¢ z3 Zlh; %Minutes%
rtvime ¢ VALUE (3hourst)#3600 + VALUE(8minsgtr) * 60;
END
ELSE rtime « 03
%Do it now if nothing specified%®
%8et zl and zZ2 to command%
FIND SF(stidl) *zl SE(stidl) *tz2;
%#Now exXecute it if time?
rz ¢ =1l:
ri « 0;
lJsYs odenv;
IF rh.rh >= rtime THEN
BEGIN
CASE action OF
=1t %compile%
BEGIN
r2 ¢« =1;
rh ¢ 03
|JSYS odcnv;
IF (rlhe.rh NOT IN [12%#3600, 13%3600)) AND
(rherh < 20%3600) AND
(rherh MOD 3600) » 600 THEN
%GOTO notnow; % NULL;
%3ince it is not 1200 to 1300, after 20:00,
or within 10 min past hour do not do
compilations now%
IF modeflg # L THEN
BEGIN %Type out message to controlling tty%
#X1lit* ¢ 1BB, 12B, "Compiling ", #filnms¥%, 0;
rl « 18M; %controlling tiy%
r2 « chbptr(0) + 3x1lit;
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r3 « 0;
1JSYS sout;
END;

%Now mark and release tasks file so another
parallel process can use it%
8T stidl « 2zl %2, EOL, "In Progress";
close(stid.stfile := 0);
runcmp ($£1i1nms) ;
END;
=2¢ outptr($£filnms);
%process print requests independent of current
time%
ENDCASE err(8"Illegal Command");
%Now fix up command statement and move it to done 1list%
IF NOT stid.stfile THEN 2zl.stfile ¢ z2.s5tfile ¢
stidl.stfile ¢ stid.stfile « (Opntasks()).stfile;
%re=open tasks file and update file numperss
#datesr® « NULL;
getdat ($§datesr);
%date/time of complettion%
ST stidl « zl z2, EOL, "Completed at ", *datesr#;
cms(stiddone, stidl:= getsuc(stidl), down);
END
ELSE
(notnow): stidl ¢ getsuc(stidl);
END;
closeu(stid.stfile := 0);
%Now close any files which got left open by error%
%We Don't want to lose primary output stuff, so restore to tty,
and re~open immediately after close all files%
IF modeflg # 6 THEN
BEGIN
rl « LBS;
1JSYS gpjfn;
r2.rh « r2.1lh;

rl « LBS;
|J8YS spifn;
END;

%Now expunge 1f flag set?
IF flagut(5, $tstfg) THEN
BEGIN
I1JSYS gjinf;
rl ¢« r2; %connected directory numbers
1JSYS deldf; %exXpunge files%
END;
%Now kill self if not running detatchedb
IF %modeflg # L% TRUE THEN %Always die for now%
BEGIN
erlf();
typeas(8"Done');
IJ8YS haltf;
END;
rl ¢« =1;
IF SKIP |JSYS closf THEN
BEGIN
IF modeflg # 6 THEN
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pmyjfn ¢ setupop{0, modeflg); %sel utilty Primary output?
%re=open initial file%
%original%
&fl ¢ flntadr(tda.dacsp.stfile);
*¥Llit* € #/fl.flastr/+:
IF (fl.florig ¢ sgtifn(getgtjflg(read, origff,
dfltvrs), #lit, #1lit2)) = O
OR NOT sysopen(fl.florig, read, random, #lit) THEN
BEGIN
typeas(é"Could not re=open Original");
rl « LB5;
IJSYS haltf;
BND;
%Partial Copy%
IF fl.flpart THEN
BEGIN
#lit* ¢ #[fl.flpest)*;
IF (f£fl.flpart ¢ sgtjfn(getgtjfleg(write, origff,
dfltvrs), alit, $lit2)) = O
OR NOT sysopen(fl.flpart, readwrite, random, 81lit)
THEN
BEGIN
typeas(3"Could not re~open original");
rl « }4B5;
1J8YS haltf;
END;
END;
END
ELSE setupopipmyjfn);
rl « getsbn($"UTISLP"):
1JSYS setnm;
1JSYS gtad;
CASE rl.rh OF
IN [8%3600, 12%#3600): rl ¢ 12%3600=rl.rn; %until 1200%
IN [12%3600, 13%#3600): rl ¢ 603 % 1 minute?%
IN [13#3600, 20#3600): 1rl e 20%#3600=rl.rh; %until 2000%
IN [20#3600, 8%3600): rl ¢ 600; % 10 minutes%
ENDCASE err(3"Irby error");
rl ¢ rl*l000; %convert to milliseconds%
1J8YS disms;
END;
END,

(opntasks)PROC;
%0pen the tasks file for nlsutilty%
%Return stid of origin, halt on error%
LOCAL stid;
IF (stid ¢ openlock(O, $"<NLS>TASKS.NLS")) = O THEN
BEGIN
typeas($"Task List open fail");
rl ¢ LB5;
1JSYS haltf;
END;
RETURN (stid) ;
END,
(setupop) PROC (Jjfn,modeflg);
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%This procedure opens a file called UTILTY=OUTPUT" IF jfn = 0, an
sets it up as the primary outpu file.%
%It returns the JFNN of the new Primmary outout file%
LOCAL STRING £ilnms([50];
%0pen a sequential file for primary output%
IF jfn = O THEN
BEGIN
#filnme* ¢ "U=QUTPUT.TXT", EOL;
IF NOT (Jfn ¢ sgtjifn(getetjflegs(write, O, dfltvrs), sfilnms,
31iv))
OR NOT sysopen(jfn, write, chriyp, &lit)
OR NOT sysclose(jfn .V 4B1l1l)
OR NOT sysopen(jfn, write, chrtyp, ®lit) THEN err($1lit);
%Type out file version number%
jfnstr(jin, 381it);
#lit* ¢ "Primary Ooutput File is ", #lit#*;
erlfl);
typeas(8lit);
rli ¢« Jfn;
r2 ¢« 3;
IF NOT SKIP lJSYS delnf THEN NULL;
END;
%Type out detatching message%®
IF modefle = L THEN
BEGIN
erle()s
typeas(&"Detatching Utilty"):;
1JS¥S dtach;

END;
%Now make it the primary output file?®
rl « LB5;

|JSYS gpJjfn; %eget primary JFN's%

re.rh « jfng

rl « 4Bs5;

1JSYS spifn; %set Primary JFN's%
RETURN(J£fn) ;
END.

(runcmp) PROC (fnmstr);

LOCAL stid, errcount;
LOCAL TEXT POINTER zl, 72, %3, 7Zk;
LOCAL STRING cmpnam/50J, rfilnm/[50], lookst/[5/; %For rel=file nane%
%This procedur accepts the name of a source code file, and compiles
it with the compiler indicated be first satemen in e file, to te
indicated rel=file. If anything in the firs statement does not match
the accepted syntax ( ['percent] $NP COMPILER (percent) < &NP $LD >
FILE percent) THen if the first statement is te FILE statement of an
L10 Program, the file is compiled as L10 to the relfile under REL~NLS
with the same name as te FILE.
%
REF fnmstr;
stid ¢« orgstid;
ON SIGNAL

=ofilerr: err($"Rel=File open fail");

spreerr: err($"Compiler cpen fail or no such compiler");

ELSE

BEGIN %error?
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IF stid.stfile THEN close(stid.stfile = 0);
END;
#fnmstr* « #fnmstr#, ",NL8", EOL;
IF NOT (stid.stfile ¢ rawopen(&fnmstr, 0)) THEN err($"Cannot Open
Source File");; %0Open Source code file%
makeptr(stid, $zl);
*1looKkst* « "FILE";
lookup($zl, #lookst, contnt);
IF 2l = endfil THEN err($"Bad Source code File");
stid « zl;
%Get rl=file name and compiler%
CCPOS SF(stid);
IF NOT FIND ('%] 8NP 1zl $LD 7z2 ['%] < CH $NP tzL [NP] > CH 123
THEN
IF NOT FIND @8NP "FILE" &SNP tzl BLD tz2 THEN
err(8"Illegal Format Source File")
ELSE
BEGIN
#rfilnm# ¢ "{REL=-NLS>", 2zl z2, ".REL", EOL;
¥cmpnam# ¢ "L10O";
END
ELSE
BEGIN
#rfilnm#* ¢ 23 zlh, EOL;
#ompnam* ¢ 2zl z2;
END;
%call compilerd
tda.dacsp ¢ stid;
IF (errcount « coc($cmpnam, &rfilnm, &tda)l) > O THEN
BEGIN
#1lit* « STRING(errcount), " Errors";
err(81it);
END;
%Close source file%
close(stid.stfile = 0);
%Return normally%
RETURN ;
END.

(outptr) PROC (fnmstr);
LOCAL stid, pfjfn;
LOCAL TEXT POINTER 2l, %2}
LOCAL STRING pfilnm/50], filnmstring/[50); %FOr rel=file name%
% This procedure accepts address of astring contaaning a file nanme
and does an output quickprint on the file, and then copies the result
to the line printer. %
REF fnmstr;
stid ¢ orgstid;
ON SIGNAL ELSE

BEGIN

IF stid.stfile THEN close (stid.stfile 1= 0Q);
IF lptjfn THEN sysclose (lptjfn := 0);

END;

#filnmstring* ¢ ®fnmstr*, ".NLS", EOL;
IF NOT (stid.stfile « rawopen ($filnmstring, 0O)) THEN
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err (8"Cannot Open File"); %Open Source code file%
%Get output file name%
CCPOS SF(#filnmstring#);
FIND 8NP Tzl SE(zl) 122 > 21 (['>] r21l/) ['u] 122 «22;
#pfilnn+* « 7zl z2, ".TXT", EOL;
#call output Quickprint%
tda.dacsp ¢ stid;
coq (8pfilnm, é&tda);
%Close Source File%
close(stid.stfile := 0);
%Now copy to 1lpi%
pf£ifn ¢« sgtjfn (getgtjflag (write, 0, oldvrsn), $pfilnm, $1it);
IF NOT sysopen (pfjfn, readwrite, chrtyp, $1it) THEN err($lit);
1ptJfn « O3
#ptestr+ « "LPT:";
opnlpt();
copylpt (0, pfjfn, O, =1);
sysclose (lptjfn := 0);
%#now close and delete file%
sysclose (pfjfn .V LBll); %Because TENEX doesn't work like book
says%
rl « pfjfn;
IF NOT SKIP |JSYS delf THEN NULL;
%Return normally%
RETURN;
END,

FINISH
(Catalog) Catalog of NLS Procedures Called
(autojo,closeu) (recfil,SETUPOP) (ioexec,sgtjfn) (icexec,getgtjfle)
(iloeXec,sysopen) (recfil,SETUPOP) (ioexec,lgtjfn) (ioexec,gprjin)
(auxcod,processor) (ioexec,sysclose) (auxcod,opinit)
(dspgen,dismes) (iocexec,rawopen) (icexec,flntadr) (ioexec¢,unlkfile)
(corenl,crf) (icexec,updtfl) (ioexec,setaccess) (loexec,close)
(corenl,cef) (inpfpk,typeas) (autojo,lockjo) (autojo,conjdir)
(ioexec,enablaccess) (inpfbk,crlf) (filmnp,getsub) (recfil,CHECKFILE)
(autojo, jflname) (filmnp,getsuc) (autojo,unlkjo) (recfil,SLINKER)
fauxcod,getsbn) (lioexec,openlock) (verify,crng) (verify,csedb)
(verify,ckstrc) (corenl,crerr) (recfil,SETUPOP) (jump,lookup)
(corenl,cis) (corenl,cms) (recfil,RUNCMP) (recfil,QUTPTIR)
(jnldel,enablw) (jnldel,oldist) (jnldel,opnlipt) (Jjnldel,copylpt)
(fcat) Formatted Catalog Branch
(copylpt) (jnldel,copylpt)
(opnlpt) (jnldel,opnlpt)
(oldist) (Jnldel,oldist)
(enablw) (Jnldel,enablw)
(QUTPTR) (recf£il,0UTPTR)
(RUNCMP) (recfil,RUNCMP)
(ems) (corenl,cms)
(eis) (corenl,cis)
(lookup) (jump,lookup)
(SETUPOP) (recfil,SETUPOP)
(crerr) (corenl,crerr)
(ckstre) (verify,ckstrc)
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(csdb) (verify,csdb)

(crng) (verify,crng)
(openlock) (ioexec,openlock)
(getsbn) (auxXcod,getsbn)
(SLINKER) (recfil,SLINKER)
(unlkjo) (autojo,unlkjo)
(getsue) (filmnp,getsue)

(jflname) (autojo,jflname)
(CHECKFILE) (recfil,CHECKFILE)
(getsub) (filmnp,getsub)

(crif) (inpfbk,crif)
(enablaccess) (ioexec,enablaccess)
(conjdir) (autojo,conjdir)
(lockjo) (autojo,lockjo)
(typeas) (inpfbk,typeas)

(cef) (corenl,cef)

(eclose) (icexec,close)
(setaccess) (ioexec,setaccess)
(updtfl) (iocexec,updtfl)

(erf) (corenl,crf)

(unlkfile) (loexec,unlkfile)
(flntadr) (iocexec,flntadr)
(rawopen) (iocexec,rawopen)

(dismes) (dspgen,dismes)
(opinit) (auxcod,opinit)
(sysclose) (ioexec,sysclose)
(processor) (auxcod,processor)

(gprjfn) (ioexec,gprjfn)
(lgtjfn) (ioexec,lgtjfn)
(SETUPOP) (recfil,SETUPOQF)
(sysopen) (ioexec,sysopen)
(getgtjflg) (ioexec,getgtjfle)
(sgtjfn) (ioexec,sgtifn)
(SETUPOP) (recfil,SETUPOP)
(closeu) (autojo,closeu)
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